FEPLR T RN /AL S A5 E B

F-————=-

____________________________________

IR B S

AB180, AB220

| L MEEmERES. | | N
| AB042,ABO060, ABOBOA, AB09O, ABO9OA © 1 ! S1. EAEH i i BIEHS
X [ , : | ! T 3 [ 32 )=
| AB115, AB115A, AB142, AB142A, L sz mmms | | DkHERRES

______________________________________________________________________

IR EE CCE
#%:. 3,4,56,7,89 10 BEER

M 12,15, 16, 20, 25, 28, 30, 32, 35, 40, 45,
50, 60, 70, 80, 90, 100

kBIFEH: AB090-010-S1-P1 / SIEMENS 1FT6 041-4AF71

5

EEEERs IR ARAR
Shanghai ZhuoTeng Dynamics Co., Ltd
b 5 E A X Tl e (X

Tel: 021-6951 3119
Fax: 021-5917 5002
E-mail: shzhuoto@163. com

2779776003@qq. com
Web: www. zt—gearbox. com




{AARITE AR

SERVO PLANETARY REDUCER

BERDRE . BUENEIERAF

» BREE/RER » BASKRE o REEWBRESD o RRNES

o RIRE » {KRFH n RERE



RE: BREL, FERM, RENR , RSME.
BET . RE—EROEM, RHE——HE SRR
EE——KIENER S —— R RIRR
RIBEM  FRITREERR,
RERETE , FEIMERLR.
BIAEIR . HERWES  RUERKRE HATWRA , BWAHRKEF.
@AER . SEF, B, X, $HE. KE. XL, BE, 5%

m

ok

G

AviEd  F A I R B B LR RS e B S A SLFF Re) R
RUER : AFRERRRXE  REREFRAE. AFEL REF—.

s RKIREE EERE MR RS LR RERR AR BT,
RETSEH . BoR%H BERE, TR FRAR, WEES RS

eAES . EFSHEDIFRRRREENLZ B FRRALEFIERE.,

J3Et

SEMEE . AR MRS CURTENES  TATTRARES.

SLHEAZ . MRS, QIR R MRS  NE.

REZARIOKT  RE. HXINIHEED.
EANER : ARER , FO—R  =EER  THER.
EAFREE 0 RERREE , £ ETROMD ; SMERRRING , ME/\SBRER.
dlEZ . EEUAREK , RSUBNSE  ERLEERMR , Ml a k.
705 1 USEFRER  LIENERE.



Production

< SR AR B ke
BED

Each product, We are all made by heart

n
X




" \IEEE /] l)l{l%% ’

u*ﬁn L\)\%?%o




APPLICATION
INDUSTRY

Rk

Industrial robots

Machine tools
ERiaE istatilh )
Printing machines Textile machines
R
Packing machines —_—
E[2 i =E
MNon-standard automation
Medical equipment wmaE
Measuring equipment
DRIEH
Satellite Communication

&mmT
Metal processing

T
Pharmaceutical industry




EIR S

BRR2EHETNor Nm BERN AL A RS HRA . EFEAEHN, LEREBER R ASBE10000%,
BRANMEAET, 5 Nm EERIEH (S5) &4, BERNBHIRTERNEA R AZ R KT,
SHNE Nm BRNMBHIRTELAE T, TRBRVIAIERAONAE, (1)
CIFZEIPR BRI (ERY, I F R A, M8
142 R arcmin | RAMIERR, WE—FR, o 22N ERAERNS
fir, 1IMHEF1/60E, Rmsal
E(—) s
HERNSERAESHEAENILET / A Q)RR ocarcminy
shll, BEZ/VWH A, HERMETHIRHELITE R, @
Ny | R g s
R aromin | ERHEIL, £EREEN AL, AEWAENE al
B AIRIIFET 15, FHZMENF I, KREBRKNFIESH T i
BAENTHILEE—X A0, 0B IRiErL -
FR, MEFBNRISAURERAN AV EL NI, Wit 758
14> A 6094 (= 60 arcmin = 60°), . Wil A 1arcminkf, 46 Fi% 4,
I i 4 46 0 25 A 1/60°FE SRR AT, KA A0 5 S A e b=2mra®/360°, WAER R
e 12 R50 mmint , 5 6 AR ERSER A IR, 16 54— BB 19 B 2 H9b=0.04mm.
X
FZ rﬁ
BRN AL HFTEE AT 2 {RARAN MBS, RS2 Faa
RAhS5HAEND N A 2%t e _
BELIEXER, 1BRERAE,
Fy BEH
F,. WA
BENBNREIESIEE (S1) T, IBRFNEANGR, IWEEIRERE25°CINE, SRFRE1Er,
BEBAFR PN | RETEBIE0C,
= . BERNBNIREBER (S5) T, AIRIFNANE R, ILEENERE2S CINE, SERIE1ER, 58
BAMAFRN, PN | RS0,
ERRE °C EERNRRTEREE GERERE) .
e HTEXEREIEE H. NBERERWMENER, B TFAIEER.
RipEE EFREA# AR (International Protection) LUP4RISFRERAIFEESD, fl: IP65, E—PMHFRRHLER,
BN F R E R,
12EE dB(A) IS EREE BRI SRS R RMR.
= o ZAETEER25°C, NERE3000rpmBIN B NE. dNRIFREZMANFERESTF3000 rpm, MhzE
K ° HRR R .
¥ohiREd, kg-em? | BRIRENDERIEABEDRSEES K,
BIhhiE Nm AN IR IR SRR Z FF 8 oh &=/ N\ I%E, /NRT SRR SR = BB R B e I RE R e
RIRENFIEE Nm AR ImIR SRR E FF A s &/ 158, KR SRR IR SRR B E R &N R IR /15E,

(1) IR RAEIFRIRE 25 CERM B NEEIE3,000rpm 1R SNSRZOR A BIENE 4 N #8313 3,000rmp, MLLZIR A BYEE SN AT

2,




1ITEZRS

> SiXSRENEETE CONNECTION OF MOTOR & GEARHEAD

«—STEP 3 m STEP 2 —> STEP 1—

ml = =

(=& moror ) (s couar )(gsriz BusH)  (AssINPUT-SHAFT ) ( fERERHL PLANETARY GEARHEAD )
F—HERIEhIASH LR - SRR, BT HERE
Ff—HHNE RERR , BRAXEMRAMNI

Use different bushes for At the customer's request, we may special

different motor-shafts. process the connection hole where the
bracket joins the motor.

o YER, WENNE, \IHEDFEEEASE  FEESTEXNRENESRE | LA LHARAENAPEREM.
After the collar, the bush, and the input-shaft are securely assembled with the motor, please join the parts with the planetary
gearhead cautiously with a slight clockwise and /or counter-clockwise motion, until the planetary gearhead engages the

input-shaft.

* EIERRIERRET | AABH B~ mRRE—E820.000/\ | LSRRI,

Under normal usage and loading, our products come with a one-year or 20,000-hour limited warranty, whichever comes first.

® FILLIN DATAOF MOTOR ERFIEE&EH

—_ (4-90°)oF
0
£
s
7N
Motor ] NS
- =
. o
=y 1w
Motor Label: N
DS L
Motor Model: L
D
c OH
> 1% SPECIFICATIONS
Motor Flanas Motor Flanas P.C.D Bore Motor  Actual Length
Sharft 5 9 Shaft i%,r of & Flange of Backlash
Dia. . Length elg Bore a. Square Motor Shaft

IAHIME DIANEIME DiAKE DANGSE 847l F0E BYFLER DXERST DA BREK

A(n6) aB(n7) © D (o]= oF OH L PO/P1/P2

I EEEE—————————————————————————
8



RUENDATAE T K ML, FHETIZLEFMHRERTERSRERN AT M, FERESEEN,
Gearbox must be installed under following terms to prevent damages which are not covered by
warranty.

B AFmZIRITEHIE , AERRETEM W SRS RMENER T RS ESE R SR ZIAE,

ZHMEE L. Avoid Gearbox used in flammable gas or corrosion
Gearbox is designed or manufactured, to be gas environment.
used in the other of mechanical equipment
assembly. B EE  AAHBIY85% , LUBRKSERE.
Humidity: no more than 85%, in order to avoid
m FEFERBRE-10°C ~ +90°C, condensation.
Operate temperature is between -10 °C to
+90°C. mEGBIAYES , R,

Avoid direct sunlight, dust accumulation.

m 5E  AEBEEEFELIO00AR, - e

Operate altitude may not be higher than 1000m™® @%mﬁmﬂﬂﬂguﬁ%«’
above sea-level Avoid water or oil splashed.
m BRGNS, m ERTREFBXZIBT.

Avoid continuity vibration or hit. Used in good ventilated place.

REND AANNIRSH DR , ADinATFRERR
Bk, HHimBTREERFENNRE L.
As shown below, the input side is for installing Input

the servo motor and the output is mounted N
to application equipment.

AR5 H w53 Bl SRR DI LAK M A ik
& EERRIUVINORIR | BREhEEE

Output % MBRERE SRS,
71 To ensure the product performance, both the

input and output ends must be protected
carefully to avoid any damage and cause
improper operation.



o REHLEIER

AYETSEFRIRIERA

S5

YES

t . <20mins

"work

s
%Hﬂ\@g‘g ED<60%

S1

ELEE
NO WEEARE]

(Eq.1)

R RY
R i(Eq.2)

R R AT FgHAR
Tom(EQ.3)

AR RS ANNERAE
Toma(EQ.4)

NO
N \py Tomax<Tas
IR Tom<Ton

YES

RERARIHHERE N [rpm]
N ARAGSERRMERRR

NO  n,<n,
EFRR A DhIAH e

PR INRRREL, | Movar™

YES
REE S BT 200 [NM]
Tono (REBSCRRISEFIOR

NO
RN T2not <Tanor

YES

IHERRATETIAEE Nom X
IRERAERERHIRRE N,y (EQ.5)

NO

TS (Eq.2)

SHERRRATEIE
Tom (Eq.3)

NO
Tom<Tan EEFBRARIEH

YES

Mo Moy AR DIAF AR INRIELL

YES
EiZDik
R T Dvor
Dmot<C3
YES
THEREN T LT

IEFBEARIRIEA

SHHEEIIRForm RIS Fam(EQ.6)

ERERH EFRREREZ

SHYRIETIF 2rs RAMEFIF 208 FOBSYFE

F, <F

2am~ FZaB

YES
pricE SR S R

2rm

EPESER

NO
2 WEFRKRIEA BRI A

10

Rz FRmIEaRE

;T ) S
e T q---.;--------.
§EH Tz‘ 1 1 H
i »[ 1 T | —
| T, -

1 ' 1

o B
a v o
%Fzra‘ana Jm = ——— -:---:----l
E(Ezm:anc qt!i---ll---.:
= o o[y T I
ﬁFzm‘and ! . . ! \
% A o

b Pl
™ 1 ' : : 1
S 1
£ nZa‘nZd—: AR s -|.---.:
e n ! ! ! '
= 2

el ot et
Lovde
Aifie)
Cork
1.ED= T X 100%, t,, =t,+t +t,
cycle

TR | a. pmE. CoasE

d. s, p-faik (Eq.1)
n
2.ig = -
work
N SiXEIHERE
Moorc SERRRTFRIEAE (Eq.2)

3 3 3
3.T1 =3, nzaxtaXTZz ancxt<XT2c+ndethTza
m

’V My X 40, XTtn, X1, (Eq.3)
4T, =T xixfxn
f, RERH
f, JEIERREY 1)\
1.0 0~ 1,000
1.1 1,000 ~ 1,500
13 1,500 ~ 2,000
1.6 2,000 ~ 3,000
1.8 3,000 ~ 5,000
T.» DARA@HHE
N EENEESE (Eq.4)
5.n,=n,= Lo« n
2a 2d 2 2c
Ny, X1+ Ny XT 4Ny X1,
n, =
an t+t +t,
n
n N
2N i (Eq.5)
6. m 3, Ny, Xt, X Flraz Xn, Xt.X FZr(3+nZd Xty X szz
V nla Xta+n2txt(+n2d xtd

F. =
3 3 3
FZ =3] ™ X, XF,, X0, XEXF, 240, Xt XFy,
am

nZz X ta+n2( X t<+n2d X td
(Eq.6)



e
eeeeeeeeeeeeeeeeeeeeeeeeee R L
e e B
,,,,,,,,,,,, AD | ___ABR | ¥RSF |

11



BEFERRER / 17 IR R WRAT B

12



B

18 0] FE 19 S AE 1k FE 03
PR — % 12
R BRAT R AL R Y

SP/SPR 14
RS BRAT B AL Ao Y

AB/ABR 22
R MAT B cE L Rk A

VB/VBR 32
R BRAT AL R Y

AD/ADR 43
R BRAT A AL R Y

AE/AER 56
R BEAT BN W3 e < ik 1Y

AT-L Hh7y 67
AT-F %k2m 75
K #AT R odEN B

PF/WPF 91
K AT B WGEN B AR

PL/WPL 101
K AT B WGEN EA A

PFK fLH % 111
PLK fLH Y 118
PES #h A\ 7 124
PLS %l A 7Y 129
PLXHE %47 BN B A 134
VRSFH %47 B WGENL &k A 148
AT BGENL iR 154
VS 5 iy 56 i AF 9 AL 155

13



S P/S P R Serles planetary gearbox
TERHR

FEATURES
=S

FEBRSHLMRA—GREWRT, BESAOAERM,
TERRXAHFRERT, BEmTERUIRSEMR NS E A E,

W RBRBNRESHEKEHRCE2, MK BRI BRI HHM,
WS AENE DR EHEBNIRIT, DUIRERENERERIES,
BN S DIREER ARAEE AR, MWRREARHIK
ENABEHNANIEE,

RAWELERIRIT, SIFEHAES. LESERS30% UL,
SRTFRMAEE, LECERRASSEML,

WSRO EWEE, SRERMLIDT, BREEREY—, SEEHK,

REPERIE, ERESHNRENMTS=H
wEliREd, NHRSEENZEEER.

Planetary boom and output shaft are intergrated
structure designed to ensure maximum torsional rigidity.

Planetary wheel with full needle design,increase the contact
area to improve the rigidity and output torque.

The gears are carburized and quenched to the HRC62 with low carbon
steel surface for optimum wear and impact toughness.

Gears refer to foreign imported software-assisted design to
obtain the best tooth shape to reduce noise.

The input terminal is connected to the motor shaft in a double-tight manner
to obtain the maximum clamping force and zero backlash power transmission.

Adopt spiral bevel gear design, allow high output torque,
more than 30% higher than straight bevel gear.

High tolerance input speed, more than 8 times
higher than straight bevel gear input.

The meshing tooth imprint of spiral bevel gear has been optimized
by optimum design, and the contact tooth surface load is uniform, and long running life.

Cochlear bevel gears are meshed by optimum motion error analysis and
strict process control to ensure high precision running back clearance.




GENERAL NOTICES

1T 524D

- HF. BS HE

— JBOE L B R

- IRREEAR

- BERREOYME R

- ANAFROANAER

- DR BB SFEREIRGIAMR T

— Type, model and torque

— Ratio or output speed

— Working conditions and connection methods

— Quantity and installed machine name

— Input mode and input speed

— Motor brand model or flange and motor shaft size

15



BUE L IRET

RARMEIFE nor
AR 5

B

El#2ia @
HERI %

BUERANREN,

ERAFNELHIN

BHRBEAF,
BHHESF,,
MM,
fER%EH O
R

B IPER

S

ZEHMA

IREEY

WEn

Nm

Nm

Nm

Nm

arcmin
Nm/arcmin

rom

rpm

Nm
Nm
hr
°C

dB(A)

%

#%  MEHK® SP060 SP075 SP100 SP140 SP180 SP210 SP240
3 90 155 426 636 1560 2368 495
4 100 205 368 630 1355 2058 3900

1 5 84 173 320 550 1202 1832 3450
7 63 135 263 457 1030 1570 2650
10 24 57 168 320 735 1124 1900
16 100 205 378 646 1386 2100 3974
20 100 207 378 646 1386 2100 3990
25 84 173 326 562 1223 1860 3497
28 60 207 378 646 1390 2100 3990

) 35 74 180 326 562 1223 1864 3502
40 40 96 228 646 1276 2100 3995
50 50 120 285 562 1230 1864 3507
70 63 135 263 462 1040 1586 2678
100 24 57 168 310 693 1055 1785

1,2 3~100 3 EEERIH 5B

1,2 3~100 15 ETERLHE

1 3+10 03 06 14 25 5 7 1

) 16~100 02 03 05 12 17 3 4

1 3+10 < <1 <1 <1 <1 <1 <1

2 16~100 <3 < < < < < <

1,2 3~100 46 10 30 55 175 400 550

1 3410 7000 6000 3600 3000 2700 2400 2100

2 16~100 | 5000 3600 4600 4000 3700 3400 3100

1 3+10 5000 4600 6000 5000 4500 4000 3500

2 16~100 | 7000 7000 7000 6000 5500 5000 4500

1,2 34100 | 3000 4500 6700 | 10000 | 15000 | 22000 | 30000

1,2 34100 | 1500 2250 3350 5000 7500 | 11000 | 15000

1,2 3~100 160 270 550 1050 1740 3350 5420

.7 3100 20000

1,2 3100 110°C~ 90°C

i9 3100 P65

1,2 3~100 amEEE

1,2 3~100 EEPH

1 3410 <58 | <50 <64 | <65 | <66 <66 <66

) 16100 | <58 | <59 <60 | <63 | <66 <66 <66

1 3+10 > 97%

) 16~100 > 94%

(1) BEEREE (=N, /Now)

(2) ILERHI0 (—F) 3100 (Z75) BURERY, £3000RPMEE TEAHMIZ R TNEMS,
(2) EIIZ B 2 A E2% B E S A5 T, TG

(4) S ER100rpmBY, (EFATF L HA0
(5) dBERHIR AL S10LL (—F5) 5100 (Z%5) BURIRM, 7E3000RPMIAE ATHRAINIRE T L ARMNIER MU EMS.
BT BRI EF/F RS BIRPM, IR FEKF R

BER®3ES5dB,

16



SPRFI-R~F

<
N
—

L1

@D2(4x)

Detail Z
__//L\ = ED)- -
N = ]
D6 L9
D3 ns L10 z
A s1

L2 L3

L7

» Remark (1)

D1
D2
D3 H6
D4 G6
D5
D6
DI0 H8
D7 H6
D9
L1
L2
L3
L4
L5
L6
L7
L9
L10
L17
L18
L19
L20
L21
122
123
L24
Bl H9
H1
X DIN5480

68
5.5
16
60
18.5
M5x0.8P
16
15
18
62
28
20
2
25
2
6
4.8
12.5
26
15
21
12
22
19
2
0.3
5
18
W16x0.8x30x18x6m

V2 I
|
o 5 B il
gls I ]
]
L4 _k¥
120  L21
L17 R o
B1 L6 L5 L18
—/LA\ J:l :
T L6 T £y 5| | e gld] -4+
: = A IS
D6| L9 D6 il ‘1
@D3 16 L10
L22 —
A S2 A S3 B s4
SP075 SP140 SP180
85 120 165 215 250 290
7 9 11 135 17 17
22 32 40 55 75 85
70 90 130 160 180 200
25.8 36.8 55.2 69.2 82.2 92.2
M8x1.25P M12x1.75P M16x2P M20x2.5P M20x2.5P M20x2.5P
22 32 40 55 75 85
20 30 40 55 - -
24 36 50 68 - -
76 101 141 182 215 245
36 58 82 82 105 130
20 30 30 30 38 40
2.5 3 3 3 3 3
32 50 63 70 90 125
4 5 6 7 3
10 12 15 17 22
7.2 10 12 15 15 15
19 28 36 42 42 42
26 26 40 41.5 52 60
15 15 20 21.5 28 36
22.5 23 335 335 45 53
14 18 22 23 - -
22 32 33 32 - -
21 25 30 30 - -
2.5 2.5 2.5 2.5 2.5 4
0.4 0.4 0.4 0.4 0.4 0.5
6 10 12 16 20 22
24.5 35 43 59 79.5 90
W22x1.25x30x16x6m | W32x1.25x30x24x6m | WA0x2x30x18x6m | W55x2x30x26x6m | W70x2x30x34x6m | W80x2x30x38x6m

17



SP%7

e SP075 SP100 SP140 SP180 SP210 SP240
o NHETZ(C3) 5 PVET] -5t Pl &r) 5 By Pl &s) g5 5] Pl&E)
11 021 | 016 . 017 . . = . . . = . . .
14 024 | 02 | 054 @ 021 - 0.42 - - - - - - - -
19 0.64 - 079 | 06 | 251 | 066 - 1.83 - - - - - -
24 - - 4.06 - 478 | 394 | 685 | 411 - 461 - - - -
28 . . . = 6.15 . 838 | 548 . 6.14 = . . :
32 | kgem?| - - - - 8.03 - 1041 | 736 | 195 | 817 - 10.55 - -
35 - - - - 1472 - 1556 | 14.04 | 2671 | 1554 | 396 | 1775 | 8648 & 208
38 - - - - 17.38 - 2043 | 1671 | 2911 | 1819 | 4243 | 2017 | 8648 | 2366
4 - - - - - - 25.44 - 3435 | 2320 | 4765 | 254 | 9261 | 28.88
48 - - - - - - 54.66 - 6413 | 5242 | 7741 | 5518 | 122.26 | 58.64
55 - - - - - - - - - - || - 1567 | 92.48
60 - - - - - - - - - - - - 18017 | -
+F2a -F2a
|| S >
||
K N F2r
N\ &
XX
1 i —
Z2 X
. F..*Y+F, *(X+Z2 M2K : (Nm)
EEMIFEHEM,, = —= 10;'0 ( ) F2a, F2r: (N)

X, Y,Z2: (mm)

Z2 (mm)

41.3

50.1

589

2.7

93.7

98.5

112.2

I ER100rpm By, EATFRHETOUE

18



SPRZFI (FNF5)

AR HL 4 BE 2R

nE ¥ AEKY SPR060 SPR075 SPR100 SPR140 SPR180 SPR210 SPR240
12 100 205 378 646 1381 1764 3444
16 100 210 378 646 1386 1764 3444
20 100 210 378 646 1386 1864 3502
25 84 180 326 562 1223 1864 3502

ST, \m 5 28 97 210 378 646 1390 1638 3150
35 84 180 326 562 1230 1864 3507
40 63 168 357 646 1390 1512 2520
50 53 180 326 562 1230 1864 3150
70 63 137 263 462 1040 1586 2678
100 25 58 168 305 688 1055 1770

BRAREIE T nor Nm 2 12~100 2fEFE R TIIET

RANIRFET 5 Nm 2 12~100 15BRERL I5ET

SHAE? Nm 2 12~100 1 1.3 2 3.1 6 13 16

[EIF2[EIRR ) arcmin 2 12~100 <2

HEERI4E Nm/arcmin 2 12~100 4.6 10 30 55 175 300 510

BUE NN, rpm 2 12~100 3000 3000 2800 2700 2200 2100 2000

BRANEHN rpm 2 12~100 6000 6000 6000 4500 4500 4000 3000

B REAFF,W N 2 12~100 3000 4500 6700 10000 15000 22000 30000

AR, Nm 2 12~100 1500 2250 3350 5000 7500 11000 15000

B MRS TEEM @ Nm 2 12~100 160 270 550 1050 1740 3350 5420

fERE&FH© hr 2 12~100 20000

EREE °C 2 12~100 -10°C~+90°C

it ipe= 4 2 12~100 IP65

A 2 12~100 EREEE

REHME 2 12~100 EEAMA

IREEO dB(A) 2 12~100 <64 <66 <68 <68 <70 <70 <72

VES) % 2 12~100 > 94%

(2) BUREL (1=Nip /Noy)

(2) IERHIOLL (—F) 3100 (Z7) BUBIRH, 7E3000RPMIRE P LAHMIER TNEMS.

(3) O EIFRBIE 2% B E M IR T, FIG

(4) B FR100rpmEY, (ERF i HA 0

(5) dBERHIRAZSIOLL (—73) 50100 (=) BYRIEMN, F£3000RPMEAE AIITIRRINRE T EARMIER T E8MS.
BT R RN /SR B HIRPM, IRFEK TR E3ESdB,

SPR060 SPRO75 SPR100 SPR140 SPR180 SPR210 SPR240

oHNMETR (C3)

11 0.16 0.17 - - = = -
14 0.2 0.37 0.41 - - - -
19 = 0.6 1.61 1.61 - = -
24 - - 3.9 4.01 5.62 - -
28 = - - 5.53 5.62 = -

kg cm?

32 - - - 7.57 8.11 8.11 -
35 = = = 14.95 15.32 15.32 15.68
38 - - - 17.58 17.72 17.72 18.52
42 = = = = 22.95 22.95 23.74
48 - - - - 52.74 52.74 53.49
55 = = = = = = 87.34

19



W da =2

- __ _ 3
BHEF nE
[ee]
= 1 3 o =30 H6/j6
Q| 2 1 U4 7 (S
S > 30~50 H6/h6
| > 50 ~80 H6 /g6
I Ei * REHEHERE Ra<3.2um
T H O
KEERHE
e 18 44(1) TAQ@)
SP/SPR B x KB (Nm)
075 50 24 36 19.5 23 6 x M5 4 0.8
100 72 36 52 23.5 271.5 5x M6 12 3.9
140 90 50 70 27.5 31.5 8x M6 12 11.2
180 115 68 86 30.5 34.5 10 x M6 12 30.9

(1) 38Z10.94%, DIN931 (2) S35

20



(373, IREEL12~100)

L3

L2

2D8

L16

23| Detail z

D1
D2
D3 hé
D4 g6
D5
D6
D7 h6
D8
D9 H6
D10 h8
L1
L2
L3
L4
L5
L6
L7
L8
L9
L10
L11
L12
L13
L16
L17
L18
L19
120
L21
122
123
L24
Bl h9
H1

X DIN5480

Heem ey — - — -

L4

D5
D4gs

o

D1

L21

L20

i-_ _E Re'mark(1)
! |
| L
1
3 | @
I f---o L17
L5 L6 B1 L18
. | | A |
Il 7L Loy = e M A2 N~ F | £
N i @N - :f/ I_ . ) s
L/ L9 D6 Lo ' L19
Z L10 @D3 s L10 @D3 s
AR S1 WAL S2 BT S3
68 85 120 165 215
5.5 7 9 11 13.5
16 22 32 40 55
60 70 90 130 160
18.5 25.8 36.8 55.2 69.2
M5x0.8P M8x1.25P M12x1.75P M16x2P M20x2.5P
16 22 32 40 55
73 94 116 163 210
15 20 30 40 55
18 24 36 50 68
62 76 101 141 182
28 36 58 82 82
20 20 30 30 30
2 2.5 3 3 3
25 32 50 63 70
2 2 4 5 6
6 7 10 12 15
10 13 17 25 31
4.8 7.2 10 12 15
12.5 19 28 36 42
118.5 135.5 152.5 191 248
44.5 53 68.3 89 115
211 244.5 308.8 392 475
94 114.5 129 173.5 228
26 26 26 40 41.5
15 15 15 20 21.5
21 22.5 23 33.5 335
12 14 18 22 23
22 22 32 33 32
19 21 25 30 30
2 2.5 2.5 2.5 2.5
0.3 0.4 0.4 0.4 0.4
5 6 10 12 16
18 24.5 35 43 59
W16x0.8x30x18x6mW22x1.25x30x16x6mW32x1.25x30x24x6m W40x2x30x18x6m | W55x2x30x26x6m

@D
@D10ns

250

17

75
180
82.2

M20x2.5P

75

210

215
105
38
3
90
7
17
31
15
42
270
115
528
228
52
28
45

2.5
0.4

20
79.5

WT70x2x30x34x6m

L22

A sS4

290

17

85
200
92.2

M20x2.5P

85

255

245
130
40

125

22
36
15
42
336
131
637
265.5
60
36
53

4
0.5
22
90

W80x2x30x38x6m

21



B Serles planetary gearbox
A 1T EIRIR

FEATURES
PR

TEEBRSwL MR ARSI,
T RE KB FRI M,
TERXAHRIRT,

R EARIR S E MRS 5 AR,
SR B RESNR IS TOE X EIHRCE2,
IR IS B R BN BE B o T # 1o

W S| BESMNE DR A FH B IRTT,
DA R ENETEERE S,

BN S DIAHEERAIGAEE TR,
DIBAERE A8k BN B E RN 3

Planetary boom and output shaft are intergrated
structure designed to ensure maximum torsional rigidity.

Planetary wheel with full needle design,increase the contact
area to improve the rigidity and output torque.

The gears are carburized and quenched to the HRC62 with low
carbon steel surface for optimum wear and impact toughness.

Gears refer to foreign imported software-assisted design
to obtain the best tooth shape to reduce noise.

The input terminal is connected to the motor shaft in a double-tight
manner to obtain the maximum clamping force and zero
backlash power transmission.




GENERAL NOTICES

1T 5 7m4&n

HF, BS. HiE

TR EE B 0 A
ITREREEAFR
BERRENIME R
ABFAFNS HE

DA BB SFEZRDAMR T

Type, model and torque

Ratio or output speed

Working conditions and connection methods
Quantity and installed machine name

Input mode and input speed

Motor brand model or flange and motor shaft size

23



AB Series

IR LM BE TR

A T8 | BIEREE | AB042 | AB060 |ABO60A| AB090 |AB090A| AB115 |AB115A| AB142 |[AB142A| AB180 | AB220
3 20 55 - 130 - 208 - 342 - 588 [1,140

4 19 50 - 140 - 290 - 542 - [1,050(1,700

5 22 60 - 160 - 330 - 650 - 1,200(2,000

1 6 20 55 - 150 - 310 - 600 - [1,100(1,900

7 19 50 - 140 - 300 - 550 - |1,100(1,800

8 17 45 - 120 - 260 - 500 - |1,000(1,600

9 14 40 - 100 - 230 - 450 - 900 [1,500

10 14 40 - 100 - 230 - 450 - 900 [1,500

12 19 50 50 140 | 140 | 290 | 290 | 542 | 542 [1,050|1,700

15 20 55 55 130 | 130 | 208 | 208 | 342 | 342 | 588 |1,140

1 E i S 5E T Nm 16 19 | 50 | 50 | 140 | 140 | 290 | 290 | 542 | 542 |1,050|1,700

20 19 50 50 140 | 140 | 290 | 290 | 542 | 542 |1,050|1,700

25 22 60 60 160 | 160 | 330 | 330 | 650 | 650 |[1,200]|2,000

28 19 50 50 140 | 140 | 300 | 300 | 550 | 550 [1,100]1,800

2 30 20 55 55 150 | 150 | 310 | 310 | 600 | 600 |[1,100]1,900

32 17 45 45 120 | 120 | 260 | 260 | 500 | 500 [1,000|1,600

35 19 50 50 140 | 140 | 300 | 300 | 550 | 550 [1,100]1,800

40 17 45 45 120 | 120 | 260 | 260 | 500 | 500 |[1,000|1,600

45 14 40 40 100 | 100 | 230 | 230 | 450 | 450 | 900 |1,500

50 22 60 60 160 | 160 | 330 | 330 | 650 | 650 |1,200]|2,000

60 20 55 55 150 | 150 | 310 | 310 | 600 | 600 [1,100]1,900

70 19 50 50 140 | 140 | 300 | 300 | 550 | 550 [1,100]1,800

80 17 45 45 120 | 120 | 260 | 260 | 500 | 500 [1,000|1,600

90 14 40 40 100 | 100 | 230 | 230 | 450 | 450 | 900 |1,500

100 14 40 40 100 | 100 | 230 | 230 | 450 | 450 | 900 |1,500

2EHE Twuw® Nm 1,2 | 3~100 3 EmEmt 1
B ZE S\ FE IR Nin rpm 1,2 | 3~100 | 5,000 | 5,000 [ 5,000 | 4,000 | 4,000 | 4,000 [ 4,000 | 3,000 | 3,000 | 3,000 | 2,000
R AHIAGEIR N rpm 1,2 | 3~100 [10,000[10,000{10,000| 8,000 | 8,000 | 8,000 | 8,000 | 6,000 | 6,000 | 6,000 | 4,000
ot g e s ) 1 3~10 - - - <1 - <1 - <1 - <1 <1
BREEHR PO aremin 2 [12=100] - | - | - | - | - | <3| =3 | =3 | =3 | =3 | <3
g s . 1 3~10 <3 <3 - <3 - <3 - <3 - <3 <3
REFK P arcmin 2 |12~100| =5 | =5 | <5 | =5 | =5 | <5 | =5 | =5 | =5 | =5 | =5
— v HE ey . 1 3~10 <5 <5 - <5 - <5 - <5 - <5 <5
R R P2 aremin 2 |12~100| =7 | =7 | =7 | =7 | =7 | =7 | =7 | =7 | =7 | =7 | =7
5 R Nm/arcmin| 1,2 [ 3~100 3 7 7 14 14 25 25 50 50 | 145 | 225
BHFEEAD F° N 1,2 | 3~100 | 780 | 1,530 1,530 | 3,250 | 3,250 | 6,700 | 6,700 | 9,400 | 9,400 [14,500[50,000
RiFmEA  F° N 12 | 3~100 | 390 | 765 | 765 | 1,625 1,625 3,350 | 3,350 | 4,700 | 4,700 | 7,250 [25,000
EHE® hr 1,2 | 3~100 >20,000
e 0 1 3~10 >97%
HE N & 2 [12~100 >94%
55 kg 1 3~10 | 0.6 [ 1.3 - 3.7 - 7.8 - 13 - 26 | 45
2 12~100( 0.8 | 1.5 | 1.9 | 41 | 5.3 9 | 11.4]175]20.7] 32 57
FRIEE °C 1,2 | 3~100 -10°C~90°C
A 1,2 | 3~100 & [E15E 8 i B
ISR 1,2 | 3~100 IP65
REHME 1,2 | 3~100 EFEHE
REE dB(A) 1,2 | 3~100 [ <56 [ <58 | <60 [ <60 [ <63 | <63 | <65 | <65 | <67 | <67 | <70
BRI NIR =
AR 5% | BUR EE | AB042 | AB060 |ABO60A| AB090 [AB090A | AB115 |[AB115A| AB142 |AB142A| AB180 | AB220
3 003 [016| - | 061 - [325| - [921| - |28.98]6961
4 003|014 | - [048| - [274| - [754| - |[23.67|54.37
5 003|013 | - 047 | - [271| - [742]| - [23.29|53.27
] 6 003 [013| - |o045| - |265| - |725| - |[22.75|51.72
7 003 |013| - [045| - [262] - [714]| - [22.48(50.97
8 003|013 | - [044| - [258| - [7.07| - [22.59(50.84
9 003 ]|013| - [044| - [257] - [704]| - |22.53[50.63
10 0.03 [013| - [044| - |257| - [7.03] - [22.51[50.56

12 0.03 | 0.03 | 0.16 | 0.16 | 0.61 | 0.61 | 3.25 | 3.25 | 9.21 | 9.21 [28.98

15 0.03 | 0.03 | 0.13 | 0.13 | 0.47 | 0.47 | 2.71 | 2.71 | 7.42 | 7.42 |23.29

16 0.03 | 0.03 | 0.14 | 0.14 | 0.48 | 0.48 | 2.74 | 2.74 | 7.54 | 7.54 |23.67

20 0.03 | 0.03 | 0.13 | 0.13 | 0.47 | 0.47 | 2.71 | 2.71 | 7.42 | 7.42 | 23.29

HIRE J kg - cm? 25 |0.03 | 0.03] 013 | 0.13 | 0.47 | 0.47 | 2.71 | 2.71 | 7.42 | 7.42 | 23.29

28 0.03 | 0.03 | 0.14 | 0.14 | 0.48 | 0.48 | 2.74 | 2.74 | 7.54 | 7.54 |23.67

30 0.03 | 0.03 | 0.13 | 0.13 | 0.47 | 0.47 | 2.71 | 2.71 | 7.42 | 7.42 |23.29

32 0.03 | 0.03 | 0.14 | 0.14 | 0.48 | 048 | 2.74 | 2.74 | 7.54 | 7.54 |23.67

2 35 0.03 | 0.03 | 0.13 | 0.13 | 0.47 | 0.47 | 2.71 | 2.71 | 7.42 | 7.42 |23.29

40 0.03 | 0.03 | 0.13 | 0.13 | 0.47 | 0.47 | 2.71 | 2.71 | 7.42 | 7.42 |23.29

45 0.03 | 0.03 | 0.13 | 0.13 | 0.47 | 0.47 | 2.71 | 2.71 | 7.42 | 7.42 |23.29

50 0.03 | 0.03 | 0.13 | 0.13 | 0.44 | 0.44 | 2.57 | 2.57 | 7.03 | 7.03 | 22.51

60 0.03 | 0.03 | 0.13 | 0.13 | 0.44 | 0.44 | 2.57 | 2.57 | 7.03 | 7.03 | 22.51

70 0.03 | 0.03 | 0.13 | 0.13 | 0.44 | 0.44 | 2.57 | 2.57 | 7.03 | 7.03 | 22.51

80 0.03 | 0.03 | 0.13 | 0.13 | 0.44 | 0.44 | 2.57 | 2.57 | 7.03 | 7.03 | 22.51

90 0.03 | 0.03 [ 0.13 | 0.13 | 0.44 | 0.44 | 2.57 | 2.57 | 7.03 | 7.03 | 22.51

100 0.03 | 0.03 | 0.13 | 0.13 | 0.44 | 0.44 | 2.57 | 2.57 | 7.03 | 7.03 | 22.51

24



(1-#3 ,Ratioi=3~10)/ AB Series

C9

L2

L8

C8

oL oc7
L3 c10
— fi
alc
w0 0
§ 1t 8
‘ [sel
| Q
Q
L4 CG_I:
L7 ca |
B, LWL‘
-
D6 L9
@D3 L10
FimAE K S Migsmal s s2
[# 4: mm]
R~ AB042 AB060 AB090 AB115 AB142 AB180 AB220
D1 50 70 100 130 165 215 250
D2 3.4 5.5 6.6 9 11 13 17
D3 je 13 16 22 32 40 55 75
D4 g 35 50 80 110 130 160 180
D5 22 45 65 95 75 95 115
D6 M4 x 0.7P M5 x 0.8P M8 x 1.25P M12 x 1.75P M16 x 2P M20 x 2.5P M20 x 2.5P
D7 56 80 116 152 185 240 292
D8 e - 16 22 32 40 55 75
L1 42 60 90 115 142 180 220
L2 26 37 48 65 97 105 138
L3 5.5 7 10 12 15 20 30
L4 1 1.5 1.5 2 3 3 3
L5 16 25 32 40 63 70 90
L6 2 2 3 5 5 6 7
L7 4 6 8 10 12 15 20
L8 31 61 78.5 102 119.5 154 163.5
L9 4.5 4.8 7.2 10 12 15 15
L10 10 12.5 19 28 36 42 42
L11 - 26 26 26 40 41.5 52
L12 - 15 15 15 20 21.5 28
L13 - 21 22.5 23 33.5 33.5 45
c1' 46 70 100 130 165 215 235
c2' M4 x 0.7P M5 x 0.8P M6 x 1P M8 x 1.25P M10 x 1.5P M12x1.75P | M12x1.75P
c3 <11/=<12? <14 /<16’ <19/<24? <32 <38 <48 <55
c4' 25 34 40 50 60 85 116
C5' 30 50 80 110 130 180 200
C6' 3.5 8 4 5 6 6 6
c7' 42 60 90 115 142 190 220
(of:3 29.5 19 17 19.5 22.5 29 63
c9' 86.5 117 143.5 186.5 239 288 364.5
c10' 8.75 13.5 10.75 13 15 20.75 53
B1 he 5 5 6 10 12 16 20
H1 15 18 24.5 35 43 59 79.5
X _ W16x0.8x W22x1.25x W32x1.25x W40x2x W55x2x W70x2x
DIN5480 30x18x6m 30x16x6m 30x24x6m 30x18x6m 30x26x6m 30x34x6m

25



GENERAL NOTICES

1T 5504

M, 8BS, HiE

I L S 0 B R
IRREZETR
HERTEOIMA R

AN FRFAN R

DA BB STEZRDIAMR T

Type, model and torque

Ratio or output speed

Working conditions and connection methods
Quantity and installed machine name

Input mode and input speed

Motor brand model or flange and motor shaft size

26



=

(2- T

,Ratioi=12~100) / AB Series

C9
L2 L8 Cc8
L3
*Hﬁ c10
: - i
w f !
© ] , - f@\F 8
S . =19
i |8
L4 C6 .
I C4
ABOG0A / AB090A / AB115A | AB142A
B1, L6 L5 co
ﬁ‘i aﬂ———‘ 2 s cs
N ) c10
@ (9 = ==
T S8 — — THH I8
D6 L9 s8] T [ I I A
L10 8
D3, @D3 ll | 8
MR 51 MBS 52 s ] ol
[# 42 mm]
R+t AB042 | AB060 |ABOGOA AB090 ABO090A| AB115 | AB115A | AB142 |AB142A AB180 | AB220
D1 50 70 100 130 165 215 250
D2 3.4 55 6.6 9 11 13 17
D3js 13 16 22 32 40 55 75
D4 g6 35 50 80 110 130 160 180
D5 22 45 65 95 75 95 115
D6 M4 x0.7P M5 x 0.8P M8 x 1.25P M12x1.75P M16 x 2P M20x2.5P|M20x2.5P)
D7 56 80 116 152 185 240 292
D8he - 16 22 32 40 55 75
L1 42 60 90 115 142 180 220
L2 26 37 48 65 97 105 138
L3 55 7 10 12 15 20 30
L4 1 1.5 1.5 2 3 3 3
L5 16 25 32 40 63 70 90
L6 2 2 3 5 5 6 7
L7 4 6 8 10 12 15 20
L8 58.5 72 | 98 111.5 | 126.5 | 1435 [ 163 176 | 191 209.5 248
L9 4.5 4.8 7.2 10 12 15 15
L10 10 12.5 19 28 36 42 42
L11 - 26 26 26 40 415 52
L12 - 15 15 15 20 21.5 28
L13 - 21 22.5 23 33.5 33.5 45
c1’ 46 46 70 70 100 100 130 130 165 165 215
c2® M4 x0.7P| M4 x0.7P M5 x 0.8P M5 x 0.8P M6 x 1P | M6 x 1P [M8x1.25P|M8x1.25P|M10x1.5P |M10x1.5P [M12x1.75P|
c3 <11/<12"| <11/<12"| <14 /<16"| <14/<15.875/<16 ' |<19/<24"| <19/<24"'| <32 <32 <38 <38 <48
c4’ 25 25 34 34 40 40 50 50 60 60 85
c5’ 30 30 50 50 80 80 110 110 130 130 180
Cce6’ 3.5 3.5 8 8 4 4 5 5 6 6 6
cr 42 42 60 60 90 90 115 115 142 142 190
c8’ 29.5 29.5 19 19 17 17 19.5 19.5 22.5 22.5 29
c9’ 114 138.5 154 178.5 191.5 | 225.5 | 247.5 | 2925 310.5 337 415
c10° 8.75 8.75 13.5 13.5 10.75 | 10.75 13 13 15 15 20.75
B1 ho 5 5 6 10 12 16 20
H1 15 18 24.5 35 43 59 79.5
X _ W16x0.8x W22x1.25x W32x1.25x W40x2x W55x2x | W70x2x
DIN5480 30x18x6m 30x16x6m 30x24x6m 30x18x6m 30x26x6m|30x34x6m

27



Series planetary gearbox
RAVITEIBIR

FEATURES
S

TEEBRSHHMXE—ARAEWRT, HERAOAERME,
FTERRMHRIET, EnEmERMRSSWRESH HEE,
W R ARBRNRESHOEKEIHRC2, MRS RN BRI HHM.
WS BEMNE DR HHEBIRLT, MIRBEENERRERIES,
BN S DA MERERBRBRE AR, DIRREKRHI%
ENABEHRNAHEE,
RAREACER IR, BFHHAES. LEPERE30% ML,
SEFRAER, LECERBASSEMNL,
B, S&ERARTT, EMETREY—, TEETK,

&, AREZHMIRENNT 5K

tBligEd, NHRSEENZEER,

Planetary boom and output shaft are intergrated
structure designed to ensure maximum torsional rigidity.

Planetary wheel with full needle design,increase the contact
area to improve the rigidity and output torque.

The gears are carburized and quenched to the HRC62 with low carbon
steel surface for optimum wear and impact toughness.

Gears refer to foreign imported software-assisted design to
obtain the best tooth shape to reduce noise.

The input terminal is connected to the motor shaft in a double-tight manner
to obtain the maximum clamping force and zero backlash power transmission.

Adopt spiral bevel gear design, allow high output torque,
more than 30% higher than straight bevel gear.

High tolerance input speed, more than 8 times
higher than straight bevel gear input.

The meshing tooth imprint of spiral bevel gear has been optimized
by optimum design, and the contact tooth surface load is uniform, and long running life.

Cochlear bevel gears are meshed by optimum motion error analysis and
strict process control to ensure high precision running back clearance.




ABR Series

AR LM BE BT R

AR 5% | IRt |ABRO42|ABR060|ABROG0A| ABRO9O|ABROSOA|ABR115 |ABR115A| ABR142 [ABR142A| ABR180| ABR220
3 9 36 - 90 - 195 | - | 342 | - | 588 [1,140
4 12 | 48 - 120 - | 260 | - | 520 | - [1,040|1,680
5 15 | 60 - 150 - | 35| - | 650 | - [1,200]2,000
6 18 | 55 - 150 - | 30| - | 600 | - [1,100]1,900
7 19 50 - 140 - | 30| - |55 | - [1,100] 1,800
] 8 17 | 45 - 120 - | 260 | - | 500 | - [1,000]1,600
9 14 | 40 - 100 - | 230 | - | 450 | - | 900 |1,500
10 14 60 - 150 - | 35| - | 650 | - [1,200]2,000
12 - 55 - 150 - | 30| - | 600 | - [1,100]1,900
14 - 42 - 140 - | 300 - | 550 | - [1,100]1,800
16 - 45 - 120 - | 260 - | 500 | - [1,000][1,600
20 - 40 - 100 - | 230 - | 450 | - | 900 |1,500
12 12 - - - - - - - - - -
15 14 - - - - - - - - - -
16 15 - - - - - - - - - -
20 14 - - - - - - - - - -
25 15 60 60 | 150 | 150 | 325 | 325 | 650 | 650 | 1,200 |2,000
- 28 19 50 50 | 140 | 140 | 300 | 300 | 550 | 550 |1,100 | 1,800
A1 7E 1A i 5B T Nm 30 20 | 55 | 55 | 150 | 150 | 310 | 310 | 600 | 600 |1,100] 1,900
32 17 | 45 | 45 | 120 | 120 | 260 | 260 | 500 | 500 | 1,000 |1,600
35 19 50 50 | 140 | 140 | 300 | 300 | 550 | 550 |[1,100 | 1,800
40 17 | 45 | 45 | 120 | 120 | 260 | 260 | 500 | 500 |1,000 | 1,600
45 14 | 40 | 40 | 100 | 100 | 230 | 230 | 450 | 450 | 900 |1,500
9 48 - - 55 | 150 | 150 | 310 | 310 | 600 | 600 | 1,100 | 1,900
50 14 60 60 | 150 | 150 | 325 | 325 | 650 | 650 |1,200 | 2,000
60 20 55 55 | 150 | 150 | 310 | 310 | 600 | 600 |1,100 | 1,900
64 - - 45 | 120 | 120 | 260 | 260 | 500 | 500 |1,000| 1,600
70 19 50 50 | 140 | 140 | 300 | 300 | 550 | 550 |1,100 | 1,800
80 17 | 45 | 45 | 120 | 120 | 260 | 260 | 500 | 500 | 1,000 |1,600
90 14 | 40 | 40 | 100 | 100 | 230 | 230 | 450 | 450 | 900 |1,500
100 14 | 40 60 | 150 | 150 | 325 | 325 | 650 | 650 | 1,200 | 2,000
120 - - 55 | 150 | 150 | 310 | 310 | 600 | 600 |1,100 | 1,900
140 - - 50 | 140 | 140 | 300 | 300 | 550 | 550 |1,100 | 1,800
160 - - 45 | 120 | 120 | 260 | 260 | 550 | 550 |1,000| 1,600
180 - - 40 | 100 | 100 | 230 | 230 | 450 | 450 | 900 | 1,500
200 - - 40 | 100 | 100 | 230 | 230 | 450 | 450 | 900 | 1,500
S2EHE T Nm 1,2 | 3~200 3fEF ML S15E
BEM AN IR Nw rpm 1,2 3~200( 5,000 | 5,000 | 5,000 | 4,000 | 4,000 | 4,000 | 4,000 | 3,000 | 3,000 | 3,000 | 2,000
RABANFEIE N rpm 1,2 3~200{10,000(10,000[10,000[ 8,000 | 8,000 | 8,000 | 8,000 | 6,000 | 6,000 | 6,000 | 4,000
) 1 3~20 - - - <2 - <2 - <2 - <2 <2
BEEER PO aremin 2 |[12~200] - T - <4 | =4 | <4 | <4 | 4 | <4 | 4 | <4
) 1 3~20 | =4 <4 - <4 - <4 - <4 - <4 <4
HEH R o aremin 2 |12~200] <7 | <7 | <7 | <7 | <7 | =7 | =7 | =7 | <7 | <7 | <7
— i HE s P2 . 1 3~20 <6 <6 - <6 - <6 - <6 - <6 <6
mEHR arcmin 2 12~200| <9 <9 <9 <9 <9 <9 <9 <9 <9 <9 <9
55 R 4 Nm/arcmin| 1, 3~200| 3 7 7 14 14 | 25 25 | 50 50 | 145 | 225
RN F & N 1, 3~200| 780 [1,530(1,5303,250] 3,250 6,700 | 6,700 | 9,400 | 9,400 [14,500{50,000
FiFMEAD FL° N 1, 3~200| 390 | 765 | 765 |1,625|1,625|3,350 (3,350 |4,700 | 4,700 | 7,250 (25,000
FRES hr 1,2 | 3~200 >20,000
o 1 3~20 295%
M N % 2 |12~200 >92%
- kg 1 3~20 | 0.9 | 21 - 6.4 - 124 | - 23 - | 445 77
2 |12~200( 12 | 18 | 27 | 48 | 79 | 115 | 159 | 215 | 296 | 415 | 75
ERHERE °C 1,2 3~200 -10°C~+90°C
e 1,2 | 3~200 & [E5E 8 h A
B5 iR Z R 1,2 | 3~200 IP65
REFME 1,2 | 3~200 FEAME
REE dB(A) 1,2 | 3~200] <61 [ <63 | <65 [ <65 | <68 | <68 [ <70 | <70 [ <72 [ <72 | <74
BIRHEIRE
A& 5% | 13 Lt | ABR042| ABR060| ABROGOA| ABR090| ABROY0A| ABR115|ABR115A | ABR142 |ABR142A| ABR180 | ABR220
) 3~10 | 0.09[0.35] - 225 - | 684 - | 234 - | 6891354
12~20| - |0.31| - [1.87 - |e625] - |218] - | 6561198
_ = 12~20 | 0.09 | - - - - - - - - - -
BEiRE v kg - cm”® 25~90 | 0.09 | 0.09 | 0.35 | 0.35 | 2.25 | 2.25 | 6.84 | 6.84 | 234 | 234 | 68.9
2 48,64 | - - o031 031[187] 187 |625]|6.25]21.8]21.8] 656
100~200| - - |031]031]187] 187 |625|625| 218|218 656

29



(1-81% ,Ratioi=3~20)/ ABR Series

L8

L2
L3
; =
N
vm Yo}
alg -4 -—t——- —
o —
I
i | 3
-
L4 | R
LU* |
<8 | ; |
o T T T
L TTe g
! = 2
@C5 ©
B1 ., 6 L5 ‘
-
D6 L9
203, L10
FHBR S1 GE SR,
[# 4z mm]
R~ ABRO042 ABRO060 ABRO090 ABR115 ABR142 ABR180 ABR220
D1 50 70 100 130 165 215 250
D2 3.4 5.5 6.6 9 11 13 17
D3 j6 13 16 22 32 40 55 75
D4 g6 35 50 80 110 130 160 180
D5 22 45 65 95 75 95 115
D6 M4 x 0.7P M5 x 0.8P M8 x 1.25P M12x1.75P M16 x 2P M20 x 2.5P M20 x 2.5P
D7 56 80 116 152 185 240 292
D8 h6 - 16 22 32 40 55 75
L1 42 60 90 115 142 180 220
L2 26 37 48 65 97 105 138
L3 5.5 7 10 12 15 20 30
L4 1 1.5 1.5 2 3 3 3
L5 16 25 32 40 63 70 90
L6 2 2 3 5 5 6 7
L7 4 6 8 10 12 15 20
L8 111.5 145 203 259 333 394 484
L9 4.5 4.8 7.2 10 12 15 15
L10 10 12.5 19 28 36 42 42
L11 - 26 26 26 40 41.5 52
L12 - 15 15 15 20 21.5 28
L13 - 21 22.5 23 33.5 33.5 45
c1' 46 70 100 130 165 215 235
c2' M4 x0.7P M5 x 0.8P M6 x 1P M8 x 1.25P M10 x 1.5P M12 x 1.75P M12 x 1.75P
c3' <11 /<12 <14 / <16 <19 /< %4 <32 <38 <48 <55
c4' 25 34 40 50 60 85 116
c5' 30 50 80 110 130 180 200
cé' 3.5 8 4 5 6 6 6
c7' 42 60 90 115 142 190 220
cs' 29.5 19 17 19.5 22.5 29 63
co' 90.5 111.5 152.5 191.5 235.5 303.5 378.5
c10' 8.75 13.5 10.75 13 15 20.75 53
B1h9 5 5 6 10 12 16 20
H1 15 18 24.5 35 43 59 79.5
X _ W16x0.8x W22x1.25x W32x1.25x W40x2x W55x2x W70x2x
DIN5480 30x18x6m 30x16x6m 30x24x6m 30x18x6m 30x26x6m 30x34x6m

30



-
(2-W % ,Ratioi=12~200) / ABR Series
oLt L8
@D2 ﬂu
‘ @ L3 oC7
\\ _—
o/ [ Q ) =5 7\
N 28 T H—HH NN\ €
D) : A I\ 8
BN | I | |9 © s - B Y
N —— mp > /\eO)
L4 ‘ L 318 L
| L7 |
T
&QH\_L o|8
@C5 ©
ABRO60A / ABRO90A / ABR115A / ABR142A
B1 L6 L5 L8
L2
1 I | L3
O N
N @ 1=
Sls] T
D6 L9 § 3
@D3 6 203, L10 ﬁ {Ill mal]
3ld T
EWMBK ST HRMBR 2 °°¥ | m—r =i
ecs] [ | g[g]
JC5
[# fiz: mm]
R~ | ABR042 ABR060|ABR060A ABR090 |ABRO90A| ABR115 |ABR115A | ABR142 | ABR142A | ABR180 | ABR220
D1 50 70 100 130 165 215 250
D2 3.4 5.5 6.6 9 1 13 17
D3 js 13 16 22 32 40 55 75
D4 g6 35 50 80 110 130 160 180
D5 22 45 65 95 75 95 115
D6 M4 x 0.7P M5 x 0.8P M8 x 1.25P M12x1.75P M16x2P M20x2.5P| M20x2.5P
D7 56 80 116 152 185 240 292
D8 he - 16 22 32 40 55 75
L1 42 60 90 115 142 180 220
L2 26 37 48 65 97 105 138
L3 5.5 7 10 12 15 20 30
L4 1 1.5 15 2 3 3 3
L5 16 25 32 40 63 70 90
L6 2 2 3 5 5 6 7
L7 4 6 8 10 12 15 20
L8 139 163.5 182 2065 | 251 285 | 320 365 | 4045 431 521
L9 45 48 7.2 10 12 15 15
L10 10 12.5 19 28 36 42 42
L11 - 26 26 26 40 415 52
L12 - 15 15 15 20 21.5 28
L13 - 21 225 23 33.5 33.5 45
1’ 46 46 70 70 100 100 130 130 165 165 215
2°  |M4x0.7P|M4 x0.7P|M5 x 0.8P| M5x0.8P M6x1P | MB6x1P |M8x1.25P|M8x1.25P|M10x1.5P|M10x1.5P[M12x1.75F
c3° <1/<12' | <11/<12° | <14/<16" | <14 1<15875/<16] <19 /<24'[<19 /<24'| <32 <32 <38 <38 <48
K 25 25 34 34 40 40 50 50 60 60 85
5 ° 30 30 50 50 80 80 110 110 130 130 180
6 ° 35 35 8 8 4 4 5 5 6 6 6
7’ 42 42 60 60 90 90 15 115 142 142 190
8 ° 29.5 29.5 19 19 17 17 19.5 19.5 22.5 22.5 29
9 ° 90.5 99.5 11.5 126.5 152.5 165 191.5 205 235.5 254.5 323.5
€10 * 8.75 8.75 13.5 13.5 10.75 10.75 13 13 15 15 20.75
B1 no 5 5 6 10 12 16 20
HA1 15 18 24.5 35 43 59 79.5
X _ W16x0.8x W22x1.25x W32x1.25x W40x2x W55x2x | W70x2x
DIN5480 30x18x6m 30x16x6m 30x24x6m 30x18x6m 30x26x6m| 30x34x6m

31



VB Series planetary gearbox
RAVFTEREEYL

FEATURES
= R

TRERSHMRA— AR,
BRBA A
FRERAHERI,
AT DR S5 S LRSS,
HR RS ARE SRR K EIHRCE2,
IBEAB R BT BE R 9D

#5731 MESNE DR ENI,
MIEBRENEH RERS,

BN S DA R ATUAHE R,
BB A B3 F N OB B0 E S 38

Planetary boom and output shaft are intergrated
structure designed to ensure maximum torsional rigidity.

Planetary wheel with full needle design,increase the contact
area to improve the rigidity and output torque.

The gears are carburized and quenched to the HRC62 with low
carbon steel surface for optimum wear and impact toughness.

Gears refer to foreign imported software-assisted design
to obtain the best tooth shape to reduce noise.

The input terminal is connected to the motor shaft in a double-tight
manner to obtain the maximum clamping force and zero
backlash power transmission.

32



GENERAL NOTICES

1T 58 %D

M, BS. H#HiE

AR EE 3 0 A
IRREEAR
HERTEOIMA R

AN FRFAN R

DA BB STEZRGAMR T

Type, model and torque

Ratio or output speed

Working conditions and connection methods
Quantity and installed machine name

Input mode and input speed

Motor brand model or flange and motor shaft size

33



PLANETARY GEARBOX

TR REE R /Performance

Mg v
Specification Unit
U h%E N
Rated output torqueTZN

2.2 #0 %5 /Emergency stop torque T2nOT Nm

BT N\ % 3 /Rated input speed NN
rom

& KH N Maximum iutput speed N1B

#78% B /Standard backlashP2 arcmin

145 FI M /Torsional rigidity

1R [ F1/Allowable radial forceFzas N
214 18 J1/Allowable axial force Fzas N
% & /Lifespan hr

K [Efficiency %

&2 /Weight kg

{8 AR /Working temperature °C

JE38 ILubricating
B3P 4% /1P Grade
223 77 18] /Installation direction

1% 218 (n1=3000rpm, & 71 £{)
Noise level (n1 =3000rpm off load) dB(A)

Nm/arcmin

ik

Stage

1,2
1,2
1.2

1.2
1,2
1.2
1.2

1.2
1,2
1,2
1.2
1.2

i
3
4
5
6
7

8
10
15
20
25
30
356
40
50
60
70
80
100
3~100
3~100
3~100
3~10

VB042
20
19
22
20
19
17
14
20
19
22
20
19
17
22
20
19
17
14

5000
10000
<12

15~100 <16

3~100
3~100
3~100
3~100
3~10

3
780
390

15~100

3~10

0.6

15~100 0.7

3~100

3~100
3~100
3~100

34

VB060
55
50
60
B
50
45
40
BB
50
60
55
50
45
60
55
50
45
40

5000
10000
<b
<8

7
1530
765

1.5
1.6

VB090
130
140
160
150
140
120
100
130
140
160
150
140
120
160
150
140
120
100

4000
8000
<b
<8
14
3250
1625

3.7
4.2

VB116  VB140  VB180
208 342 588
290 542 1050
330 650 1200
310 600 1100
300 550 1100
260 500 1000
230 450 900
208 342 588
290 542 1050
330 650 1200
310 600 1100
300 550 1100
260 500 1000
330 650 1200
310 600 1100
300 550 1100
260 500 1000
230 450 900
= {55 E B H 1 4B Triple rated output torque

4000 3000 3000
8000 6000 6000
<b <b <b
<8 <8 <8
25 50 145
6700 9400 14500
3350 4700 7250

20000

=97%

=94%

7.8 16 36
11 17 37

-10°C ~90°C
& AL 98 5 B /Synthetic lubricating grease
IP65
£ = 77 [ /In any direction
<63 <65 <67

<58

<60

VB220
1140
1700
2000
1900
1800
1600
1500
1140
1700
2000
1900
1800
1600
2000
1900
1800
1600
1500

2000
4000
<5
<8
225
50000
25000

B8
54



ROTATIONAL INERTIA OF

DUCER

o FUERVIENHEE

Spg:ffigcanon B j}ge RE L VB042  VBOBO  VB0O9O  VB115  VB140  VB180  VB220

3 0.053 0.22 1.2 5.3 20 44 90

4 0.041 0.17 0.95 4.1 15 28 62

5 0.036 0.16 0.86 3.6 14 22 52

1 6 0.034 0.15 0.82 8.8 13 18 47

7 0.032 0.14 0.79 3.2 12 16 42

8 0.031 0.14 0.77 3.1 12 15 40

10 0.03 0.14 0.75 3 11 14 38

15 0.035 0.14 0.72 2.8 11 12 36

) 51 kg + cm? 20 0.034 0.13 0.72 2.8 11 12 35

otational inertia J1 25 0.034 0.13 0.71 2.8 11 12 35

30 0.03 0.13 0.7 2.7 10 11 34

35 0.034 0.13 0.71 2.7 11 12 35

2 40 0.03 0.13 0.7 2.7 10 11 33

50 0.03 0.13 0.69 2.7 10 11 &3

60 0.03 0.13 0.69 2.7 10 11 33

70 0.03 0.13 0.69 2.7 10 11 83

80 0.03 0.13 0.69 2.7 10 11 33

100 0.03 0.13 0.69 2.7 10 11 &3

1R EE (i=Nin/Nout ) 2. B RANIE F14E T28 =60% of Tanot 3.8 # % 100rpm fEAFH L /OB
1. Ratio ( i=Nin/Nout ) 2. Maximum acceleration torque T28 =60% of Tanot 3. Output speed100rpm,acting on the center of the output shaft

35



B )\

oLl c8 oc7
gw/' L7 - 12 gw/,
. o % L5 16
CFSRRO
A= ¢ b J 20 | §
Syl )
= I © ©
HE g - B %;
D) (6 C2 7

17/

2036 L9
HERS 1 CRH,
o R~F (&Y, FMELEI=3~10)

Dimension(single stage,Ratio i=3~10)

Rt IDimension VB060 VB090 VB115 VB140 VB180 VB220
D1 70 100 130 165 215 250
D2 5.5 6.6 9 11 13.5 17
D36 16 22 32 40 55 75

D4 g6 50 80 110 130 160 180
D5 18 30 40 50 70 85
D6 M5*0.8P M8*1.25P M12%1.75P M16%*2.0P M20*2.5P M20*2.5P
D7 80 116 152 185 240 290
L1 60 90 115 140 180 220
L2 37 48 60 95 105 138
L3 7 10 7 13 20 30
L4 15 15 2 3 3 3
L5 25 32 40 63 70 90
L6 2 3 5 5 6 7
L7 6 8 10 12 15 20
L8 4.8 7.2 10 12 15 15
L9 12.5 19 28 36 42 42
C1 70 90 9 145 145 200 200 200 235
C2 M4 M5 M5 M8 M8  M12 M12%1.75P M12*1.75P M12*%1.76P
C3 <14 <19 <19 <24 <24 <35 <35/<42 <42 <42/<55
ca 315 41 41 59 60 81 81 114 117
C5 50 70 70 110 110 1143 114.3 114.3 200
C6 5 5 6 14 14 19 19 24 20
c7 60 80 80 130 130 180 180 180 220
cs 115 128 145 163 199.5 2215 279 318 377

B1h9 5 6 10 12 16 20
H1 18 245 35 43 59 79.5

36



i S B\%
oLl c8 ot
5 (LT 12 5
é L3 /{ I
—}; , o)
i I _ | L5 16 @ @@
I A 53 - { 2 é \ ‘ ;
e
06 L 14 © ©
e et
§ - (6 (2 C
< c4 A V 3
7 z 18
aD3jb 19
RS 1 A
o R~F (XA, Rkt i=15~100)

Dimension(double stage,Ratio i=15~100)

R.~F IDimension VB042 VB060 VB090 VB115 VB140 VB180 VB220
D1 - 70 100 130 165 215 250
D2 - 5.5 6.6 9 11 13.5 17
D36 - 16 22 32 40 55 75
D4 g6 - 50 80 110 130 160 180
D5 - 18 30 40 50 70 85
D6 - M5*0.8P M8*1.25P  M12%1.75P  M16*2.0P  M20*2.5P  M20%*2.5P
D7 - 80 116 152 185 240 290
L1 - 60 90 115 140 180 220
L2 - 37 48 60 95 105 138
L3 - 7 10 7 13 20 30
L4 - 1.5 1.5 2 3 3 3
L5 - 25 32 40 63 70 90
L6 - 2 3 5 5 6 7
L7 - 7 8 10 12 15 20
L8 - 4.8 7.2 10 12 15 15
L9 - 12.5 19 28 36 42 42
c1 - 70 90 70 90 145 90 145 145 200 200
c2 - M4 M5 M4 M5 M8 M5 M8 M8*1.25P M12%1.75P  M12%1.75P
c3 - <14 <19 <14 <19 <24 <19 <24 <24/<28 <35 <42
ca - 315 41 315 41 59 41 60 66 80 114
c5 - 50 70 50 70 110 70 110 110 114.3 1143
e - 5 5 5 6 14 6 14 10 9 24
c7 - 60 80 60 80 130 80 130 130 180 180
cs - 1415 1545 1625 179 197 214 2445 340 352.5 4415
B1h9 - 5 6 10 12 16 20
H1 - 18 24.5 35 43 59 79.5

37



Series planetary gearbox
RANITERIERL

FEATURES
= ot

TEBRSHNBXA—GFINEWRT, HBESKOBERME,
TERXAHRINT, BinEmERMIESERR NS E HEE,
WHRBIRBENRESHEKEIHRC2, KGR G0 BE R % H 3,
S S| AESMNE OREHEBIRIT, DIRBRENSEHEERIERS,
BN S SIAEERARAEE AR, MRBEARHIK
ZEHABERAN S FiE

RARELERIRIT, SIFHHASS. LESERS30% ML,
EATRMAEE, LECERRMASSEMU L,

WA R NS, SRERMLRT, BMEEREY—, SEEHK,
R PERIE, ééf‘%iiﬂi%%ﬁ’fﬁ‘—ﬁf‘”f%

HElEEE, WHRSBENZEETR,

Planetary boom and output shaft are intergrated
structure designed to ensure maximum torsional rigidity.

Planetary wheel with full needle design,increase the contact
area to improve the rigidity and output torque.

The gears are carburized and quenched to the HRC62 with low carbon
steel surface for optimum wear and impact toughness.

Gears refer to foreign imported software-assisted design to
obtain the best tooth shape to reduce noise.

The input terminal is connected to the motor shaft in a double-tight manner
to obtain the maximum clamping force and zero backlash power transmission.

Adopt spiral bevel gear design, allow high output torque,
more than 30% higher than straight bevel gear.

High tolerance input speed, more than 8 times
higher than straight bevel gear input.

The meshing tooth imprint of spiral bevel gear has been optimized
by optimum design, and the contact tooth surface load is uniform, and long running life.

Cochlear bevel gears are meshed by optimum motion error analysis and
strict process control to ensure high precision running back clearance.

38



GENERAL NOTICES

1T 58 m4En

HE, BS. HiE

TR EE S 0 R
TREEETR
BERRENVMNE R
ADFAFND F&E

DR BB S EZRGEMR T

Type, model and torque

Ratio or output speed

Working conditions and connection methods
Quantity and installed machine name

Input mode and input speed

Motor brand model or flange and motor shaft size

39



R LM 88 B Bl /Performance

Speiﬂic’%ﬁon %rﬁ ;‘?}36 ﬁRi;?ﬁtot VBRO42  VBRO60  VBRO9)  VBR115  VBR140  VBRI180
3 - 36 90 195 342 588
4 = 48 120 260 520 1040
5 - 60 150 325 650 1200
6 = bb 150 310 600 1100
] 7 - 50 140 300 550 1100
8 - 50 140 b42 1050
10 - 60 160 330 650 1200
12 = bb 150 310 600 1100
14 - 50 140 300 550 1100
20 = 40 100 230 450 900
15 - bb 130 208 342 588
25 = 60 150 325 650 1200
S - 30 - 55 150 310 600 1100
Rated outputtorqueTZN 35 - 50 140 300 550 1100
40 - 50 140 290 542 1050
50 = 60 160 330 650 1200
60 - 55 150 310 600 1100
9 70 = 50 140 300 550 1100
80 - 50 140 290 542 1050
100 - 60 160 330 650 1200
120 - 55 150 310 600 1100
140 = 50 140 300 550 1100
160 - 45 120 260 500 1000
200 = 40 100 230 450 900
% {83148 [Emergency stop torqueTanoT Nm 1,2 3~200 = {51 F H ) 1 4B /riple rated output torque
HUE B\ H3E/Rated input speed NN rpm 1,2 3~200 5000 5000 4000 4000 3000 3000
BRB AR Maximum iutput speed N 18 rom 1,2 3~200 10000 10000 8000 8000 6000 6000
o5 B /Standard backlash P2* arcmin ! 8~20 ) =10 =10 =10 =10 =10
2 15~200 - <13 <13 <13 <13 <13
H # R4 /Torsional rigidity Nm/arcmin 1,2 3~200 = 7 14 25 50 145
VR 71 /Allowable radial force Foas N 1.2 3~200 780 1530 3250 6700 9400 14500
V74 11/Allowable axial force Fzss N 1,2 3~200 390 765 1625 3350 4700 7250
fE %6 /Lifespan hr 1,2 3~200 20000 *
E [Efficiency % ! 3~20 95%
2 25~200 92%
ER Weight kg 1 3~20 = 2.1 6.4 13 24.5 51
2 25~200 - 1.5 7.8 14.2 27.5 54
& FA SR /Working temperature °C 1,2 3~200 (=10° C +90° C)
878 ILubricating & Al 5 38 BE /Synthetic lubricating grease
B35 %4 /IP Grade 1,2 3~200 IP65
%2 3% 77 14 /Installation direction 1,2 3~200 £ & 75 18] /in any direction
o e ) dB(A) 1,2 3~200 - <63 <65 <68 <70 <72
(% “x” PIHEH S5 T2 IT#iA/Need confirm with our engineer for those precision data with *
TRV 3% 1R = /Rotational inertia
o ﬂiﬁaﬁon %}% ;‘fa%e @i‘%g VBR042 VBROGO VBROSO  VBR115  VBR142 VBR180
3~10 009 035 225 684 234 689
1 12, 14 0.035 0.07 1.87 6.25 21.8 65.6
AR R eI 20 0.03 0.07 1.87 6.25 21.8 65.6
Rotational inertia J1 15 0.09 0.35 2.25 6.84 23.4 68.9
2 25~100 0.09 0.09 0.35 2.25 6.84 23.4

120~200 0.007 0.01 0.31 1.87 6.25 21.8

40



i )3 (INPUT)

act

ﬁ —
A

45|

(€

$C2

14

R~F (8%, ‘&L i=3~20)

Dimension(single stage,Ratio i=3~20)

R~F/Dimension
D1
D2ie
D3gs
D4
Db
D6
L1
L2
L3
L4
Lb
L6
L7
L8
L9
L10
C1
C2
C3
Cdacs
Cbeas
C6
C7
Cs8
C9
C10
B1
H1

VBR042

41

1|18 =
16 l
> ol <
A
1y s g
110 C566
VBR060 VBR090 VBR115
M5 M8 M12
16 22 32
50 80 110
70 100 130
4% $5.5 4% $6.6 4% $9
80 116 152
7 10 7
37 48 60
60 90 115
149.5 203 266.5
28.5 36.5 51
6 8 10
3 3 5
25.3 32 40
4 6 10
13 20 28
60 80 130
70 90 145
4x M4 4 xMb 4xM8
14 19 24
50 70 110
3.5 6 14
35 54 81
104.5 147 194.5
24.2 29.5 45
9.5 14.5 27
5 6 10
18 24.5 35

s 35(OUTPUT)

u]

[

il

|

%EXJ S

NS

VBR140
M16
40
130
165
4x $11
185
13
95
140
359
79
12
5
63
16
36
180
200
4xM12
35
114.3
19
81
250.5
57
32
12
43

VBR180



5 A3 (INPUT)
act

45|

L4

N
W

L§

903
@02

-ﬂr
=

¢C2

L6

)

L9

L10

o R~ (WA, RELE i=15~200)
Dimension(double stage,Ratio i=15~200)

=T /Dimension
D1
D2
D3
D4
Db
D6
L1
L2
L3
L4
L5
L6
L7
L8
L9
L10
C1
C2
C3
Cdlcs
Cbhas
C6
C7
Cs8
C9
C10
B1
H1

VBR042

VBRO60
M5
16
50
70
4x $5.5

80

7

37
60
181.5
28.5

263

13
60
70
4 x M4
14
50
3.5
35
104.5
24.2
9.5

18

v

08

# H3%(OUTPUT)
aL3
g $D6
2
i . ons

- S 1"
3 © =
= (466
$C566

VBR090 VBR115 VBR140 VBR180
M8 M12 M16 -
22 82 40 =
80 110 130 -
100 130 165 -
4x $6.6 4x 9 4x 11 -
116 152 185 =
10 7 13 -
48 60 95 =
90 115 140 -
240.5 290 431 =
36.5 51 79 -
8 10 12 =
3 5 5 -
32 40 63 =
6 10 16 -
20 28 36 -
80 130 180 -
90 145 200 =
4 xMb 4xM8 4xM12 -
19 24 35 =
70 110 114.3 -
6 11.5 19 =
54 67 81 -
147 175.5 250.5 =
29.5 42.5 57 -
14.5 27 32 =
6 10 12 -
24.5 35 43 =

42



D Series planetary gearbox
1{ & RA1TEBIEY]

FEATURES
7= ot

TRERSHHHRA—EREHIRHT,
T RIBA OB F )
TRERBIRERIL,

N RTAR SRR S5 HORI P S H  RE
545 R PR B AR TS B K BIHRCA2,
ISR B ¢$Wﬁo

Wi S| BESMN O A HBNIRIT,
PR GRAEN SRR S,

BN S LIAHEERAIBEE TR,
MR A8k BN B E RN %%

Planetary boom and output shaft are intergrated
structure designed to ensure maximum torsional rigidity.

Planetary wheel with full needle design,increase the contact
area to improve the rigidity and output torque.

The gears are carburized and quenched to the HRC62 with low
carbon steel surface for optimum wear and impact toughness.

Gears refer to foreign imported software-assisted design
to obtain the best tooth shape to reduce noise.

The input terminal is connected to the motor shaft in a double-tight
manner to obtain the maximum clamping force and zero
backlash power transmission.

43



44

GENERAL NOTICES

1T 58 A0

Wi, BS. HiE

R EE B HY 7 i A R
ITREREERR
HERTROVME IR
ANAFRFINF R

DX RE SEEZ R DKM R ~F

Type, model and torque

Ratio or output speed

Working conditions and connection methods
Quantity and installed machine name

Input mode and input speed

Motor brand model or flange and motor shaft size



AD Series

i % | moEtt | AD047 | AD064 | AD090 | AD110 | AD140 | AD200 | AD255
4 19 48 130 270 560 1,100 | 1,700
5 22 60 160 330 650 1,200 | 2,000
1 7 19 50 140 300 550 1,100 | 1,800
10 14 40 100 230 450 900 1,500
20 19 48 130 270 560 1,100 | 1,700
25 22 60 160 330 650 1,200 | 2,000
35 19 50 140 300 550 1,100 | 1,800
40 19 48 130 270 560 1,100 | 1,700
50 22 60 160 330 650 1,200 | 2,000
70 19 50 140 300 550 1,100 | 1,800
BEME 5 T Nm 2 100 14 40 100 230 450 900 1,500
16 19 48 130 270 560 1,100 | 1,700
21 22 60 160 330 650 1,200 | 2,000
31 19 50 140 300 550 1,100 | 1,800
61 19 50 140 300 550 1,100 | 1,800
91 14 40 100 230 450 900 1,500
SEHE Ta® Nm 1,2 4~100 3fETMER L HE
FERMNERE Ny rpm 1,2 4~100 | 5,000 | 5,000 | 4,000 | 4,000 | 3,000 | 3,000 | 2,000
BARBNGEE ng rpm 1,2 4~100 | 10,000 | 10,000 | 8,000 | 8,000 | 6,000 | 6,000 | 4,000
o AL s . 1 4~10 - - <1 <1 <1 <1 <1
BREZESKE PO arcmin > 20=100 - - . = = = =
i iy aremin 1 4~10 <3 <3 <3 <3 <3 <3 <3
2 20~100| <5 <5 <5 <5 <5 <5 <5
— i dE s . 1 4~10 <5 <5 <5 <5 <5 <5 <5
mRERR P2 aremin 5 1 50~100 | <7 <7 <7 <7 <7 =7 =7
AR Nm/arcmin| 1,2 4~100 7 13 31 82 151 440 1,006
AT NI M, Nm 1,2 4~100| 55 75 190 300 1,300 | 2,930 | 5,500
BFMES  F° N 1,2 4~100 | 990 1,050 | 2,850 | 2,990 | 10,590 | 16,660 | 29,430
— y 1 4~10 >97%
o 2 20~100 >94%
1 4~10 0.7 1.2 3.0 5.6 11.9 31.6 56.1
Ep kg 5 20~100| 1.0 1.6 3.7 7.3 15.9 36.9 70.4
16~91 1.0 1.4 3.5 6.5 15.5 34.2 67.2
ERRE °C 1,2 4~100 -10°C~90°C
B & B3 8 h Be
B3P % R 1,2 4~100 IP65
REHME 1,2 4~100 FEEHE
BEE dB(A) | 1.2 | 4~100] <56 <58 <60 | <63 | <65 <67 <70
BIRVENIRE
Mg T BIREE | AD047 | AD064 | AD090 | AD110 | AD140 | AD200 | AD255
4 0.03 0.14 0.51 2.87 754 | 25.03 | 58.31
. 5 0.03 0.13 0.47 2.71 7.42 | 23.29 | 53.27
7 0.03 0.13 0.45 2.62 714 | 22.48 | 50.97
10 0.03 0.13 0.44 2.57 7.03 | 22.51 | 50.56
20 0.03 0.03 0.13 0.47 2.71 7.42 | 23.29
25 0.03 0.03 0.13 0.47 2.71 7.42 | 23.29
35 0.03 0.03 0.13 0.47 2.71 7.42 | 23.29
= . 40 0.03 0.03 0.13 0.44 2.57 7.03 | 22.51
RN IR E kg - om 50 003 | 003 | 013 | 044 | 257 | 7.03 | 22.51
) 70 0.03 0.03 0.13 0.44 2.57 7.03 | 22.51
100 0.03 0.03 0.13 0.44 2.57 7.03 | 22.51
16 0.03 0.03 0.13 0.47 2.71 7.42 | 23.29
21 0.03 0.03 0.13 0.47 2.71 7.42 | 23.29
31 0.03 0.03 0.13 0.44 2.57 7.03 | 22.51
61 0.03 0.03 0.13 0.44 2.57 7.03 | 22.51
91 0.03 0.03 0.13 0.44 2.57 7.03 | 22.51

45




(1-31% ,Ratioi=4a~10)/ AD Series

Cc9

L4 L6 L8 Cc8
L3 AR 10
L10x45°
Sk
[SE ] [‘ i**
) N :
saasd LI e

is Al

//8 =

/ H\

Flange Dimensions j § o 8PRing ce
according to ISO 9409 c4
AD064-AD255
[# fi: mm]

R~f ADO047 ADO064 AD090 AD110 AD140 AD200 AD255
D1 w7 12 20 31.5 40 50 80 100
D2 20 31.5 50 63 80 125 140
D37 28 40 63 80 100 160 180
D4 w7 47 64 90 110 140 200 255
D5 67 79 109 135 168 233 280
D6 4xM3x0.5P | 7xM5x0.8P 7xM6x 1P 11 xM6 x1P |11 x M8 x 1.25P|11 x M10 x 1.5P| 12 x M16 x 2P
D7 72 86 118 145 179 247 300
D8 w7 3 5 6 6 8 10 12
D9 45.5 55 77 90 113 138 175
D10 8x3.4 8x4.5 8x5.5 8x5.5 12x6.6 12x9 16x13.5
D11 w7 60 70 95 120 152 212 255
D12 46.2 63.2 89.2 109.2 139.2 199.2 254.2
L1 4 8 12 12 12 16 20
L2 6.5 8 13.5 13.5 17 22.5 30.5
L3 3 3 6 6 6 8 12
L4 19.5 19.5 30 29 38 50 66
L5 7 7 10 10 14.6 15 20
L6 4 4 7 8 10 12 18
L7 5 7.7 8 10 12 15 20
L8 18.5 28.5 27 37 62 69.5 82
L9 4 6 7 7 7 10 10
L10 0.5 0.5 1 1 1 1 1
c1' 46 70 100 130 165 215 235
c2' M4 x 0.7P M5 x 0.8P M6 x 1P M8 x 1.25P M10 x 1.5P M12x1.75P | M12x1.75P
Cc3' <11/ =<12° <14/ <16° <19/ <24 <32 <38 <48 <55
c4' 30 34 40 50 60 85 116
C5' 30 50 80 110 130 180 200
C6' 3.5 8 4 5 6 6 6
c7' 48 60 90 115 142 190 220
cg' 19.5 19 17 19.5 22.5 29 63
Cc9' 70 82.5 99.5 121.5 151 199.5 256.5
c10' 13.25 13.5 10.75 13 15 20.75 53.5
oD 56 x2 66 x 2 90x3 110x3 145x 3 200x5 238x5

46




(2-%

c9

==

TJ

,Ratioi=20~100) / AD Series

L4 L6 L8 C8,
L3 AN .c10
L10x45°
Es I
i .
: 0 ([ é
14 o (IR
o o 5 Y S o T ! | @ o v £
85§38¢88§43,; B 111 7**5 IR
E LI
/ 0 ) %
/8 L
/ | ]
] \
Flange Dimensions ol |2 cé
S ot o
[#4z: mm]
R~ AD047 AD064 ADO090 AD110 AD140 AD200 AD255
D1 w7 12 20 31.5 40 50 80 100
D2 20 31.5 50 63 80 125 140
D3 w7 28 40 63 80 100 160 180
D4 v7 47 64 90 110 140 200 255
D5 67 79 109 135 168 233 280
D6 4 xM3x0.5P|7xM5x0.8P 7xM6 x 1P 11 x M6 x1P |11 xM8 x 1.25P|11 xM10x 1.5P| 12 x M16 x 2P
D7 72 86 118 145 179 247 300
D8 w7 3 5 6 6 8 10 12
D9 45.5 45.5 53.4 77 102 125 160
D10 8x3.4 8x4.5 8x5.5 8x5.5 12x6.6 12x9 16x13.5
D11 w7 60 70 95 120 152 212 255
D12 46.2 63.2 89.2 109.2 139.2 199.2 254.2
L1 4 8 12 12 12 16 20
L2 6.5 8 13.5 13.5 17 22.5 30.5
L3 3 3 6 6 6 8 12
L4 19.5 19.5 30 29 38 50 66
L5 7 7 10 10 14.6 15 20
L6 4 4 7 8 10 12 18
L7 5 7.7 8 10 12 15 20
L8 54.5 65 60 87.5 110 132.5 148
L9 4 6 7 7 7 10 10
L10 0.5 0.5 1 1 1 1 1
c1® 46 46 70 100 130 165 215
c2 M4 x 0.7P M4 x 0.7P M5 x 0.8P M6 x 1P M8 x1.25P | M10x1.5P | M12x 1.75P
c3® <11/ =12 <11/ =12 <14/ <15.875/ <16 <19/ <24 <32 <38 <48
c4’ 30 30 34 40 50 60 85
(o1} 30 30 50 80 110 130 180
C6° 3.5 3.5 8 4 5 6 6
c7 48 48 60 90 115 142 190
csg’ 19.5 19.5 19 17 19.5 22.5 29
c9’ 97.5 108 134 160 204 248 311.5
c10° 13.25 13.25 13.5 10.75 13 15 20.75
oD 56 x 2 66 x 2 90 x 3 110x 3 145x 3 200x5 238 x5

47




Series planetary gearbox
E/E‘ﬁ*ﬂd

FEATURES
=S

TEEBRSANMXA—AIEWRT, HBESKOEERME,

TERXAHERERT, MNEmERUIRS S HRESHHEE,

SRR B RESNR IS 5H0R K BIHRC2, ISR R B Ko HH 14,

WS BESME DR AEEIRTT, MRSHEENERRERIES,

NG S DI EERARBEE AR, MIRBEKHIK

ENHMBERAEIEZE,

RABLGEERIRIT, AFHHEES. LEPERE30% M E,
BFRARE, EECERBASSEMLE,

RECER NS N, SREMRMKRTT, Bl

RECERIE, EREEHRENMMT ST
HFRERRG, MARSBENEEER,

Planetary boom and output shaft are intergrated
structure designed to ensure maximum torsional rigidity.

Planetary wheel with full needle design,increase the contact
area to improve the rigidity and output torque.

The gears are carburized and quenched to the HRC62 with low carbon
steel surface for optimum wear and impact toughness.

Gears refer to foreign imported software-assisted design to
obtain the best tooth shape to reduce noise.

The input terminal is connected to the motor shaft in a double-tight manner
to obtain the maximum clamping force and zero backlash power transmission.

Adopt spiral bevel gear design, allow high output torque,
more than 30% higher than straight bevel gear.

High tolerance input speed, more than 8 times
higher than straight bevel gear input.

The meshing tooth imprint of spiral bevel gear has been optimized
by optimum design, and the contact tooth surface load is uniform, and long running life.

Cochlear bevel gears are meshed by optimum motion error analysis and
strict process control to ensure high precision running back clearance.




1T 5

Mlih, BES. HE

R EE B B A iR
ITREREERR
HERTHEONHE IR

ANA RTINS &

DR HME S HEZRIKHR

Type, model and torque

Ratio or output speed

Working conditions and connection methods
Quantity and installed machine name

Input mode and input speed

Motor brand model or flange and motor shaft size

49



ADR Series

Mg TH A% |ADR047|ADR064|ADR090|ADR110[/ADR140|ADR200|ADR255
4 19 48 130 270 560 1,100 | 1,700
5 22 60 160 330 650 1,200 | 2,000
1 7 19 50 140 300 550 1,100 | 1,800
10 14 60 160 325 650 1,200 | 2,000
14 - 42 140 300 550 1,100 | 1,800
20 - 40 100 230 450 900 1,500
20 19 - - - - - -
HIEME NS Tn| Nm 25 22 60 160 330 650 1,200 | 2,000
35 19 50 140 300 550 1,100 | 1,800
40 19 48 130 270 560 1,100 | 1,700
2 50 22 60 160 330 650 1,200 | 2,000
70 19 50 140 300 550 1,100 | 1,800
100 14 40 100 230 450 900 1,500
140 - - 140 300 550 1,100 | 1,800
200 - - 100 230 450 900 1,500
%1%‘ H%E TZNOTB(Z' Nm 1,2 4~200 3 ﬁ;lzgﬂigﬁﬁjjjiﬁ
FEMNEIR Ny rpm 1,2 4~200 | 5,000 | 5,000 | 4,000 | 4,000 | 3,000 | 3,000 | 2,000
RABNEIR ng rpm 1,2 4~200 | 10,000 | 10,000 | 8,000 | 8,000 | 6,000 | 6,000 | 4,000
1 4~20 - - < <2 <2 <2 <2
Ey:_l":db ik PO .
AmE NN aremin T 25200 | - - =4 =4 ) =4 )
WA P arcmin 1 4~20 <4 <4 <4 <4 <4 <4 <4
2 25~200 <7 <7 <7 <7 <7 <7 <7
N 1 4~20 <6 <6 <6 <6 <6 <6 <6
TAESE P2 i
RRER aremin T 25~200 | =9 <9 =9 <9 <9 <9 <9
H N Nm/arcmin| 1,2 4~200 7 13 31 82 151 440 1,006
BATHNE M, Nm 1,2 4~200 55 75 190 300 1,300 | 2,930 | 5,500
FIFWMEN FL° N 1,2 4~200 | 990 1,050 | 2,850 | 2,990 | 10,590 | 16,660 | 29,430
) 1 4~20 >95%
W] =R 0,
Mz N % 2 25~200 >92%
= 1 4~20 1.1 2.1 5.9 10.5 21.9 50.9 85.4
£ kg
2 25~200 1.4 1.9 45 9.8 20.1 45.4 85.9
FERRE °C 1,2 4~200 -10°C~90°C
EE & [E5E 78 5 BE
B 4P 2 2% 1,2 4~200 IP65
REFE 1,2 4~200 FEAE
BREE dB(A) | 1,2 | 4~200| <61 <63 | <65 | <68 | =70 [ =72 <74
WIRHFENIRE
g T W iREL |ADR047 |ADR064|ADR090(ADR110{ADR140(ADR200|ADR255
4~10 0.09 0.35 2.25 6.84 23.4 68.9 135.4
14 - 0.31 1.87 6.25 21.8 65.6 119.8
1
20 - 0.31 1.87 6.25 21.8 65.6 119.8
®EREJ kg - cm’
20 0.09 - - - - - -
25~100 | 0.09 0.09 0.35 2.25 6.84 23.4 68.9
2
140~200 - - 0.31 1.87 6.25 21.8 65.6

50




L10x45°

(1-51% ,Ratioi=4~20)/ ADR Series

L8

L4 L

6

L3 L5

@D7

o8,
L9 Dep.

D5
D4,
D12
D3,
D2

>

v ¥

D6 \\* 201,
>

|

/

[m[ey4

Il

Flange Dimensions J
according to ISO 9409
ADRO064-ADR255

@D10

C4

Cc9

[& 42 mm]
R~r ADRO047 ADRO064 ADRO090 ADR110 ADR140 ADR200 ADR255
D1 w7 12 20 31.5 40 50 80 100
D2 20 31.5 50 63 80 125 140
D3 w7 28 40 63 80 100 160 180
D4 w7 47 64 90 110 140 200 255
D5 67 79 109 135 168 233 280
D6 4xM3x0.5P | 7xM5x0.8P | 7xM6x1P 11 xM6 x1P |11 x M8 x 1.25P|11 x M10 x 1.5P| 12 x M16 x 2P
D7 72 86 118 145 179 247 300
D8 w7 3 5 6 6 8 10 12
D10 8x3.4 8x4.5 8x5.5 8x5.5 12x6.6 12x9 16x13.5
D12 46.2 63.2 89.2 109.2 139.2 199.2 254.2
L1 4 8 12 12 12 16 20
L2 6.5 8 13.5 13.5 17 22.5 30.5
L3 3 3 6 6 6 8 12
L4 19.5 19.5 30 29 38 50 66
L5 7 7 10 10 14.6 15 20
L6 4 4 7 8 10 12 18
L8 107.5 126 172.5 201 263.5 334.5 392
L9 4 6 7 7 7 10 10
L10 0.5 0.5 1 1 1 1 1
c1' 46 70 100 130 165 215 235
c2' M4 x 0.7P M5 x 0.8P M6 x 1P M8 x 1.25P M10x1.5P | M12x1.75P | M12x1.75P
[0k} =11/=<12 <14/ <16 <19/ <24 <32 <38 <48 <55
c4' 30 34 40 50 60 85 116
C5' 30 50 80 110 130 180 200
C6' 3.5 8 4 5 6 6 6
c7' 48 60 90 115 142 190 220
c8' 19.5 19 17 19.5 22.5 29 63
c9' 104.25 116.5 159.5 199 2455 316 398.5
c10' 13.25 13.5 10.75 13 15 20.75 53.5
c11' 74 81.5 107.5 134 164.5 213.5 268.5

51




(2-stage, Ratioi=25~200) / ADR Series

L8

L4

L6

L3

L10x45°

@D7

@D8,
L9 Dép.

D5
D4,
@D12
203,

@D2

L]

D6 \\\ 201,
!

/

/

I

Flange Dimensions j
according to ISO 9409

ADRO064-ADR255

L2

[ 42 mm]
R~ ADRO047 ADRO064 ADRO090 ADR110 ADR140 ADR200 ADR255
D1 w7 12 20 31.5 40 50 80 100
D2 20 31.5 50 63 80 125 140
D317 28 40 63 80 100 160 180
D4 v 47 64 90 110 140 200 255
D5 67 79 109 135 168 233 280
D6 4xM3x0.5P|7xM5x0.8P 7xM6 x 1P 11 x M6 x1P |11 x M8 x 1.25P |11 x M10 x 1.5P |12 x M16 x 2P
D7 72 86 118 145 179 247 300
D8 w7 3 5 6 6 8 10 12
D10 8x3.4 8x4.5 8x5.5 8x5.5 12x6.6 12x9 16x13.5
D12 46.2 63.2 89.2 109.2 139.2 199.2 254.2
L1 4 8 12 12 12 16 20
L2 6.5 8 13.5 13.5 17 22.5 30.5
L3 3 3 6 6 6 8 12
L4 19.5 19.5 30 29 38 50 66
L5 7 7 10 10 14.6 15 20
L6 4 4 7 8 10 12 18
L8 122 132.5 163 217.5 269.5 333.5 403
L9 4 6 7 7 7 10 10
L10 0.5 0.5 1 1 1 1 1
c1? 46 46 70 100 130 165 215
c2 M4 x0.7P M4 x0.7P M5 x 0.8P M6 x 1P M8 x 1.25P | M10x1.5P | M12x1.75P
c3’ <11/ <12 <11/ =12 <14/ <15.875/ <16 <19/ <24 <32 <38 <48
c4’ 30 30 34 40 50 60 85
C5° 30 30 50 80 110 130 180
C6’ 3.5 3.5 8 4 5 6 6
c7’ 48 48 60 90 115 142 190
cs8’ 19.5 19.5 19 17 19.5 225 29
c9’ 103.25 108.25 128.25 166.5 209 269.5 340
C10? 13.25 13.25 13.5 10.75 13 15 20.75
c11? 74 74 81.5 107.5 134 164.5 213.5

52



ADS Series

Gearbox Performance

Model No. Stage Ratio® | ADS047 | ADS064 | ADS090 | ADS110 | ADS140 | ADS200 | ADS255
4 19 48 130 270 560 1,100 1,700
1 5 22 60 160 330 650 1,200 2,000
7 19 50 140 300 550 1,100 1,800
Nominal Output Torque T, Nm 10 14 40 100 230 450 900 1,500
16 19 48 130 270 560 1,100 1,700
21 22 60 160 330 650 1,200 2,000
2 31 19 50 140 300 550 1,100 1,800
61 19 50 140 300 550 1,100 1,800
91 14 40 100 230 450 900 1,500
Emergency Stop Torque T,.,:® Nm 1,2 4~91 3 times of Nominal Output Torque
Nominal Input Speed n,, rpm 1,2 4~91 5,000 5,000 4,000 4,000 3,000 3,000 2,000
Max. Input Speed n,, rpm 1,2 4~91 | 10,000 | 10,000 | 8,000 7,500 4,500 4,500 3,800
) ) 1 4~10 - - <1 <1 <1 <1 <1
Micro Backlash PO arcmin ) 16-91 - - - -3 Z -3 Z
. 1 4~10 <3 <3 <3 <3 <3 <3 <3
Reduced Backlash P1 arcmin ) 16-91 -5 -5 -5 -5 -5 -5 -5
1 4~10 <5 <5 <5 <5 <5 <5 <5
Standard Backlash P2 i
andard Bacidas aemn T [1e~e1 | =7 =7 | =7 =7 | =7 =7 | =7
Torsional Rigidity Nm/arcmin| 1,2 4~91 3 7 14 25 50 145 225
Max. Tilting Moment M, Nm 1,2 4~91 55 75 190 300 1,300 2,930 5,500
Max. Axial Load N 1,2 4~91 990 1,050 2,850 2,990 | 10,590 | 16,660 | 29,430
1 4~10 165 395 1,300 1,525 2,800 4,500 | 12,500
) c , , , , ,
input Max. Radial Load F,, N 2 | 16~91 | 165 165 | 395 | 1,300 | 1,525 | 2,800 | 4,500
Input Max. Axdial Load F,° N 1 4~10 580 1,000 1,100 980 2,700 4,700 8,000
2 16~91 580 580 1,000 1,100 980 2,700 4,700
- 1 4~10 >97%
Efficienc: 9
v % 2 | 16~91 ~94%
Weight kg 1 4~10 0.8 1.4 3.4 6.7 13.5 35.0 63.8
2 16~91 1.1 1.6 4.0 7.3 16.6 36.4 74.7
Operating Temp °C 1,2 4~91 -10°C~90°C
Lubrication Synthetic lubrication oils
IP Level 1,2 4~91 IP65
Mounting Position 1,2 4~91 all directions
Noise® dB(A) 1,2 4~91 <56 <58 <60 <63 <65 <67 <70
Gearbox Inertia
Model No. Stage | Ratio" | ADS047 | ADS064 | ADS090 | ADS110 | ADS140 | ADS200 | ADS255
4 0.06 0.21 0.87 3.65 10.27 43.05 | 102.68
5 0.06 0.21 0.83 3.53 10.17 41.76 99.12
1
7 0.06 0.21 0.82 3.47 9.99 41.15 97.41
10 0.06 0.21 0.81 3.45 9.93 40.97 97.03
Moments of Inertia J, kg - cm’ 16 0.06 0.06 0.21 0.83 3.53 10.17 41.76
21 0.06 0.06 0.21 0.83 3.53 10.17 41.76
2 31 0.06 0.06 0.21 0.83 3.53 10.17 41.76
61 0.06 0.06 0.21 0.81 3.45 9.93 40.97
91 0.06 0.06 0.21 0.81 3.45 9.93 40.97

53




(-84

L11

L4

L6, L8

,Ratioi=4~10) / ADS Series

L ~H - P16 pep.
L10x45°, L13 L12 on PCD @D16 VXZv
TR\ 0
~ ~ ~ :I =
EEEEEER e ;[gsg
i \
/ \
] : \
/ : \
! - L
Flange Dimensions | 3 |.L2 | \—OD Lis |l L14 8?11332/2
according to 1ISO 9409 [S) O-Ring
ADS064-ADS255
Blhe L17 L18
Ty =
AN S MIgEHE X S2 | ooy
[unit: mm]
Dimension ADS047 ADS064 ADS090 ADS110 ADS140 ADS200 ADS255
D1 w7 12 20 31.5 40 50 80 100
D2 20 31.5 50 63 80 125 140
D3 w7 28 40 63 80 100 160 180
D4 nr 47 64 90 110 140 200 255
D5 67 79 109 135 168 233 280
D6 4xM3x0.5P | 7xM5x0.8P 7 xM6 x 1P 11 xM6x 1P |11 x M8 x 1.25P |11 x M10 x 1.5P| 12 x M16 x 2P
D7 72 86 118 145 179 247 300
D8 w7 3 5 6 6 8 10 12
D9 43 55 78 100 125 175 210
D10 8x3.4 8x4.5 8x5.5 8x5.5 12x6.6 12x9 16x13.5
D11 w7 60 70 95 120 152 212 255
D12 31 22 22 30 40 75 95
D13 37 50 62 82 108 145 172
D14 M4 x 0.7P M4 x 0.7P M5 x 0.8P M8 x 1.25P M12 x 1.75P M16 x 2P M20 x 2.5P
D15 M3 x 0.5P M3 x 0.5P M4 x 0.7P M5 x 0.8P M6 x 1P M8 x 1.25P M8 x 1.25P
D16 51.5 61.5 84 107 137 193 235
D17 ke 11 14 16 22 32 40 55
D18 46.2 63.2 89.2 109.2 139.2 199.2 254.2
L1 4 8 12 12 12 16 20
L2 6.5 8 13.5 13.5 17 22.5 30.5
L3 3 3 6 6 6 8 12
L4 19.5 19.5 30 29 38 50 66
L5 7 7 10 10 14.6 15 20
L6 4 4 7 8 10 12 18
L7 5 7.7 8 10 12 15 20
L8 32.5 43.5 47 62 72 89.5 112
L9 4 6 7 7 7 10 10
L10 0.5 0.5 1 1 1 1 1
L11 89.5 110.5 138.5 170 218 296 372.5
L12 18 22 28 36 58 82 115
L13 2.5 2.5 3.5 3.5 3.5 4.5 4.5
L14 10 10 12.5 19 28 36 42
L15 1.5 1.5 1.5 1.5 1.5 1.5 1.5
L16 5.5 5.5 7 9 11 14 14
L17 2 2 3 3 6 6 7
L18 14 18 22 28 45 70 90
B1 o 4 5 5 6 10 12 16
H1 12.5 16 18 24.5 35 43 59
oD 56 x 2 66 x 2 90x3 110x3 145x3 200x5 238x5
\Y 4 4 4 4 6 6 6
Z 45 45 45 45 30 30 30

54



Output Dimensions

AD / ADR / ADS series

AD 047
ADR 047
ADS 047

12xD10

R~

AD 140 / AD 200
ADR 140/ ADR 200
ADS 140 / ADS 200

AD 064 / AD 090
ADR 064 / ADR 090
ADS 064 / ADS 090

AD 255
ADR 255
ADS 255

1xD8y;;

AD 110
ADR 110
ADS 110

1xD8y;;

[# fiz: mm]

AD047 ADO064 ADO090 AD110 AD140 AD200 AD255
R~t ADRO047 ADRO064 ADRO090 ADR110 ADR140 ADR200 ADR255

ADS047 ADS064 ADS090 ADS110 ADS140 ADS200 ADS255
D1 w7 12 20 31.5 40 50 80 100
D2 20 31.5 50 63 80 125 140
D3 w7 28 40 63 80 100 160 180
D4 n7 47 64 90 110 140 200 255
D5 67 79 109 135 168 233 280
D6 M3 x 0.5P M5 x 0.8P M6 x 1P M6 x 1P M8 x 1.25P M10 x 1.5P M16 x 2P
D8 w7 3 5 6 6 8 10 12
D10 3.4 4.5 5.5 5.5 6.6 9 13.5

55



Series planetary gearbox

RIFTEREL

FEATURES
Pt

TRBRSHILMRA—FREHRIT,
BHRBA IR
TRRRBHRSHEI,
BT R SRS S
R AR R E S R X EIHRCE2,
AR O B R ST

73| FBESNE DA RENIRIT,
BB TR

BN S DAMERRAIABE AT,
ERBA 3R EN T HF T 1538,

Planetary boom and output shaft are intergrated
structure designed to ensure maximum torsional rigidity.

Planetary wheel with full needle design,increase the contact
area to improve the rigidity and output torque.

The gears are carburized and quenched to the HRC62 with low
carbon steel surface for optimum wear and impact toughness.

Gears refer to foreign imported software-assisted design
to obtain the best tooth shape to reduce noise.

The input terminal is connected to the motor shaft in a double-tight
manner to obtain the maximum clamping force and zero
backlash power transmission.




GENERAL NOTICES

1T 552 &0

M, 8BS HiE

R LS 0 R R R
IRkEZEAR
BERREHIME R

AN FTRFANSEE

DA BB SHEZRDEMR T

Type, model and torque

Ratio or output speed

Working conditions and connection methods
Quantity and installed machine name

Input mode and input speed

Motor brand model or flange and motor shaft size

57



AE Series

R L1 BE B

A& B AIELL | AE050 AE070 AE090 | AE120 AE155 | AE205 | AE235
3 20 55 130 208 342 588 1,140
4 19 50 140 290 542 1,050 | 1,700
5 22 60 160 330 650 1,200 | 2,000
1 6 20 55 150 310 600 1,100 | 1,900
7 19 50 140 300 550 1,100 | 1,800
8 17 45 120 260 500 1,000 | 1,600
9 14 40 100 230 450 900 1,500
10 14 40 100 230 450 900 1,500
15 20 55 130 208 342 588 1,140
20 19 50 140 290 542 1,060 | 1,700
B E ML SI5E T Nm 25 22 60 160 330 650 | 1,200 | 2,000
30 20 55 150 310 600 1,100 | 1,900
35 19 50 140 300 550 1,100 | 1,800
40 17 45 120 260 500 1,000 | 1,600
2 45 14 40 100 230 450 900 1,500
50 22 60 160 330 650 1,200 | 2,000
60 20 55 150 310 600 1,100 | 1,900
70 19 50 140 300 550 1,100 | 1,800
80 17 45 120 260 500 1,000 | 1,600
90 14 40 100 230 450 900 1,500
100 14 40 100 230 450 900 1,500
EEHE TW"° Nm 1,2 3~100 3 EHEME NI
B N EE IR Ny rpm 1,2 3~100 | 5,000 | 5,000 | 4,000 | 4,000 | 3,000 [ 3,000 [ 2,000
RBRARBNGEIR Ne rpm 1,2 3~100 | 10,000 | 10,000 | 8,000 | 8,000 | 6,000 | 6,000 | 4,000
E——_— aremin 1 3~10 =8 =8 =8 =8 =8 =8 =8
2 15~100 | =12 =12 =12 =12 =12 =12 =12
%5 R Nm/arcmin| 1,2 3~100 3 7 14 25 50 145 225
BHERZEN FP N 1,2 3~100 | 702 1,377 | 2,985 | 6,100 | 8,460 | 13,050 | 8,700
REWES  FL° N 1,2 3~100 | 390 765 1,625 | 3,350 | 4,700 | 7,250 | 5,400
2z o 1 3~10 =97%
HE N o 2 15~100 =94%
8 kg 1 3~10 0.6 1.4 3.3 6.9 13 31 53
2 15~100 | 0.9 1.6 4.7 8.7 17 35 66
FREE °C 1,2 3~100 -10°C~90°C
B &REABHE
BEiP R 1,2 3~100 IP65
REHE 1,2 3~100 EEAEM
REE dB (A) 1,2 3~100 | =56 =58 | =60 | =63 | =65 =67 =70
BRI ENRE
A TSE | BIREL | AE050 AE070 AE090 | AET120 AE155 | AE205 | AE235
3 0.03 0.16 0.61 3.25 9.21 28.98 | 69.61
4 0.03 0.14 0.48 2.74 7.54 23.67 | 54.37
5 0.03 0.13 0.47 2.71 7.42 23.29 | 53.27
1 6 0.03 0.13 0.45 2.65 7.25 22.75 | 51.72
7 0.03 0.13 0.45 2.62 7.14 22.48 | 50.97
8 0.03 0.13 0.44 2.58 7.07 22.59 | 50.84
9 0.03 0.13 0.44 2.57 7.04 22.53 | 50.63
10 0.03 0.13 0.44 2.57 7.03 22.51 | 50.56
15 0.03 0.03 0.13 0.47 2.71 7.42 23.29
20 0.03 0.03 0.13 0.47 2.71 7.42 23.29
EIEE kg - cm? 25 0.03 0.03 0.13 0.47 2.71 7.42 23.29
30 0.03 0.03 0.13 0.47 2.71 7.42 23.29
35 0.03 0.03 0.13 0.47 2.71 7.42 23.29
40 0.03 0.03 0.13 0.47 2.71 7.42 23.29
2 45 0.03 0.03 0.13 0.47 2.71 7.42 23.29
50 0.03 0.03 0.13 0.44 2.57 7.03 22.51
60 0.03 0.03 0.13 0.44 2.57 7.03 22.51
70 0.03 0.03 0.13 0.44 2.57 7.03 22.51
80 0.03 0.03 0.13 0.44 2.57 7.03 22.51
90 0.03 0.03 0.13 0.44 2.57 7.03 22.51
100 0.03 0.03 0.13 0.44 2.57 7.03 22.51

58




(1-stage, Ratio i=3~10) / AE Series

C9

L2 L8
L3 L1 c11
Cc10 dcr
- i |
= :
I
l&
R B R R
8838 1=t | 1 |11188
A
1| g
IS
I
L 1
| ce
c4
B1 1o L6 L5
—
(o) D
T
@D3 D6 L9
L10
$D3
FMAR S1 -
Mg ALz S2
[ 42: mm]
R~f AE050 AEO070 AE090 AE120 AE155 AE205 AE235
D1 44 62 80 108 140 184 210
D2 M4 x 0.7P M5 x 0.8P M6 x 1P M8 x 1.25P M10 x 1.5P M12 x 1.75P M16 x 2P
D3 j6 12 16 22 32 40 55 75
D4 he 35 52 68 90 120 160 180
D5 22 22 30 40 75 95 115
D6 M4 x 0.7P M5 x 0.8P M8 x 1.25P M12 x 1.75P M16 x 2P M20 x 2. 5P M20 x 2.5P
D7 53 70 104 130 162 205 260
D8 50 70 90 120 155 205 235
D9 45.5 53.4 7 102 125 160 205
L1 -- -- 33.5 38 50 -- 70
L2 24.5 36 46 70 97 100 126
L3 4 6.5 8.5 17.5 15 15 18
L4 1 1 1 1.5 3 3 3
L5 14 25 32 40 63 70 90
L6 2 2 3 5 5 6 7
L7 8 10 12 16 20 22 28
L8 47 62 80.5 97 119.5 159 175.5
L9 4.5 4.8 7.2 10 12 15 15
L10 10 12.5 19 28 36 42 42
cr' 46 70 100 130 165 215 235
(2 M4 x 0.7P M5 x 0.8P M6 x 1P M8 x 1.25P M10 x 1.5P M12 x 1.75P M12 x 1.75P
c3' <11 /<12° <14 /<16° <19 /<24 <32 <38 <48 <55
4! 30 34 40 50 60 85 116
c5' 30 50 80 110 130 180 200
c6 ! 3.5 8 4 5 6 6 6
c7! 48 60 90 115 142 190 220
cs! 19.5 19 17 19.5 22.5 29 63
9’ 91 117 143.5 186. 5 239 288 364. 5
c10 ' 13.25 13.5 10. 75 13 15 20. 75 53.5
cir' 19.5 37 35.5 46 53.5 79.5 106. 5
Bl o 4 5 6 10 12 16 20
H1 14 18 24.5 35 43 59 79.5

59



(2-stage, Ratio i=15~100)/ AE Series

c9

L2 L8 C8
L3 L1 Cl1
L7 c10 et
4 /\
=i L |
| |
! 45
,‘\
| o _f w - :r SEES
ssals ===t 11l Ir=tTusl s -
I =
- - o
S 1 45° 2
] — ——<@
\ N | gl
L . 6 c2
C4
Bl L6 L5
R
@D3 -
D6 L9
AR S1 ¢D3‘Je 110
Mg s A S2
[#4z: mm]
R~ AE050 AE070 AE090 AE120 AE155 AE205 AE235
D1 44 62 80 108 140 184 210
D2 M4 x 0.7P M5 x 0.8P M6 x 1P M8 x 1.25P MI0 x 1.5P MI2 x 1.75P M16 x 2P
D3 j6 12 16 22 32 40 55 75
D4 e 35 52 68 90 120 160 180
D5 22 22 30 40 75 95 115
D6 M4 x 0.7P M5 x 0.8P M8 x 1.25P MI2 x 1.75P MI6 x 2P M20 x 2.5P M20 x 2.5P
D7 53 70 104 130 162 205 260
D8 50 70 90 120 155 205 235
D9 45.5 45.5 53. 4 77 102 125 160
L1 -- -- 33.5 38 50 -- 70
L2 24.5 36 46 70 97 100 126
L3 4 6.5 8.5 17.5 15 15 18
L4 1 1 1 1.5 3 3 3
L5 14 25 32 40 63 70 90
L6 2 2 3 5 5 6 7
L7 8 10 12 16 20 22 28
L8 74 87.5 113.5 138.5 176 214.5 260
L9 4.5 4.8 7.2 10 12 15 15
L10 10 12.5 19 28 36 42 42
c1’ 46 46 70 100 130 165 215
2’ M4 x 0.7P M4 x 0.7P M5 x 0.8P M6 x 1P M8 x 1.25P M10 x 1.5P MI2 x 1.75P
c3’ <11 /<12° <11 /<12° <14 K15.875 416" | <19 /<24* <32 <38 <48
c4° 30 30 34 40 50 60 85
c5° 30 30 50 80 110 130 180
06° 3.5 3.5 8 4 5 6 6
c7’ 48 48 60 90 115 142 190
c8° 19.5 19.5 19 17 19.5 22.5 29
9’ 118 143 178.5 225.5 292.5 337 415
c10 '’ 13.25 13.25 13.5 10. 75 13 15 20. 75
c11? 19.5 19.5 37 35.5 46 53.5 79.5
Bl o 4 5 6 10 12 16 20
H1 14 18 24.5 35 43 59 79.5

60



Series planetary gearbox
T 2R

FEATURES
= o A

FEBRSHEHRB—GREMIRT, WHERAOAENE,
TEERBHERIRT, BEMERIESEHRM S H 8,
W RARBENRESHEKEIHRCE2, KSR AN B R HHM,
B3| BESNE DRAEREBIRIT, MR ER NN ERIES,
WIS DT ER BN E AN, DERBEAKNK
ZEHFBERE N EEE
R AR LS ERIRT, %.*ﬁiﬁuﬁ?’ﬂiﬁm\ LB PERE30% UL,
SAFMANER, LHEQERBASSEM L,

WEWE, ERERMARTT, BEEREil—, BEEHK,

”fé‘é-\, %E‘TxLEﬂlﬂe%ﬁ*ﬁ 5=
ﬁ Fﬁ*o

Planetary boom and output shaft are intergrated
structure designed to ensure maximum torsional rigidity.

Planetary wheel with full needle design,increase the contact
area to improve the rigidity and output torque.

The gears are carburized and quenched to the HRC62 with low carbon
steel surface for optimum wear and impact toughness.

Gears refer to foreign imported software-assisted design to
obtain the best tooth shape to reduce noise.

The input terminal is connected to the motor shaft in a double-tight manner
to obtain the maximum clamping force and zero backlash power transmission.

Adopt spiral bevel gear design, allow high output torque,
more than 30% higher than straight bevel gear.

High tolerance input speed, more than 8 times
higher than straight bevel gear input.

The meshing tooth imprint of spiral bevel gear has been optimized
by optimum design, and the contact tooth surface load is uniform, and long running life.

Cochlear bevel gears are meshed by optimum motion error analysis and
strict process control to ensure high precision running back clearance.

61



GENERAL NOTICES

1T 52700

- MBS HE

- OB EE D iR

- ITRAREESFR

- BERTERNOINE R

- ANAFTKANHFERE

- DA BESHEZRIAMR T

— Type, model and torque

— Ratio or output speed

Working conditions and connection methods

— Quantity and installed machine name

Input mode and input speed

— Motor brand model or flange and motor shaft size

62



AER Series

Mg B WIREE | AERO50 | AERO70 | AERO90 | AER120 [AER155 | AER205 | AER235
3 9 36 90 195 342 588 1, 140
4 12 48 120 260 520 1, 040 1, 680
5 15 60 150 325 650 1, 200 2,000
6 18 55 150 310 600 1, 100 1, 900
1 7 19 50 140 300 550 1, 100 1, 800
8 17 45 120 260 500 1, 000 1, 600
9 14 40 100 230 450 900 1, 500
10 14 60 150 325 650 1, 200 2,000
14 - 42 140 300 550 1, 100 1, 800
20 - 40 100 230 450 900 1, 500
15 14 - - - - - -
20 14 - - - - - -
25 15 60 150 325 650 1, 200 2,000
30 20 55 150 310 600 1, 100 1, 900
BE WL S5 T N 35 19 50 140 300 550 1, 100 1, 800
40 17 45 120 260 500 1, 000 1, 600
45 14 40 100 230 450 900 1, 500
) 50 14 60 150 325 650 1, 200 2,000
60 20 55 150 310 600 1, 100 1, 900
70 19 50 140 300 550 1, 100 1, 800
80 17 45 120 260 500 1, 000 1, 600
90 14 40 100 230 450 900 1, 500
100 14 40 100 230 450 900 1, 500
120 - - 150 310 600 1, 100 1, 900
140 - - 140 300 550 1,100 1, 800
160 - - 120 260 550 1, 000 1, 600
180 - - 100 230 450 900 1,500
200 - - 100 230 450 900 1,500
%1%?3% TzNo‘r(s) Nm 1,2 3m200 3 {ggﬁiiﬁﬂjﬁiﬁ
B E N EE IR N Tpm 1,2 37200 5, 000 5, 000 4,000 4, 000 3, 000 3, 000 2,000
B=ARBNEEIR N Tpm 1,2 37200 | 10,000 | 10,000 8, 000 8, 000 6, 000 6, 000 4, 000
— b s . 1 3720 <10 <10 <10 <10 <10 <10 <10
P E IR aremn 2 |25200 | <l4 <14 <14 <14 <14 <11 <14
A% NI Nm/arcmin 1,2 37200 3 7 14 25 50 145 225
BEREH  F° N 1,2 3%200 702 1, 377 2,985 6,100 8,460 | 13,050 | 8,700
BFHEN  F° N 1,2 37200 390 765 1,625 3, 350 4,700 7, 250 5, 400
N 1 3720 >95%
HE N b 2 257200 >02%
- 1 3720 1.0 2.1 5.8 11.2 22.4 46.8 78.0
B2 kg =
2 257200 1.3 2.0 4.6 11.1 21.8 43.7 81.9
FREE °c 1,2 37200 -10C™90C °
SEE & REEEHAE
Brip o 1,2 37200 1P65
REFE 1,2 3%200 FEHE
=2 dB(A) L2 37200 <61 <63 <65 | <68 <70 <72 <74
BIRHERIRE
A T FRIREL | AERO50 | AERO70 | AERO90 | AER120 | AER155 | AER205 | AER235
3710 0. 09 0. 35 2.25 6. 84 23.4 68.9 135.4
1 14 - 0.07 1.87 6. 25 21.8 65.6 119. 8
20 - 0.07 1.87 6. 25 21.8 65.6 119.8
®ERE J kg« cm’ 15 0.09 - - - - - -
) 20 0. 09 - - - - - -
257100 0. 09 0. 09 0. 35 2.25 6. 84 23.4 68. 9
1207200 - 0.31 1.87 6. 25 21.8 65.6

63




7

@1

D3,

BN S1

(1-stage, Ratio

L2

L1

L3

L7

i=3~20) / AER Series

a7

208
o0

D5
|

L4

Bl, L6

D6 L9

Migesh A S2

L10

[#4z: mm]
R~ AER050 AERO70 AER090 AER120 AER155 AER205 AER235
D1 44 62 80 108 140 184 210
D2 M4 x 0.7P M5 x 0.8P M6 x 1P M8 x 1.25P M10 x 1.5P M12 x 1.75P M16 x 2P
D3 e 12 16 22 32 40 55 75
D4 e 35 52 68 90 120 160 180
D5 22 22 30 40 75 95 115
D6 M4 x 0. 7P M5 x 0.8P M8 x 1.25P M12 x 1.75P M16 x 2P M20 x 2.5P M20 x 2.5P
D7 53 70 104 130 162 205 260
D8 50 70 90 120 155 205 235
L1 - - 33.5 38 50 - 70
L2 24.5 36 46 70 97 100 126
L3 4 6.5 8.5 17.5 15 15 18
L4 1 1 1 1.5 3 3 3
L5 14 25 32 40 63 70 90
L6 2 2 3 5 5 6 7
L7 8 10 12 16 20 22 28
L8 115.5 146 201 252 324.5 379.5 461.5
L9 4.5 4.8 7.2 10 12 15 15
L10 10 12.5 19 28 36 42 42
c1'! 46 70 100 130 165 215 235
c2' M4 x 0.7P M5 x 0.8P M6 x 1P M8 x 1.25P M10 x 1.5P M12 x 1.75P M12 x 1.75P
€3 <11 /<12° <14 /<16° <19 /g24° <32 <38 <48 <55
c4' 30 34 40 50 60 85 116
c5' 30 50 80 110 130 180 200
c6' 3.5 8 4 5 6 6 6
c7' 48 60 90 115 142 190 220
8! 19.5 19 17 19.5 22.5 29 63
9! 100. 5 116. 5 159. 5 199 245.5 316 398.5
c1o ' 13. 25 13.5 10. 75 13 15 20.75 53.5
ci! 74 81.5 107. 5 134 164. 5 213.5 268. 5
Bl ne 4 5 6 10 12 16 20
H1 14 18 24.5 35 43 59 79.5

64



(2-stage, Ratio i=15~200) / AER Series

L8

L2 L1

L3 L7
7
= N
|
sasal_ 11 11T | Ee R
[ ~
= 3
\ [ l‘“w
| 3 o L
N ECH R
ac3 =
acs
= H
@D3 i
D6
Sl B X S D3, L10
MR 52
[# 4i: mm]
R~ AER050 AERO70 AER090 AER120 AER155 AER205 AER235
D1 44 62 80 108 140 184 210
D2 M4 x 0.7P M5 x 0. 8P M6 x 1P M8 x 1.25P M10 x 1.5P [MI2 x 1.75P M16 x 2P
D3 s 12 16 22 32 40 55 75
D4 e 35 52 68 90 120 160 180
D5 22 22 30 40 75 95 115
D6 M4 x 0.7P M5 x 0. 8P M8 x 1.25P M12 x 1.75P M16 x 2P M20 x 2.5P M20 x 2.5P
D7 53 70 104 130 162 205 260
D8 50 70 90 120 155 205 235
L1 - - 33.5 38 50 - 70
L2 24.5 36 46 70 97 100 126
L3 4 6.5 8.5 17.5 15 15 18
L4 1 1 1 1.5 3 3 3
L5 14 25 32 40 63 70 90
L6 2 2 3 5 5 6 7
L7 8 10 12 16 20 22 28
L8 142.5 167.5 207.5 283 358 422.5 506. 5
L9 4.5 4.8 7.2 10 12 15 15
L10 10 12.5 19 28 36 42 42
cl1° 46 46 70 100 130 165 215
c2° M4 x 0.7P M4 x 0. 7P M5 x 0.8P M6 x 1P M8 x 1.25P M10 x 1.5P [MI12 x 1.75P
c3° <11 /<12 <11 /<12 <14 /<15.875 /<16 <19/<224 <32 <38 <48
C4° 30 30 34 40 50 60 85
C5° 30 30 50 80 110 130 180
C6° 3.5 3.5 8 4 5 6 6
c7* 48 48 60 90 115 142 190
c8* 19.5 19.5 19 17 19.5 22.5 29
C9° 100. 5 109 133.5 172.5 215 267 343.5
C10 * 13.25 13. 25 13.5 10. 75 13 15 20. 75
Cl1° 74 74 81.5 107.5 134 164.5 213.5
Bl no 4 5 6 10 12 16 20
H1 14 18 24.5 35 43 59 79.5

65




12t Bic B AR B 1

@D3
| —oD3

L3

@D4he
I
\ ﬂ

L2,

L4

[# 42 mm]

R~t D1 D2 D3 D4 " L1 L2 L3 L4
AE050(AER050)-NEMA 23 66.675 6 77 38.1 57.2 2 8 18.5
AE050(AER050)-PX60 70 5.6 80.5 50 60 2.5 8.5 18.5
AE070(AER070)-Metric 90 6.6 106 50 80 3 11 28
AE070(AER070)-NEMA 34 98.425 5.5 115 73.025 86 2.5 8 30.5
AE070(AER070)-DT90 / PX90 100 6.6 120 80 90 3 8 31
AEO090(AER090)-IEC 63D5 B5 115 9 140 95 105 3 10.5 38.5
AE090(AER090)-NEMA 34 98.425 5.5 120 73.025 92 2.5 12.5 36
AE090(AER090)-DT90 / PX90 100 6.5 120 80 92 2.5 12.5 36
AE090(AER090)-NEMA 42 125.73 7 144 55.58 107 4 14.5 355
AE120(AER120)-NEMA 42 125.73 7.1 170 55.499 127 1.5 21.5 50
AE120(AER120)-NEMA 56 149.225 6.6 170 114.3 127 3 17.5 55.5
AE155(AER155)-B5 175 11 196 130 160 5 20 82
AE205(AER205)-B5 230 13 277 180 210 5 23 82
AE235(AER235)-B5 275 17 317 235 240 5 23 108

66



AT / ATB %%
Pk = =)

AT-L ATB-L

AT-FH AT-FL

ATBRFINIM R, FHIERREBHK, MAMASEN.
D —FUAFRAFHREAINESHME, SEREMNTREASTHE.

D> KRATNMER&LEEHNZITERE, @REMITHEMSEASNRIFSHERL, 5%
XKAEBRNDEHREEWN, MEBEFLATE
DINSERAR/ER .

> ZENFWEL DR T LUER
TEMI EFAEFEK.

D EREMENIREL ISR EE S RENILITH
ITERNEEATLLAE1000: 1HRGREE

> SHBRERIEESEMTERT
BE R
> EFBURENRIT, BRI IEEIRIEEH
BEEFMK.
67



AT | ATB #HE! &%)

P ER AR
IR BE

AT065 LM AT075 LM AT090 LM AT110 LM AT140 LM AT170 LM AT210 LM AT240 LM AT280 LM

AT065 RM AT075 RM AT090 RM AT110 RM AT140 RM AT170 RM AT210 RM AT240 RM AT280 RM

AT065 4M ATO0754M AT090 4M AT110 4M AT140 4M AT170 4M AT210 4M AT240 4M AT280 4M
25 45 78 150 360 585 1,300 2,150 3,200
25 45 78 150 360 585 1,300 2,150 3.200

2 24 42 68 150 330 544 1,220 2,010 3,050
FEWmENE T Nm 1 3 18 33 54 120 270 450 1,020 1,650 2,850
4 13 28 48 100 224 376 860 1,410 2,300
5 12 25 40 85 196 320 740 1,210 2,000
AR TIFE Tos Nm 1 1~5 2{EFEML 156
BRATIRMNEE ns rpm 1 1~5 7,500 6,500 5,500 4,500 3,500 3,000 2,200 2,000 1,700
Epm ° arcmin 1 1~5 <6 <6 <6 <6 <6 <6 <6 <6 <6
BIFEE w _
580 \dh 01 N 1 1~5 700 950 1,450 2,100 2,700 3,800 7,800 9,600 10,500
BFRED For 5
W 42 N 1 1~5 900 1,100 1,700 2,700 4,800 6,600 11,500 16,000 18,000
BIFREEN Frs _
NG 01 N 1 1~5 350 425 725 1,050 1,350 1,900 3,900 4,800 5,250
BIFREN Fous ~
WL 42 N 1 1~5 450 550 850 1,350 2,400 3,300 5,750 8,500 9,000
FERE® hr 1 1~5 20,000
HE N % 1 1~5 >98%
FRRE °C 1 1~5 -10°C ~90°C
g ARG hAE
EE1E (n=1500rpm, No Load) dB (A) 1 1~5 <68 <70 <74 <76 <77 <78 <80 <82 <83
BIRHFEBIRE

ATO65L |ATO75L [ATO90L [AT110L |AT140L |AT170L AT240 L
AT065 L1 |ATO75 L1 [AT090 L1 (AT110 L1 |AT140 L1 |AT170 L1 AT240 L1

AT065 H |ATO75H AT140H [AT170H AT240 H

AT065 C |AT075C [AT090C [AT110C |AT140C |AT170C AT240C

AT065 R1 | AT075 R1 [AT090 R1 [AT110 R1 |AT140 R1 |AT170 R1 AT240 R1

AT065 LM AT075 LM AT090 LM AT110 LM AT140 LM AT170 LM AT210 LM AT240 LM AT280 LM

AT065 RM AT075 RM AT090 RM AT110 RM AT140 RM AT170 RM AT210 RM AT240 RM AT280 RM

AT065 4M AT075 4M AT090 4M AT110 4M AT1404M AT170 4M AT210 4M AT240 4M AT280 4M
1 0.51 130 3.16 7.70 23.57 58.99 19540 369.34 799.12

1.5 0.64 116 282 6.74 1937 49.28 15545 283.58 595.78

0.44 1.1 270 631 17.75 4535 140.24 249.74 511.76

= = 2 2
e J kg-em™ 1 3 043 109 266 617 1718 4401 134.95 237.71 483.06
4 043 109 265 613 17.06 4370 13358 234.72 476.26
5 043 109 265 612 17.02 4360 133.14 23367 47358
£
Model No.
L Series 1 1~5 26 42 68 116 198 348 662 981 15567
1 Series 1 1~5 26 41 67 115 195 342 651 966 1534
H Series 1 1~5 25 39 64 110 181 316 600 894 1434
C Series - 1 1~5 28 42 69 114 196 337 633 979 1491
R1 Series 1 1~5 26 41 67 115 195 342 651 966 1534
LM Series 1 1 35 56 90 152 241 424 814 1220 1909
RM Series 1 1 35 56 90 152 241 424 814 1220 1909
4M Series 1 1 35 56 91 154 248 426 825 1235 1933
AR (i= ) AT-LM/ RM / 4M R$24t 1 : 1 3EEE. C. I RN NI E nis VB T4 N il o 07
B. & 1amr 2% gmmﬁ Tl T D. SELEEREE A% A 10,000 (AT,

68



AT-L/ ATB-L &%
R~ (275, BuEEE i=1~5)

L3 oLt L3 .
+ Ke . to DIN6885/1
L11 L11 D1 ey acc. to %
.—‘ S
s | 63

(C] -&- T
A, D6 Lo

A

L11

@D3 ks L10

i§ @ Shatt Option S1 D3 s Shaft Option 52
(Output Shaft)

\ B2 o L6, L15

% >
&~ -
(] .@. +- Key acc. to DIN6885/1
? {o)} I >
>

L11

13,

L18

E! D16 Lt |
[ﬂ] Shaft Option S1 @D181  ghaft Option 52 20131 C20
(Input Shaft)
D9 D8
3 H & o g
8| 8 § § 2 Bl 8 =
L2 L4 L4 L2 L12 L14
L7 L7 121
18 18 122
[EA4L: mm]

D1 M4 M6 M6 M8 M10 M12 M16 M16 M16
D3 ks 13 16 18 22 32 40 50 55 60
D4 w7 63 73 88 108 135 165 205 235 275
D5 31 35 43 53 68 83 104 124 144
D6 M4 M5 M5 M8 M12 M16 M16 M16 M20
D7 21 22 28 33 47 55 75 85 110
D8 53 62 76 95 92 114 142 160 176
D9 4xM4xL7 4xM5xL8 4xM5xL8 6xM6xL10 6xM6xL10 6xM8xL12.5 6xM8xL12.5 6xM8xL12.5 6xM10xL15
D10 15.4 20.4 25.8 35.8 49.8 59.3 79.3 92.3 102.3
D11 g6 62.9 72.9 87 107 103 127 158 178 198
D12 62 72 86 106 104 128 160 180 200
D13 ke 13 16 18 22 32 40 50 55 60
D14 w7 63 73 88 108 135 165 205 235 275
D16 M4 M5 M5 M8 M12 M16 M16 M16 M20
L1 65 75 90 110 140 170 210 240 280
L2 19.5 30 35 40 50 60 75 85 110
L3 13 14.5 15 15 15 15 20 25 25
L4 2 2 2 2 2 2 2 2 2
L5 16 25 28 32 45 50 70 80 100
L6 2 25 3.5 4 2.5 5 2.5 25 5)
L7 47.5 54 62 72 87 102 127 147 167
L8 67 84 97 112 137 162 202 232 277
L9 45 4.8 4.8 7.2 10 12 12 12 15
L10 10 12.5 12.5 19 28 36 36 36 42
L11 27 30 36 44 55 67 85 95 110
L12 19.5 30 35 40 50 60 75 85 110
L13 13 15 15 15 15 15 20 25 25
L14 2 2 2 2 2 2 2 2 2
L15 16 25 28 32 45 50 70 80 100
L16 2 25 3.5 4 2.5 5 25 25 5
L17 6 8 8 8 10 10 10 10 10
L18 43 52.5 55 60 60 70 90 105 120
L19 45 4.8 4.8 7.2 10 12 12 12 15
L20 10 12.5 12.5 19 28 36 36 36 42
L21 75.5 90 100 115 130 155 195 225 260
L22 95 120 135 155 180 215 270 310 370
B1 he 5 5 6 6 10 12 14 16 18
B2 hy 5 5 6 6 10 12 14 16 18
H1 15 18 20.5 245 35 43 53.5 59 64
H2 15 18 20.5 245 35 43 53.5 59 64

69



AT-L1/R1 /ATB-L1/R1 &%
RS (B85, AR EEi=1~5)

AT-L1 AT-R1
L3 [=]K] L3 B [
L11 L1 D1 Key acc. to DIN6885/1 L4 L2
= ! -
] . ] D6 i l_ Q'« © ]
5 g Shaft Option @D3 .  Shaft Option 203 s | Lo o
H S1 s2 1
—% ; (Output Shatt) ; =
= i . B2 L6 L15 o .
- R% b Key acc. to DIN6885/1 K% b
_ O © of 28 % @ ©
2 = | | D16 119 | |
— | Shaft Option @D134  Shaft Option @D13 ks L20 — —]
E m St 2 (Input Shaft) m
D9 D8 5
8
9, &
HEN e { \ s El e §
3| 8|8 1 i EEE |8
\ %
0 )
2 || s 14 L2 | L14
L7 L7 I~
s L22
[B4L: mm]
D1 M4 M6 M6 M8 M10 M12 M16 M16 M16
D3 ke 13 16 18 22 32 40 50 55 60
D4 w7 63 73 88 108 135 165 205 235 275
D5 31 35 43 53 68 83 104 124 144
D6 M4 M5 M5 M8 M12 M16 M16 M16 M20
D7 21 22 28 33 47 55 75 85 110
D8 58 62 76 95 92 114 142 160 176
D9 4xM4xL7 4xM5xL8 4xM5xL8 6xM6xL10 6xM6xL10  6xM8xL12.5 6xM8xL12.5 6xM8xL12.5 6xM10xL15
D10 15.4 20.4 25.8 35.8 49.8 59.3 79.3 92.3 102.3
D11 g6 62.9 72.9 87 107 103 127 158 178 198
D12 62 72 86 106 104 128 160 180 200
D13 ke 13 16 18 22 32 40 50 55 60
D14 w7 63 73 88 108 135 165 205 235 275
D16 M4 M5 M5 M8 M12 M16 M16 M16 M20
L1 65 75 90 110 140 170 210 240 280
L2 19.5 30 35 40 50 60 75 85 110
L3 13 14.5 15 15 15 15 20 25 25
L4 2 2 2 2 2 2 2 2 2
L5 16 25 28 32 45 50 70 80 100
L6 2 2.5 Bi5) 4 25 5 2.5 25 5
L7 47.5 54 62 72 87 102 127 147 167
L8 67 84 97 112 137 162 202 232 277
L9 4.5 4.8 4.8 7.2 10 12 12 12 15
L10 10 12.5 12.5 19 28 36 36 36 42
L11 27 30 36 44 55 67 85 95 110
L12 19.5 30 35 40 50 60 75 85 110
L13 13 15 15 15 15 15 20 25 25
L14 2 2 2 2 2 2 2 2 2
L15 16 25 28 32 45 50 70 80 100
L16 2 2.5 Bi5) 4 25 5 2.5 25 5
L17 6 8 8 8 10 10 10 10 10
L18 43 52.5 55 60 60 70 90 105 120
L19 4.5 4.8 4.8 7.2 10 12 12 12 15
L20 10 12.5 12.5 19 28 36 36 36 42
L21 75.5 90 100 115 130 155 195 225 260
L22 95 120 135 155 180 215 270 310 370
B1 ho 5 ) 6 6 10 12 14 16 18
B2 he 5 B 6 6 10 12 14 16 18
H1 15 18 20.5 24.5 35 43 53.5 59 64
H2 15 18 20.5 24.5 35 43 53.5 59 64

70



@D4 n7

L1

L1

D1

N

L11

@D2 17

L11

2D217

L13

L18

L17
——

D9

D8

@D5
2D7.

2D7.
@D5

@D4 7

L7

L7

Shaft Option S1

AT-H / ATB-H %%

D2 H7
D4 w7
D5
D7
D8
D9
D10

D11 g6

D12

D13 «e
D14 7

D16
L1
L3
L4
L7
L11
L12
L13
L14
L15
L16
L17
L18
L19
L20
L21
L22
L23
L24
B2 nhe
B3 po
H2
H3

13
63
31
21
53

4xM4xL7

15.4
62.9
62
13
63
M4
65
13
2
47.5
27
19.5
13
2
16
2
6
43
4.5
10
75.5
95
40
30
5)

5
15
15.3

1 4
73
35
22
62

4xM5xL8

20.4
729
72
16
73
M5
75
14.5

54
30
30
15

25
25

525
4.8
12.5
90
120
47
32

18
16.3

18
88
43
28
76

4xM5xL8

25.8
87
86
18
88
M5
90
15
2
62
36
35
{5)
2
28
3.5
8
55
4.8
12.5
100
135
52
35

20.5
20.8

22
108
53
33
95

6xM6xL10

35.8
107
106
22
108
M8
110
15
2
72
44
40
15
2
32
4
8
60
7.2
19
115
155
53
35

245
24.8

R~F (PR, vk bk i=1~5)
B2 Li6, _L15
I Key acc. to DING885/1
D16 Lo |
@181 gnatt Option 52 20135 L2
(Input Shaft)
ou
= L11 L11
& H3
© |
e %
gl s
L12 L14
Key acc. to DIN6885/1
L22
[BAfL: mm]
M10 M12 M16 M16 M16
32 40 50 55 60
135 165 205 235 275
68 83 104 124 144
47 55 75 85 110
92 114 142 160 176
6xM6xL10  6xM8xL12.5 6xM8xL12.5 6xM8xL12.5 6xM10xL15
49.8 59.3 79.3 92.3 102.3
103 127 158 178 198
104 128 160 180 200
32 40 50 5 60
135 165 205 235 275
M12 M16 M16 M16 M20
140 170 210 240 280
15 15 20 25 25
2 2 2 2 2
87 102 127 147 167
55 67 85 95 110
50 60 75 85 110
{5 15 20 29 25
2 2 2 2 2
45 50 70 80 100
25 5 25 25 5
10 10 10 10 10
60 70 90 105 120
10 12 12 12 15
28 36 36 36 42
130 155 195 225 260
180 215 270 310 370
70 80 95 115 115
50 55 65 80 80
10 12 14 16 18
10 12 14 16 18
35 43 535 59 64
35.3 43.3 53.8 59.3 64.4

71



AT-C / ATB-C &%
R<F (B, Js b i=1~5)

L11 L11

B2 ro

A _
.
ot

L16 L15

I Key acc. to DIN6885/1

L11

oD18
He
\as]
4

==

D16 L19

L1
D18
s
O
A
S
&

@D13 ke @D13 ks L20
||

Shaft Option S1 Shaft Option §2

(Input Shaft)

L18

D9 2D8

[EBAfar: mm]
D1 M4 M6 M6 M8 M10 M12 M16 M16 M16
D2 He 13 14 18 22 32 40 50 55 60
D3 ns 16 16 22 25 44 50 62 68 75
D4 w7 63 73 88 108 135 165 205 235 275
D8 53 62 76 95 92 114 142 160 176
D9 4xM4xL7 4xM5xL8 4xM5xL8 6xM6xL10 6xM6xL10  6xM8xL12.5 6xM8xL12.5 6xM8xL12.5 6xM10xL15
D10 15.4 20.4 25.8 35.8 49.8 59.3 79.3 92.3 102.3
D11 g6 62.9 729 87 107 103 127 158 178 198
D12 62 72 86 106 104 128 160 180 200
D13 ke 13 16 18 22 32 40 50 55 60
D14 n7 63 73 88 108 135 165 205 235 275
D16 M4 M5 M5 M8 M12 M16 M16 M16 M20
D17 26 26 36 38 61 70 86 86 100
D18 41 41 50 50 80 90 110 115 138
L1 65 75 90 110 140 170 210 240 280
L2 14 14 18 18 24 26 29 29 30.5
L3 13 14.5 15 15 15 15 20 25 25
L4 2 2 2 2 2 2 2 2 2
L7 47.5 54 62 72 87 102 127 147 167
L8 66 725 85 95 116.5 133.5 161.5 181.5 205
L11 27 30 36 44 55 67 85 95 110
L12 19.5 30 35 40 50 60 75 85 110
L13 13 15 15 15 15 15 20 25 25
L14 2 2 2 2 2 2 2 2 2
L15 16 25 28 32 45 50 70 80 100
L16 2 25 3.5 4 25 5 25 25 5
L17 6 8 8 8 10 10 10 10 10
L18 43 52.5 55 60 60 70 90 105 120
L19 4.5 4.8 4.8 7.2 10 12 12 12 15
L20 10 12.5 12.5 19 28 36 36 36 42
L21 75.5 90 100 115 130 155 195 225 260
L22 95 120 135 155 180 215 270 310 370
L23 15 15 20 20 26 28 31 31 325
L24 15 15 20 20 26 28 31 31 325
L25 15 15 19.5 19.5 25.5 27.5 30.5 30.5 325
L26 18.5 18.5 23 23 29.5 31.5 34.5 34.5 38
B2 ho 5 5 6 6 10 12 14 16 18
H2 15 18 20.5 245 35 43 53.5 59 64

@D4 7

@D3 re

@D2 e

=N N
T
i
Nt
1
DD2 e
@D3 e
D4 7
D11 g6
2D10
2D12

L12

L14

L21

L22

72



AT-LM/RM / ATB-LM/RM Z7I|
JRSF (PR, VG B i=1)

AT-LM _: .. o AT-RM
L1 L1
i Key acc. to DIN6885/1
- — —
© D1 I'% | |L4 L2
e - D6 L9
d- | . -&f Shaft Option @D3.;  Shaft Option 203 0 L10 >, " -O-
E L f\‘ 2 st 2 (Output Shaft) L 2"
1 B2 L16_ L15 :
_§ E Key acc. to DIN6885/1 E
e .1:’\3' v, %5 -%»— ) 1:(\;, y
' o N / .@. .@. , / .@.
= D16 L1
of 7 | | Shaft Option @D13.  Shaft Option D131 L20 | |
o st s2
— (Input Shaft) — —
m oL .IIM
D9 208 « L11 L11 g
8 |
@'/ S & 3 _
< 8l 5 / N \ sl gl < Zl e é § of * - =
8§ s > 8| 8| & 5l 8 sz
8 \ \\ &J /, © || ® 8f 8 -
N
2 || w 12 Li2_| L4 La_| L2
o i L21 L21
8 122 122
[EA4i: mm]
D1 M4 M6 M6 M8 M10 M12 M16 M16 M16
D3 ks 13 16 18 22 32 40 50 55 60
D4 w7 63 73 88 108 135 165 205 235 275
D5 31 35 43 53 68 83 104 124 144
D6 M4 M5 M5 M8 M12 M16 M16 M16 M20
D7 21 22 28 33 47 55 75 85 110
D8 53 62 76 95 92 114 142 160 176
D9 4xM4xL7 4xM5xL8 4xM5xL8 6xM6xL10 6xM6xL10 6xM8xL12.5 6xM8xL12.5 6xM8xL12.5 6xM10xL15
D10 15.4 20.4 25.8 35.8 49.8 59.3 79.3 92.3 102.3
D11 g6 62.9 72.9 87 107 103 127 158 178 198
D12 62 72 86 106 104 128 160 180 200
D13 ke 13 16 18 22 32 40 50 55 60
D14 w7 63 73 88 108 135 165 205 235 275
D16 M4 M5 M5 M8 M12 M16 M16 M16 M20
L1 65 75 90 110 140 170 210 240 280
L2 19.5 30 35 40 50 60 5] 85 110
L3 13 14.5 15 15 15 15 20 25 25
L4 2 2 2 2 2 2 2 2 2
L5 16 25 28 32 45 50 70 80 100
L6 2 2.5 3.5 4 25 5 25 25 )
L7 47.5 54 62 72 87 102 127 147 167
L8 67 84 97 112 137 162 202 232 277
L9 45 4.8 4.8 7.2 10 12 12 12 15
L10 10 12.5 12.5 19 28 36 36 36 42
L11 27 30 36 44 55 67 85 95 110
L12 19.5 30 35 40 50 60 75 85 110
L13 13 15 15 15 15 15 20 25 25
L14 2 2 2 2 2 2 2 2 2
L15 16 25 28 32 45 50 70 80 100
L16 2 25 3.5 4 25 5 25 2.5 5
L17 6 8 8 8 10 10 10 10 10
L18 43 52.5 55 60 60 70 90 105 120
L19 45 4.8 4.8 7.2 10 12 12 12 15
L20 10 12.5 12.5 19 28 36 36 36 42
L21 75.5 90 100 115 130 155 195 225 260
L22 95 120 135 155 180 215 270 310 370
B1 nhe 5 5 6 6 10 12 14 16 18
B2 hy 5 5 6 6 10 12 14 16 18
H1 15 18 20.5 24.5 35 43 53.5 59 64
H2 15 18 20.5 24.5 35 43 53.5 59 64

73



AT-4M | ATB-4M 27|
JRSF (BT, R bR i=1)

D1 M4 M6 M6 M8 M10

@D4 7

L3,

oL

L3

L1

L1

[

L17|

e S

L8

L13

L11

L11

Shaft Option $1

@D3 ks

Shaft Option S1

@D13 ks

L2

- 7 ®-
T (¢ sl
Zj
-1
o
3|y I
prj| —
’ I:m-
D9 D8
N7 : X & ]
17 W .
8l 5 [ ) 5l 8l =
SIS \ T s| 8| g
N\ 7,
.é.\ /’.@.

L7

L8

4xM4xL7
15.4

16
73
35
M5
22
62
4xM5xL8
20.4
72.9
72
16
73

18
88
43
M5

76
4xM5xL8

6xM6xL10

35.8
107
106

22

108
M8

110

40

5

32

=] £¢

Bl

D6

Shaft Option S2

@D3 ks

(Output Shaft)

B2 o

e

Shaft Option S2

D16

@D13 s

&

L10

L16,

L15

A

L19|
-—t

L20

(Input Shaft)

@D14 n7

+ Key acc. to DIN6885/1

+ Key acc. to DIN6885/1

@D11 g6

2D12

2D10

L12

2D12

2D10

@D11 68

L11

L11

oLl

L14

L14

L12

[E: mm]

M12 M16 M16 M16
32 40 50 65 60
135 165 205 235 275
68 83 104 124 144
M12 M16 M16 M16 M20
47 55 75 85 110
92 114 142 160 176
6xM6xL10  6xM8xL12.5 6xM8xL12.5 6xM8xL12.5 6xM10xL15
49.8 59.3 79.3 92.3 102.3
103 127 158 178 198
104 128 160 180 200
32 40 50 55 60
135 165 205 235 275
M12 M16 M16 M16 M20
140 170 210 240 280
50 60 75 85 110
15 15 20 25 25
2 2 2 2 2
45 50 70 80 100
25 5 25 25 5
87 102 127 147 167
137 162 202 232 277
10 12 12 12 5
28 36 36 36 42
55 67 85 95 110
50 60 75 85 110
15 15 20 25 25
2 2 2 2 2
45 50 70 80 100
25 5 25 25 5
10 10 10 10 10
60 70 90 105 120
10 12 12 12 15
28 36 36 36 42
130 155 195 225 260
180 215 270 310 370
10 12 14 16 18
10 12 14 16 18
35 43 53.5 59 64
35 43 53.5 59 64

74



AT/ ATB -F3:£=8! Z#7%
= R AS
IR B8 SR
ATO065 FL |AT075 FL |AT090 FL |AT110 FL |AT140 FL |AT170 FL [AT210 FL | AT240 FL | AT280 FL

AT065 FL1]ATO075 FL1{AT090 FL1AT110 FL1| AT140 FL1|AT170 FL1)AT210 FL1 AT240 FL1 AT280 FL1
AT065 FH |AT075 FH [AT090 FH |AT110 FH [AT140 FH | AT170 FH |AT210 FH [ AT240 FH | AT280 FH

AT065 FC [AT075 FC |AT090 FC [AT110 FC | AT140 FC [AT170 FC | AT210 FC [ AT240 FC | AT280 FC
AT065 FR1AT075 FR1AT090 FR1AT110 FR1|AT140 FR1AT170 FR1|AT210 FR1AT240 FR1AT280 FR1

1 25 45 78 150 360 585 1,300 2,150 3,200
1.5 25 45 78 150 360 585 1,300 2,150 3,200

2 24 42 68 150 330 544 1,220 2,010 3,050
1 3 18 33 54 120 270 450 1,020 1,650 2,850
4 13 28 48 100 224 376 860 1,410 2,300
5 12 25 40 85 196 320 740 1,210 2,000
7 12 12 33 91 91 91 195 358 358

10 24 28 68 150 208 208 430 846 846
15 18 33 54 120 270 312 645 1,269 1,269

2 20 13 28 48 100 224 376 860 1,410 1,692
BEWMBNE Tan Nm 25 12 25 40 85 196 320 740 1,210 2,000
35 12 25 40 85 196 320 740 1,210 1,790
50 12 25 40 85 196 320 740 1,210 1,465
75 = = = 120 210 312 585 1,269 1,269
100 = = = 100 224 376 780 1,410 1,692
125 = = = 85 196 320 740 1,210 2,000
150 = = S 120 135 312 390 975 975
° 200 = = = 100 180 376 520 1,300 1,300
250 = = = 85 196 320 650 1,210 1,625
350 = = = 85 196 320 740 1,210 1,790
500 = = = 85 196 320 740 1,210 1,465
RAMEIIE T Nm 1,2,3  1~500 2 (EEE R JI%E
1 1~5 7,500 6,500 5,500 4,500 3,500 3,000 2,200 2,000 1,700
RAMEBHNEE n 1o rpm 2 7~50 8,000 8,000 6,000 6,000 6,000 6,000 4,800 3,600 3,600
3 75~500 - = = 8,000 8,000 6,000 6,000 6,000 6,000
1 1~5 <6 <6 <6 <6 <6 <6 <6 <6 <6
g © arcmin 2 7~50 <8 <8 <8 <8 <8 <8 <8 <8 <8
3 75~500 - = = <0 <10 <10 <10 <10 <10

BIFEES Fus

i 42 N 123 1~500 900 1,100 1,700 2,700 4,800 6,600 11,500 16,000 18,000

SRR G ©
BIFEET) F o N 1,23 1~500 450 550 850 1,350 2,400 3,300 5,750 8,500 9,000

it d2
i e hr 123 1~500 20,000
o~ >0K0

Mz N % 1 =) 298%

23 7~500 294%
ERRE °c 123 1~500 -10°C ~90°C
g & AR A
K {8 (n=150Qrpm, No Load) dB(A) 123 1~500 <71 <72 <76 <77 <78 <79 <81 <83 <84

75



AT/ ATB Fif 2RI Z 5
FE R
FIEALE AL AR

1 0.51 130 314 7.62 2354 59.09 195.96 365.38 787.63
1.5 046 115 280 6.65 19.34 4938 156.02 279.62 584.28
2 044 110 268 6.23 17.72 4544 140.80 245.78 500.26
3 043 1.09 264 6.08 17.16 44.11 135.51 233.75 471.56
4 043 1.08 263 6.05 17.03 43.79 134.14 230.77 464.76
5 043 1.08 263 6.04 16.99 43.69 133.71 229.71 462.08

7 015 015 050 279 279 279 991 2926 29.26

10 015 015 050 280 280 280 996 2943 29.43

15 015 015 050 280 280 280 996 2943 29.43

2 20 015 015 050 280 280 280 996 2943 29.43

HRE J. kg + cm’ 25 015 015 050 280 280 280 996 2943 29.43
35 015 015 050 279 279 279 991 2926 29.26

50 015 015 050 279 279 279 989 2920 29.20

75 - - - 280 280 280 996 2943 2943
100 - - - 280 280 2580 996 2943 2943
125 - - - 280 280 280 996 2943 2943
150 - - - 279 279 279 989 2920 29.20
’ 200 - - - 279 279 279 989 2920 29.20
250 - - - 279 279 279 989 2920 29.20
350 - - - 279 279 279 989 2920 29.20
500 = = = 279 279 279 989 2920 29.20

]
Bl

| T8 | ®EE | AT065 | ATO075 | AT090 | AT110 | AT140 | AT170 | AT210 | AT240

1 1~5 2.8 4.4 71 121 20.9 36.1 69.4 101.2 158.3
FL Series 2 7~50 3.2 4.8 8.1 143 242 38.5 741 1124 171.0
3 75~500 - - - 13.9 23.7 38.8 734 110.2 168.7
1 1~5 2.7 4.3 71 11.9 20.3 35.5 68.3 99.6 156.0
FL1 Series 2 7~50 3.2 4.8 8.0 14.2 23.9 37.9 73.0 110.8 168.6
3 75~500 - - - 13.8 234 38.2 723 108.6 166.4
kg 1 1~5 2.6 41 6.7 11.4 18.9 32.9 63.2 925 146.0
FH Series 2 7~50 3.1 4.6 7.7 13.6 22.4 35.3 67.9 103.7 158.7
3 75~500 - - - 13.3 219 35.6 67.2 1015 156.5
1 1~5 29 4.4 7.2 11.8 20.4 35.0 66.5 96.0 151.7
FC Series 2 7~50 3.3 4.9 8.2 141 241 37.4 712 107.2 1644
3 75~500 - - - 13.7 23.5 37.5 70.5 105.0 162.2
1 1~5 2.7 4.3 71 11.9 20.3 355 68.3 996 156.0
FR1 Series 2 7~50 3.2 4.8 8.0 14.2 23.9 37.9 73.0 110.8 168.6
3 75~500 - - - 13.8 23.4 38.2 723 108.6 166.4

A REE (i=N, /N,,) C. RAMEMANILRE ne EAFMANPOMNE

B. BIRERTE 2% FENE gl A TN E. D. EEUsEMAFHH 10,000 /AT

76



L1

L1 D1

L11

poy
C

AT-FL/ ATB-FL &7

Bl

L6

R~ (8273, BERLE i=1~5)

Key acc. to DIN6885/1

: } f : | {fo) I 2
s I
o V% N D6 L9
% ’
AX 7_&-
. (Y . Shatt Option S1 2034 ghaft Option S2 2035 L9
hr
(Output Shaft)
1
} D15
o ; ——
6' | i
| oc7
act c2
B
Y
5wl ) | 2 wl o
= [=] [=} ‘ [=} =] = o
8| 8| ® 8| 8| § 8| 8

ATOBSFL |  ATO75FL | ATOS0 FL | AT110 FL
D1 M4 M6 M6 M8

D3 «6
D4 w7
D5
D6
D7
D12

D14 n7

D15
L1
L2
L3
L4
L5
L6
L7
L8
L9
L10
L11
L13
L21
L22
c1'
Cc2'
C3'
C4'
C5'
C6'’
C7'
Cc8'’
C9'
C10'
B1 he
H1

L4

L7

L4 L2

13
63
31
M4
21
62
63
62.9
65
19.5
13
2
16
2
47.5
67
4.5
10
27
13
49
81.5
46
M4

<1/ <122

30
30
3.5
42
19.5
133.5
13.25

15

16
73
35
M5
22
72
73
72.9
75
30
14.5
2
25
25
54
84
4.8
12.5
30
15
60.5
98
70
M5

<14/ 15.875/ <16’

34
50
8
60
19

154.5

13.5

18

18
88
43
M5
28
86
88
87
90
35
15
2
28
3.5
62
97
4.8
12.5
36
15
63
108
100
M6
<19
40
80

90
17
170

10.75

20.5

22
108
53

M8
33
106
108
107
110
40

15

32

72
112
7.2

19
44

15

69.5
124.5
100

M6
<24

40

80

90
17
196.5
10.75

24.5

M10
32
135
68
M12
47
104
135
105
140
50
15
2
45
25
87
137
10
28
55
15
85.5
155.5
130
M8
<32
50

110

115
19.5
245

13
10
35

M12
40
165
83
M16
55
128
165
127
170
60
15
2
50
5
102
162
12
36
67
15
95
180
165
M10

<38

60
130

142
22.5
287.5
15
12
43

M16
50
205
104
M16
75
160
205
158
210
5
20
2
70
25
127
202
12
36
85
20
130
235
215
M12

<42

85
180
6
190
29
369

20.75

14
53.5

M16
55
235
124
M16
85
180
235
178
240
85
25
2
80
25
147
232
12
36
95
25
144.5
264.5
215
M12

<48
85
180
6
190
29
413.5
20.75
16
59

[BAL: mm]

M16
60
275
144
M20
110
200
275
198
280
110
25
2
100

167
277
15
42
110
25
135
275
235
M12
<55
116
200

220
63
478
53.5
18
64

77



AT-FL / ATB-FL %%l

R~ W, g Bl i=7~50)

L3 oLt 13
L11 L11 D1
=
D i
- o\,
5 44
[ :
4 E=] :
pat T &
%
A S
$ 4
bt
\ ria @D15
= —
[}

Shaft Option S1

@D7.

@04 17
205
207
a b
o |9 F
Q

2D5

@D4 17

N
-¢- N ¢' %,
2
L2 L4 L4 L2
——f—
L7 L7
L8 L8

D1 M4 M6 M6 M8

D3 ke 13 16 18
D4 n7 63 73 88
D5 31 85) 43
D6 M4 M5 M5
D7 21 22 28
D12 62 72 86
D14 w7 63 73 88
D15 62.9 72.9 87
L1 65 75 90
L2 19.5 30 35
L3 13 14.5 15
L4 2 2 2
L5 16 25 28
L6 2 2.5 3.5
L7 47.5 54 62
L8 67 84 97
L9 4.5 4.8 4.8
L10 10 12.5 12.5
L11 27 30 36
L13 13 15 15
L21 75 84.5 99
L22 107.5 122 144
c1® 46 46 70
c2° M4 M4 M5
Cc3°® <12 <12 <16
Cc4° 30 30 34
C5° 30 30 50
Ce6*° 3.5 3.5 8
c7°® 42 42 60
c8?® 21.5 21.5 21.5
Cc9*® 161.5 181 210.5
c10° 14.5 14.5 15.5
B1 ho ) ® 6
HA1 15 18 20.5

22
108
53
M8
33
106
108
107
110
40
15

32

72
112
7.2

19
44

15
122
177
100
M6
<24
40

80

92
20
252
13

24.5

@D3 ks

Shaft Option S2

, Bl L6

T3

©

D6 L9

+ Key acc. to DIN6885/1

Y

2D3 ks

(Output Shaft)

@D14 v7

L10
|—e]

2C5
ac3

2D12

C8

L21

L22

Cc9

[B: mm]

M10
32
135
68
M12
47
104
135
106
140
50
15
2
45
25
87
137
10
28
55
15
144.5

2145
100
M6

<24
40
80

92
20
304.5
13
10
35

M12
40
165
83
M16
55
128
165
127
170
60
15
2
50
5
102
162
12
36
67
15
157.5

2425
100
M6

<24
40
80

92
20
347.5
13
12
43

M16
50
205
104
M16
75
160
205
158
210
75
20
2
70
25
127
202
12
36
85
20
206.5
311.5
130
M8
<32
50
110

115
24
440.5
16
14
53.5

M16
55
235
124
M16
85
180
235
178
240
85
25
2
80
25
147
232
12
36
95
25
239
359
165
M10
<38

60
130

142
31
510
21
16
59

M16
60
275
144
M20
110
200
275
198
280
110
25
2
100

167
277
15
42
110
25
248
388
165
M10
<38
60
130

142
31
559
21
18
64

78



AT-FL / ATB-FL %%
JRAF (=71, 98GE b i=75~500)

L3 ou 13
L11 L11 D1
Y &
- o , . Bl 6, L5
= o
- % i % | | Key acc. to DING885/1
!
T ]
i I - =)
- B B [ &y p==
- 75 N
& 2 J
i @ @ D6 L9
= ! Shat Option S1 20315 ghaft Option S2 2031 L5l

(Output Shaft)

@D15

AT110 FL
o M8

D3 «6
D4 w7
D5
D6
D7
D12

Dtew

D15
L1
L2
L3
L4
L5
L6
L7
L8
L9
L10
L11
L13
L21
L22
c1*
c2*
Cc3*
c4*
c5*
c6*
cr*
cs*
co*

c10*

B1 he
H1

L7

L7

L8

L8

22
108
53
M8
33
106
108
107
110
40
15

32

72
112
7.2

19
44

15

136.5
191.5

46
M4
2

30

30
3.5

42

21.5
268
14.5

24.5

M10
32
135
68
M12
47
104
135
106
140
50
15
2
45
25
87
137
10
28
55
15
159.5
229.5
46
M4
2
30
30
3.5
42
21.5
321
14.5
10
35

M12
40
165
83
M16
55
128
165
127
170
60
15
2
50
5
102
162
12
36
67
15
183.5
268.5
70
M5
6
34
50

60
21.5
375
15.5

12

43

122 |

c9

aci c2 c6 < I___|.__|
~h<s 3
AN 8
@, . ¢ \B\c d @, O |—
T — o ~. =
N N B 7N o
IS e 5l 8| < 3 11| 8 \ o
8| 8| § SIRSIES [S] g Jj o
® ) Nt/ -
g 5 =
& q : -
@ £} L @ Q _1
2 [ L4 cs 121 \[ ot

M16
50
205
104
M16
75
160
205
158
210
75
20
2
70
25
127
202
12
36
85
20
226
331
70
M5
<6
34
50

60
21.5
457.5
15.5
14
53.5

M16
55
235
124
M16
85
180
235
178
240
85
25
2
80
25
147
232
12
36
95
25
269
389
100
M6
24
40
80

92
20
529
13
16
59

[BAL: mm]

AT140 FL AT170 FL AT210 FL AT240 FL AT280 FL

M16
60
275
144
M20
110
200
275
198
280
110
25
2
100

167
277
15
42
110
25
278
418
100
M6
24
40
80

92
20
578
13
18
64




AT-FL1/FR1 /ATB-FL1/FR1 &3]
JRSF (BT, g bl i=1~5)

AT-FL1 / ATB-FL1 AT-FR1 / ATB-FR1
13 oLt 13
L1 L11 D1 L. =
) o3 © ©
= Ir‘\ Blw I/\
_"_@ | {o) =
5 - ""-V;, N D6 i “,- E(J' >
- 9 " i Shaft Option @3 Shaft Option 2031 P e D
3 Sl =2 (Output Shaft)
HE @D15 :
o ! l R
°l
oor L
ca .
e ac2 e :
Q
7
= ol ~ . 0 1Y) g
388 83 8 & i
".
2 | w | cs 121
7 7 Lo2
18 co
[BAL: mm]
M10 M12 M16 M16 M16
D3 k6 1 3 16 18 22 32 40 50 55 60
D4 n7 63 73 88 108 135 165 205 235 275
D5 31 35 43 53 68 83 104 124 144
D6 M4 M5 M5 M8 M12 M16 M16 M16 M20
D7 21 22 28 33 47 55) 75 85 110
D12 62 72 86 106 104 128 160 180 200
D14 n7 63 73 88 108 135 165 205 235 275
D15 62.9 729 87 107 105 127 158 178 198
L1 65 75 90 110 140 170 210 240 280
L2 19.5 30 35 40 50 60 75 85 110
L3 13 14.5 15 15 15 15 20 25 25
L4 2 2 2 2 2 2 2 2 2
L5 16 25 28 32 45 50 70 80 100
L6 2 25 3.5 4 2.5 5) 2.5 2.5 5
L7 475 54 62 72 87 102 127 147 167
L8 67 84 97 112 137 162 202 232 277
L9 4.5 4.8 4.8 7.2 10 12 12 12 15
L10 10 12.5 12.5 19 28 36 36 36 42
L11 27 30 36 44 55 67 85 95 110
L13 13 15 15 15 15 15 20 25 25
L21 49 60.5 63 69.5 85.5 95 130 144.5 135
L22 81.5 98 108 124.5 155.5 180 235 264.5 275
Cc1° 46 70 100 100 130 165 215 215 235
Cc2° M4 M5 M6 M6 M8 M10 M12 M12 M12
C3° Q1/92° 94/ 35.875/ 96° <9 24 32 38 <42 8 55
C4° 30 34 40 40 50 60 85 85 116
C5° 30 50 80 80 110 130 180 180 200
C6° 3.5 8 4 4 5 6 6 6 6
Cc7° 42 60 90 90 115 142 190 190 220
c8°® 19.5 19 17 17 19.5 22.5 29 29 63
Cc9° 133.5 154.5 170 196.5 245 287.5 369 413.5 478
c10° 13.25 13.5 10.75 10.75 13 15 20.75 20.75 53.5
B1 ho 5 5 6 6 10 12 14 16 18
H1 15 18 20.5 24.5 35 43 53.5 59 64

80



AT-FL1/FR1/ATB-FL1/FR1 &%
RS T, Y B i=7~50)
AT-FR1 / ATB-FR1

AT-FL1 / ATB-FL1

oLt

L3

L11 L11 D1 L 2
|
D & Q
- o\, o\,
5 ed b =
H H
_% : Bl 5 ] =
= P “'*;(,, g n Key acc. to DIN6885/1 "'*;/,
“ R - —_— ¢
T 0~ ° =| Gy o
i |
D6
[}
Shaft Option 203 shaft Option 203 s
s1
(Output Shaft)
; 5] D15 =
g || i
ocr EC3
2c1 c2 G4 = L11 L11
a
cs, S
Q N \ 9, g
N «
HI RS Vol o] 2| oo g 777\
2| 8l & 8l x| 8[3 g
gl 8| & sl gl =v|s |
ST
© o ] o)
L4 c8 L21
L7 L7 L22
L8 )

[BAL: mm]
R 1 e D e i e

M10 M12 M16 M16 M16
D3 k6 1 3 1 6 1 8 22 32 40 50 55 60
D4 w7 63 73 88 108 135 165 205 235 275
D5 31 35 43 53 68 83 104 124 144
D6 M4 M5 M5 M8 M12 M16 M16 M16 M20
D7 21 22 28 33 47 55 75 85 110
D12 62 72 86 106 104 128 160 180 200
D14 w7 63 73 88 108 135 165 205 235 275
D15 62.9 72.9 87 107 106 127 158 178 198
L1 65 75 90 110 140 170 210 240 280
L2 19.5 30 35 40 50 60 75 85 110
L3 13 14.5 15 15 15 15 20 25 25
L4 2 2 2 2 2 2 2 2 2
L5 16 25 28 32 45 50 70 80 100
L6 2 25 3.5 4 2.5 5 25 25 5
L7 47.5 54 62 72 87 102 127 147 167
L8 67 84 97 112 137 162 202 232 277
L9 4.5 4.8 4.8 7.2 10 12 12 12 15
L10 10 12.5 12.5 19 28 36 36 36 42
L11 27 30 36 44 55 67 85 95 110
L13 13 15 15 15 15 15 20 25 25
L21 75 84.5 99 122 144.5 157.5 206.5 239 248
L22 107.5 122 144 177 214.5 242.5 311.5 359 388
c17 46 46 70 100 100 100 130 165 165
c2’ M4 M4 M5 M6 M6 M6 M8 M10 M10
Cc3’ <12 <12 <16 <24 <24 <24 <32 <38 <38
c47 30 30 34 40 40 40 50 60 60
Cc57 30 30 50 80 80 80 110 130 130
Cc6’ 3.5 3.5 8 4 4 4 5 6 6
c7’ 42 42 60 92 92 92 115 142 142
cs8’ 21.5 215 21.5 20 20 20 24 31 31
c9’ 161.5 181 210.5 252 304.5 347.5 440.5 510 559
Cc107 14.55 14.5 15.5 13 13 13 16 21 21
B1 ho 5) 5 6 6 10 12 14 16 18
H1 15 18 20.5 24.5 35 43 53.5 59 64

81



AT-FL1/FR1 /ATB-FL1/FR1 5
A
AT-FL1/ ATB-FL1

, PR

oLt

L3

i Lt i=75~500)

L11

L11

Lt

/

N/

@D4 v
@D5
207

D1

I

| @03 ghaft Option

Blw

— =

D6
2D3 s

(Output Shaft)

AT-FR1 / ATB-FR1

@D14 17

L21

oD12
Z
\\
g

®
¥ 1€ | |
=1
[}
Shaft Option
81
D15
= =
g ﬁ
o
oc7
2C1 C2
9, ¢ \7 [¢3
O
o A}
belelsl g
SIRSIN] S}
L) o
o s
L2 L4 c8
L7 L7

L8

L22

C9

L4 L2

Y
e

[

P B

/

I

S
N

st

[BAfar: mm]

_ AT110 FL1/FR1 AT140 FL1/FR1 | AT170 FL1/FR1 | AT210 FL1/FR1 | AT240 FL1/FR1 | AT280 FL1/FR1

D3 k6
D4 w7
D5
D6
D7
D12

D14 n7

D15
L1
L2
L3
L4
L5
L6
L7
L8
L9
L10
L11
L13
L21
L22
c1t
c2®
c3®
C4°
cs5°®
Cc6°
c7t
cs®
co®

c10°®

B1 ho
H1

22
108
53
M8
33
106
108
107
110
40
15

32

72
112
7.2

19
44

15

136.5
191.5

46
M4
<12

30

30
3.5

42

215
268
14.5

245

M10
32
135
68
M12
47
104
135
106
140
50
15
2
45
25
87
137
10
28
55
15
159.5
229.5
46
M4
<12

30
30
3.5
42

215
321

14.5
10
35

M12
40
165
83
M16
55
128
165
127
170
60
15
2
50
5
102
162
12
36
67
15
183.5
268.5
70
M5
<16

34
50

60
215
375
15.5

12

43

M16
50
205
104
M16
75
160
205
158
210
75
20
2
70
25
127
202
12
36
85
20
226
331
70
M5
<16

34
50

60
21.5
4575
15.5
14
53.5

M16
55
235
124
M16
85
180
235
178
240
85
25
2
80
25
147
232
12
36
95
25
269
389
100
M6
<24

40
80

92
20
529
13
16
59

M16
60
275
144
M20
110
200
275
198
280
110
25
2
100

167
277
15
42
110
25
278
418
100
M6
<24
40
80

92
20
578
13
18
64

82



@D4 7

L11

L11

13 ou 13
L11 L11 D1
L~
(o} & ]
AN fod | o
R | S
F
5 AL
o / \,
8 < D
i © ©
b
[}
i | i 2015
_<—_—'—>_'_
&f 1 il

2c1

C2

@D5
@D7

@D7
@D5
@D4 7

L7

L7

Ca

AT-FH /ATB-FH Z7%
R~ (2

, YA

\

2D14 7

aC5
2Cc3

@D12

C8|

I L11
oLt

L1

L21

Cc9

L Key acc. to DIN6885/1

Lk i=1~5)

[BL: mm]

_

D2 w7
D4 n7
D5
D7
D12
D14 n7
D15
L1
L3
L4
L7
L11
L13
L21
L22
L23
L24
c1°
c2°
c3°
C4°
C5°
c6°
Cc7°
cs?
c9°
c10°
B3 po
H3

13 14 18
63 73 88
31 35 43
21 22 28
62 72 86
63 73 88
62.9 72.9 87
65 75 90
13 14.5 15

2 2 2
47.5 54 62
27 30 36
13 15 15
49 60.5 63
81.5 98 108
40 47 52
30 32 35
46 70 100
M4 M5 M6

<11/ <12° 14/ <15.875/ <16° <19

30 34 40
30 50 80

3.5 8 4
42 60 90
19.5 19 17
133.5 154.5 170

13.25 13.5 10.75

5 5 6

15.3 16.3 20.8

22
108
53

33
106
108
107
110
15

72
44
15

69.5

124.5
53
35

100
M6
<24
40
80
4
90
17
196.5
10.75
6
24.8

M10
32
135
68
47
104
135
105
140
15

87
55
15
85.5
155.5
70
50
130
M8
<32
50
110

115
19.5
245

13
10
35.3

M12
40
165
83
55
128
165
127
170
15

102
67
15
95

180
80
55

165

M10

<38

60
130

142
225
287.5
15
12
43.3

M16
50
205
104
75
160
205
158
210
20
2
127
85
20
130
235
95
65
215
M12
<42
85

180

190
29
369
20.75
14
53.8

M16
55
235
124
85
180
235
178
240
25
2
147
95
25
144.5

264.5
115
80
215
M12
<48
85
180

190
29
413.5
20.75
16
59.3

M16
60
275
144
110
200
275
198
280
25
2
167
110
25
135
275
115
80
235
M12
<55
116
200

220
63
478
53.5
18
64.4

83



AT-FH /ATB-FH %%
SR~ OV, 90 Eli=7~50)

D1 M4 M6 M6 M8

D2 w7
D4 n7
D5
D7
D12
D14 n7
D15
L1

L3
L4
L7
L1
L13
L21
L22
L23
L24
C1 "
C211
0311
C411
0511
C611
C711
0811
Cgﬂ
c1o"
B3 po
H3

@D4 7

L11

L11

2D5

13 oLt L3
L1 L1 D1
L~
D} & S
—-ﬂrﬁ.—J |24 S
N L S
F
= g B
o ’ \,
8l [] « >
T ¢ @ |
bl
[
i 2D15
o .
oi_l_._
ocr
aci c2
o) ¢ \5‘0
- \
R T .
o al o
8 8] 8

@D4 7

L7

L7

13
63
31
21
62
63

62.9
65
13

2

47.5
27
13
75

107.5
40
30
46
M4

<12
30
30
3.5
42

215

161.5

145

15.3

14
73
35
22
72
73
729
75
14.5

54
30
15
84.5
122
47
32
46
M4
<12
30
30
3.5
42
21.5
181
14.5

16.3

18
88
43
28
86
88
87
90
15

2
62
36
15
99

144
52
35
70
M5
<16
34
50

8

60
215
2105
155

20.8

22
108
53
33
106
108
107
110
15

72
44
15

122

177
53
35

100
M6

<24
40
80

92

252
13

24.8

C4

@D14 n7

2D12

@C5
@C3

C8|

I L11
ou

L11

L21

L22

c9

M10
32
135
68
47
104
135
106
140
15

87
55
15
144.5
214.5
70
50
100
M6
<24
40
80

92
20
304.5
13
10
353

170FH | AT210FH
M12 M16

40
165
83
55
128
165
127
170
15

102
67
15

157.5
242.5
80
55

100
M6

<24

40
80

92
20
347.5
13
12
43.3

50
205
104

75
160
205
158
210

20

2
127
85
20
206.5
311.5

95

65
130

M8
<32

50
110

115
24
4405
16
14
53.8

1 Key acc. to DIN6885/1

[ mm]

M16
55
235
124
85
180
235
178
240
25
2
147
95
25
239
359
115
80
165
M10
<38

60
130

142
31
510
21
16
59.3

M16
60
275
144
110
200
275
198
280
25
2
167
110
25
248
388
115
80
165
M10
<38
60
130

142
31
559
21
18
64.4

84



AT-FH /ATB-FH %7

AT110FH AT140FH AT170FH AT210FH
D1 M8 M10 M12 M16

D2 w7
D4 n7
D5
D7
D12
D14 w7
D15
L1
L3
L4
L7
L1
L13
L21
L22
L23
L24
Cc1
0212
C312
ca
C5"
C612
c7?
c8 ™
0912

c10"

B3 po
H3

22
108
53
33
106
108
107
110
15

72
44
15

136.5

1915
53
35
46
M4

<12
30
30
35
42
215
268
145

24.8

32
135
68
47
104
135
106
140

15

87
55
15
159.5
229.5
70
50
46
M4
<12
30
30
3.5
42
215
321
14.5
10
35.3

40
165
83
55
128
165
127
170
15

102
67
15

183.5
268.5
80
55
70

M5

<16
34
50

60
215
375
15.5

43.3

e = = = -
R~ (=75, JHiEREkE i=75~500)
L3 oL L3
L11 L11 D1
L~
.o ',Q'_ S
L23 A L24 o
— -1 [=}
3 ¥ iy S
[}
oo e i
) S S S D
5l s - 1‘(/)-— t==< - - 11
S) A%
[l 24 1= '@'
=]
¥
@D15
|— ]
l ncr ca L11 L11
@ci c2 s - |/— Key ace. to DING8BS/1
[=]
A S
@, ¥ \%‘ [
S
\ q o
= ® = 8
HEE bal gl 2 glgl | = =
g|8| 8 B sl 8| 8 SARSE = | o
Q i
o) ) L
C8 L21
s (L |
L22
L7 L7
ce

50
205
104

B
160
205
158
210

20

2
127

85

20
226
331

95

65

70

M5
<16

34

50

60
215
457.5
15.5
14
53.8

M16
55
235
124
85
180
235
178
240
25
2
147
95
25
269
389
115
80
100
M6
<24

40
80

92
20
529
13
16
59.3

[BAL: mm]

280FH
M16
60
275
144
110
200
275
198
280
25
2
167
110
25
278
418
115
80
100
M6
<24
40
80

92
20
578
13
18
64.4

85



AT-FC / ATB-FC %%
R~ (¥ 5KEEEE i=1~5)

L3 oLt L3 D1
EG' L11 L11 L26
25 025 |
— o AT
pri X ::::E - 1.
HIE | 8| s
=| 8 & SR
4 by
o &
it
HER 2015
] ——
ocr
2C1 @Cc2
L2 L4 L4 L2
L7 L7
L8 L8
[EAfaL: mm]
ATO65FC ATO75FC ATO90FC | AT110FC | AT140FC | AT170FC | AT210FC | AT240FC | AT280FC
D1 M4 M6 M6 M8 M10 M12 M16 M16 M16
D2 1o 13 14 18 22 32 40 50 55 60
D3 s 16 16 22 25 44 50 62 68 75
D4 63 73 88 108 135 165 205 235 275
D12 62 72 86 106 104 128 160 180 200
D14 n7 63 73 88 108 135 165 205 235 275
D15 62.9 72.9 87 107 105 130 158 178 198
D17 26 26 36 38 61 70 86 86 100
D18 41 41 50 50 80 90 10 15 138
L1 65 75 90 10 140 170 210 240 280
L2 14 14 18 18 24 26 29 29 30.5
L3 13 14.5 15 15 15 15 20 25 25
L4 2 2 2 2 2 2 2 2 2
L7 475 54 62 72 87 102 127 147 167
L8 66 72.5 85 95 116.5 1335 1615 1815 205
L11 27 30 36 44 55 67 85 95 110
L13 13 15 15 15 15 15 20 25 25
L21 49 60.5 63 69.5 855 95 130 1445 135
L22 81.5 98 108 1245 155.5 180 235 264.5 275
L23 15 15 20 20 26 28 31 31 325
L4 15 15 20 20 26 28 31 31 325
L25 15 15 19.5 19.5 25.5 27.5 30.5 30.5 32.5
126 185 185 23 23 295 315 34.5 345 38
c1 46 70 100 100 130 165 215 215 235
c2° M4 M5 M6 M6 M8 M10 M12 M12 M12
c3’ <11/ <124<14/<15875/ <16" <19 <04 <32 <38 <42 <48 <55
c4" 30 34 40 40 50 60 85 85 16
c5™ 30 50 80 80 110 130 180 180 200
c6" 35 8 4 4 5 6 6 6 6
c7’ 42 60 90 90 15 142 190 190 220
c8’ 195 19 17 17 195 225 29 29 63
co” 1335 154.5 170 196.5 245 2875 369 4135 478
c10” 13.25 135 10.75 10.75 13 15 20.75 20.75 53.5

86



D1 M4 M6 M6 M8 M10 M12

D2 He

D3 ne

D4 n7

D12

D14 n7

D15

D17
D18

L1

L2
L3

L4

L7

L8

L1
L13
L21
L22
L23
L24

L25

L26
c1
c2's
c3's
Cc4'5
Cc5'5
c6'°
c7'5
cs’s
co's
c10™

L11

L11

2D18

L26 L11 L11 26
L25 L25
| ® P4
y (2
|
b R e el 9
L24 ! L24
BT '
ol & i
= @ "7 N
o 0,
1o} .
o] |-
]|
[
) o D15
8; | —" %
ocr
aci ac2
z| af &
[=}
s| 8§ 8

13
16
63
62
63
62.9
26
41
65
14
13
2
47.5
66
27
13
75
107.5
15
15
15
18.5
46
M4
<12
30
30
3.5
42
21.5
161.5
14.5

1DD2 e

D3 ne

@D4 n7

14
16
73
72
73
72.9
26
41
75
14
14.5

54
72.5
30
15
84.5
122
15
15
15
18.5
46
M4
<12
30
30
3.5
42

215
181
14.5

18
22
88
86
88
87
36
50
90
18
15
2
62
85
36
15
99
144
20
20
19.5
23
70
M5

<16

34
50
8
60
21.5
210.5
15.5

22
25
108
106
108
107
38
50
110
18
15

72
95
44
15

122

177
20
20

19.5

23
100
M6
<24

AT-FC /| ATB-FC 3%l

———
R~ (&5,
c4
% <
a
8
o
n [} E
8 o‘ S|
8| 8
cs 121
122

32
44
135
104
135
106
61
80
140
24
15

87
116.5
55
15
144.5
214.5
26
26
255
29.5
100
M6
<24
40
80

92
20
304.5
13

L11

L1t

2

FRIREE i=7~50)

L11

L1

o)

oLt

Cc9

40
50
165
128
165
127
70
90
170
26
15

102
133.5
67
15
157.5
2425
28
28
27.5
31.5
100
M6
<24

40
80

92
20
347.5
13

[BL: mm]

M16

M16 M16
50 55
62 68
205 235
160 180
205 235
158 178
86 86
110 115
210 240
29 29
20 25
2 2
127 147

161.5 181.5

85 95

20 25
206.5 239
311.5 359

31 31
31 31

30.5 30.5

34.5 34.5
130 165
M8 M10

=32 <38

50 60
110 130
5 6
115 142
24 31

440.5 510

16 21

60
75
275
200
275
198
100
138
280
30.5
25

167
205
110
25
248
388
32.5
32.5
32.5
38
165
M10
<38
60
130

142
31
559
21

87



AT-FC / ATB-FC &7%||
R~ (=75, BEIEEE i=75~500)

13 oL 13
L26 L1 L1 L26
L25 L25
=fe 1]

A

L11

L11
D18
2D17
r———l
i
m m
I i
AL AR
/
I
2D17
D18

L13
—— ]

c10
i<}
®

@D14 17

2D12

@D4 n7
 @D3ns

QD2 1s,

D2 6}
@D3 ne
@D4 v
@C5
D!
==
Poy o e U

L2 C8 L21
L7 L7 L22
L8 L8 C9
[BAfir: mm]
AT110FC AT140FC AT170FC AT210FC AT240FC AT280FC

D1 M8 M10 M12 M16 M16 M16
D2 He 22 32 40 50 55 60
D3 hs 25 44 50 62 68 75
D4 n7 108 135 165 205 235 275
D12 106 104 128 160 180 200
D14 n7 108 135 165 205 235 275
D15 107 106 127 158 178 198
D17 38 61 70 86 86 100
D18 50 80 90 110 115 138
L1 110 140 170 210 240 280
L2 18 24 26 29 29 30.5
L3 15 15 15 20 25 25
L4 2 2 2 2 2 2
L7 72 87 102 127 147 167
L8 95 116.5 133.5 161.5 181.5 205
L1 44 55 67 85 95 110
L13 15 15 15 20 25 25
L21 136.5 159.5 183.5 226 269 278
L22 191.5 229.5 268.5 331 389 418
L23 20 26 28 31 31 32.5
L24 20 26 28 31 3 32.5
L25 19.5 255 27.5 30.5 30.5 325
L26 23 29.5 31.5 34.5 34.5 38
c1'® 46 46 70 70 100 100
c2'® M4 M4 M5 M5 M6 M6
[ox <12 <12 <16 <16 <24 <24
c4'® 30 30 34 34 40 40
c5'" 30 30 50 50 80 80
c6'® 3.5 3.5 8 8 4 4
Cc7'® 42 42 60 60 92 92
c8'® 21.5 21.5 21.5 21.5 20 20
co'e 268 321 375 457.5 529 578
c10® 14.5 14.5 15.5 15.5 13 13

88



;

h)

-~

N
S
1
|
1
1
A

I

i

|

|

b
ik
-

1

|

b

&
'
-+ -+
'
Y

¥ o) &

AT-4M
ATB-4M
AT-LM
ATB-LM

AT-RM
ATB-RM

89

FR1 I

| ] . [ R
L e o [ 1 o o I
P Lo | g
— -t e— — - — e
,\--_--:_h,(,\.. 1T oy \_--_--_4_?,&\_- 1717 - ,\_----_,_ﬂw
i R S om o 1 o e 1 e
| T = | | L |
i — Omg [ 1 =T !
' z g .
&i Q<L #@ = <
_m I < -
T i
Ww 0 = H .
EEQT o=
=
-l
ALLF < g
< Lmm
EEEE
<< <

AT-R1 AT-FR1
ATB-R1 ATB-



BORKLAYTT

ENTESEEE - N - ENEE - B

S2: Mg EH

--------------------------------------------- S
ORRMAES L o
AT065, AT075, AT090, AT110, AT140, 5 : RIRLE ;
| AT170, AT210, AT240, AT280 e 1Stage:1,15,2,3, 4,5 Lo
| ATBOGS5, ATBO75, ATBO90, ATB110, ATB140, | | | E
ATB170, ATB210, ATB240, ATB280 ___________________________________________
! AR B - P itk Wi 2 !
L/L1/H/C/R1/LM/RM/4M S1: FiBEH

_________________________________________________

1% FA3545): AT065-L-001.5-S1
ATB065-L-001.5-S1

LAT210/ATB210 Rl FL1 Qe 200 _QBEl  S1 QWA MOTOR |

| BIRALES |
| AT065, AT075, AT090, AT110, AT140, :
| AT170, AT210, AT240, AT280 ;

__________________________

OERE

1 Stage: 1,1.5,2,3,4,5 E E
! OiEFIERRES !

| 2Stage: 7,10, 15, 20, 25, 35,50 | |
ATBO65, ATBO75, ATB090, ATB110, ATB140, | ' ! B
ATB170, ATB210, ATB240, ATB280 ! '

3 Stage: 75, 100, 125, 150, 200,
250, 350, 500

________________________________________________________

IR - A .. '
o HEERE ;

FL/FLM1/FLM2/FL1/FL1M1/FL1M2/ [ . |
| 1 S1: EiBEM |

FR1/FR1M1/FR1M2/FH /FHM1/FHM2 / - '
b S2: MR E 4

FC/FCM1/FCM2 - !

_________________________________________________

£ FA3E5: AT210-FL1-200-S1 / SIEMENS 1FK6 032-6AK71
ATB210-FL1-200-S1 / SIEMENS 1FK6 032-6AK71

90



Series planetary gearbox
RN FTEREE

FEATURES
7= ot

FRERSHLHRA—GREHRT,
BRBA AR
TRRRAHRHRI,
BT SR SR R,
U R AR AR TS B X EIHRCE2,
AR T B R ST

#5731 FESME D S4B AT,
BB TR o

BN S DEMERERBIANE AR,
MR K ENRBEB N5,

Planetary boom and output shaft are intergrated
structure designed to ensure maximum torsional rigidity.

Planetary wheel with full needle design,increase the contact
area to improve the rigidity and output torque.

The gears are carburized and guenched to the HRC62 with low
carbon steel surface for optimum wear and impact toughness.

Gears refer to foreign imported software-assisted design
to obtain the best tooth shape to reduce noise.

The input terminal is connected to the motor shaft in a double-tight
manner to obtain the maximum clamping force and zero
backlash power transmission.




GENERAL NOTICES

1T 527 Al

- HE, BS HE

- RIE LW N iR

- ITRREEFR

- BERRERNBUMER

- ANATROANAER

- DA BB SHEEAZRDAMR T

— Type, model and torque

— Ratio or output speed

— Working conditions and connection methods

— Quantity and installed machine name

— Input mode and input speed

— Motor brand model or flange and motor shaft size

92



PLANETARY GEARBOX

TRV 8E B B /Performance

Spodtibtion i ot REE
3
4
5
1 6
7
8
10
12
15
HER S 1€
Rated output torque T2n Nm 20
25
2 28
30
35
40
50
60
70
80
100
% B D 3K 3 742 Motor shaft size mm 1.2 3-100
B K4 H 1 48 Maximum output torque Nm 1,2 3-100
BT 4\ B 5 /Rated input speed NN pm 1.2 3-100
. 1 3-10
# B /Backlash diemin
2 12-100
%R 14 /Torsional rigidity Nm/arcmin 1,2 3-100
B2 B 1/Allowable radial force F2ss N 1,2 3-100
¥ Hi 15 /1/Allowable axial force Fza N 1,2 3-100
fEF %4 ILifespan hr 1,2 3-100
3K [Efficiency % ! 3-10
2 12-100
FE /Weight kg ! 5-10
2 12-100
B MIRE Working temperature i 1,2 3-100
B33 F 4R /1P Grade 1,2 3-100
J8 78 /Lubricating
R4 7718 /Installation direction 1,2 3-100
1% 3% {8 (1 =3000rpm, 7 51%0) dB(A) 1,2 3-100

Noise level (n1=3000rpm off load)

93

PFO60
18
36
40
20
20
12
12
36
40
36
40
40
36
18
40
36
40
20
20
12
12

6-14

4000
<10
<12
1.8
220
240

1.1
1.4

PF0O80 PF0O90 PF115

40 50 125
90 110 230
110 125 260
40 50 90
40 50 90
22 32 70
22 32 70
90 110 230
110 125 260
90 110 230
110 125 260
110 125 260
90 110 230
40 50 125
110 125 260
90 110 230
110 125 260
40 50 90
40 50 90
22 32 70
22 32 70

14-19 14-19 16-24

%50 E % 71 %E /Double rated output torque

3500 3500 3500
<10 <10 <10
<12 <12 <12
4.7 4.85 11
400 430 1000
420 450 1240

10000

=96

>93
2.1 4.4 6.6
3 5 8.2

-10°C~80°C
IP54

4 B3 38 h B /Synthetic lubricating grease
1} %i\ 77_ 8] /In any direction
<63 <63 <68

PF142
290
460
550
340
340
210
210
460
550
460
550
550
460
290
550
460
550
340
340
210
210

19-35

2500
<10
<12
55
4500
4800

26.5
29.6



ik LN

oLl (8 ocy
18 L2
a B L5 16 2 &
Pl ~— \
e | P
533 "QI gy g‘” 1 ‘
5 2 gl e R
7 N L L4 @ \@
$ g - et )
V) N *7‘1,73 <
S o2 (6 2 >
& 4 2
> <

N

IR
A

2D3gb L7
BERS 1 CHbbTL

o R~F (#7%, REuEtt i=3~10)

R~ /Dimension PF060-L1 PF080-L1 PF090-L1 PF115-L1 PF142-L1
%D1 70 100 110 130 185
%D2 55 6.5 6.5 85 11
%D3 14 20 22 25 40
%D4 50 80 85 110 130

D5 17 25 30 35 55
D6 M5 M6 M6 M10 M12
D7 80 120 125 160 230
L1 60 90 92 120 176
%12 35 40 46 55 87
%13 3 3 5 4 5
L4 30 36 36 50 80
L5 25 25 32 40 70
L6 2.5 5 2 5 5
L7 12.5 18 18 23 25
L8 8 10 10 14 15
*C1 70 90 90 145 200
*C2 M4 M5 M5 M8 M12
*C3 6-14 14-19 14-19 19-24 24-35
*C4 315 a1 41 60 83
*Cb 50 70 70 110 1143
*C6 5 6 5 14 10
c7 60 80 80 130 180
c8 118.5 146.5 166 204.5 268.5
%B1 5 6 6 8 12
HH1T 16 225 245 28 43

94



i th B\
oLl c8 acr
‘ L8 L2
- L5 _ L6 S [ Ja
=it | P
S L;l ——3 % X0
i o Ve
DS s — | 13 B %
%QS ‘ oD2 (4 (2 %
Q &
o) G
o)3g6 17
HERS 1 CRlLL
R~F (X, R i=15~100)

R =t /Dimension PF0O60-L2 PF080-L2 PF090-L2 PF1156-L2 PF142-12
%D1 70 100 110 130 185
*D2 5.5 6.5 6.5 8.5 11
% D3 14 20 22 25 40
*D4 50 80 85 110 130

D5 17 25 30 35 b5
D6 M5 M6 M6 M10 M12
D7 80 120 125 160 230
L1 60 90 92 120 176
L2 35 40 46 b5 87
L3 3 3 5 4 [5)
L4 30 36 36 50 80
L5 25 25 32 40 70
L6 2.5 5 2 5 5
L7 12.5 18 18 23 25
L8 8 10 10 14 15
*C1 70 90 90 145 200
*C2 M4 M5 M5 M8 M12
*C3 6-14 14-19 14-19 19-24 24-35
*C4 315 41 41 60 83
*Ch 50 70 70 110 114.3
*C6 5 6 5 14 10
C7 60 80 80 130 180
C8 136.2 169.6 190.5 237 313.5
% B1 5 6 6 8 12
M H1 16 225 245 28 43

95



Series Planetary Gearbox
RAFTERERA

FEATURES
o R

TEEBRSwHMRXE—ARAEWRT, HESKOMERME,
TTERRBHRIET, EnEmERMNRSSWRESH HEE,
WEERARBRNRESHOEKEIHRC2, MRS RN BRI HHM,
WS BEMNE DR EHEBIRIT, MIRBEENEHRERIES,

NS DA MERERBRBRE AR, DIRREKRHI%
ENFBEHRNAAEE,

RAREASER IR, BFHHAES. LEPERE30% ML,
SEFRAER, LECERBASSEMNL,
RECERNESEE, SRERAKRTT, BEMETATY—, BEEFTK,

REPERNE, ERESHREDTSTE
tEliREd, NHRSEENZEEER,

Planetary boom and output shaft are intergrated
structure designed to ensure maximum torsional rigidity.

Planetary wheel with full needle design,increase the contact
area to improve the rigidity and output torque.

The gears are carburized and quenched to the HRC62 with low carbon
steel surface for optimum wear and impact toughness.

Gears refer to foreign imported software-assisted design to
obtain the best tooth shape to reduce noise.

The input terminal is connected to the motor shaft in a double-tight manner
to obtain the maximum clamping force and zero backlash power transmission.

Adopt spiral bevel gear design, allow high output torque,
more than 30% higher than straight bevel gear.

High tolerance input speed, more than 8 times
higher than straight bevel gear input.

The meshing tooth imprint of spiral bevel gear has been optimized
by optimum design, and the contact tooth surface load is uniform, and long running life.

Cochlear bevel gears are meshed by optimum motion error analysis and
strict process control to ensure high precision running back clearance.




GENERAL NOTICES

1T 58 A0

M, S HE

TR PE B HY A7 % A R
ITREZEERR
HERTEOME IR

AP ARFIN S R

DX RE S EEZ R DR HR T

Type, model and torque

Ratio or output speed

Working conditions and connection methods
Quantity and installed machine name

Input mode and input speed

Motor brand model or flange and motor shaft size

97



PLANETARY GEARBOX

TR ML BE BBl /Performance

cporll o S i RELL WPF042 WPF060 WPF080 WPF115 WPF142
3 8 18 40 125 290
4 18 36 90 230 460
5 16 40 110 260 550
6 8 20 40 90 340
: 7 8 20 40 90 340
8 bl 36 90 230 460
10 5 40 110 260 550
12 8 20 40 90 340
14 - 20 40 90 340
20 18 12 22 70 210
15 16 40 110 260 550
25 16 40 110 260 550
G Nm 30 16 18 40 125 290
Rated output torqueT 2N 35 16 40 110 260 550
40 - 36 90 230 460
50 - 40 110 260 550
60 - 20 40 90 340
70 - 20 40 90 340
2 80 - 36 90 230 460
100 = 40 110 260 550
140 - 20 40 90 340
200 - 12 22 70 210
£ {21 %5 /Emergency stop torqueT2NOT Nm 1,2 3~200 Z {531 % f H 71 %E /Double rated output torque
HUE i\ B 1% /Rated input speed NN rom 1,2 3~200 4500 4000 3500 3500 3000
& AHAFIE Maximum iutput speed N18 rom 1,2 3~200 10000 8000 6000 6000 4500
#7£% B /Standard backlash P2 arcmin ! 3~20 <26 <16 <16 <16 <16
2 15~200 <28 <18 <18 <18 <18
H# R M /Torsional rigidity Nm/arcmin 1,2 3~200 0.65 1.8 4.7 11 356
A Y12 571 /Allowable radial force Fas N 1.2 3~200 165 240 400 1240 3700
T4 5 J/Allowable axial force Fas N 1,2 3~200 135 220 420 1000 3500
1 f% & /Lifespan hr 1,2 3~200 10000 *
1 3~20 94%
3 [Efficiency %
2 25~200 91%
%5 Weight kg 1 3~20 0.3 0.85 2 6 11
2 25~200 0.4 0.9 2.3 7.5 13
f& F3 3B /Working temperature °C 1,2 3~200 (-10° C +90° C)
S 38 /Lubricating & AR 5B B /Synthetic lubricating grease
i3 % 4% /IP Grade 1,2 3~200 IP54
224 77 1) /Installation direction 1,2 3~200 £ 3 77 [ /in any direction
No b 2000 TR dB(A) 1,2 3~200 <65 <65 <68 <73 <75

98



® i 1E %% 5[5 = /Rotational inertia

1 % fr 5
sportE on R oa AEL WPF042 WPFO060 WPFO080 WPF115 WPF142
3~10 0.03 0.135 0.75 2.5 5.8
1 12,14 0.03 0.09 0.45 13 1.9
AR g om? 20 0.03 0.09 0.39 1.2 2.73
Rotational inertia J1 15 0.015 0.09 0.45 2.4 3.3
2 25~100  0.01 0.035 0.2 1.4 2.3
120~200  0.005 0.035 0.18 13 2.1
Sk ourrum) 2 T A (INPUT)
oot 40.5 "
4 =
3 e
\
i — K I —
. _
T~
]
¢ g| sn%?«ms; sﬂ%ﬁ 52
gl @l [« : E al afttype aitype sz o i
I

%
05
%, 19
& 110

o R~F (B, BELE=3~20)

R~F/Dimension WPF 042 WPF 060 WPF080 WPF115 WPF142
D1 - 70 100 130 185
D2 - 5.5 6.5 8.8 11
D3 - 14 20 25 40
D4 - 50 80 110 130
D5 - 17 25 356 55
D6 - M5 M6 M10 M12
D7 - 80 120 160 230
L1 = 60 90 120 176
L2 - 35 40 55 87
L3 = 3 4
L4 - 1 1
L5 — 25 25 40 65
L6 - 2.5 5 5 5
L7 = 8 10 14 15
L8 - 153.5 204 288 340.5
L9 = 4.8 b 7.5 9.5
L10 - 12 18 23 25
C1 = 70 90 145 200
C2 - M4 M5 M8 M12
(3 = 6-14 14-19 16-24 22-35
C4 - 35 54 81 81
C5 — 50 70 110 114.3
Ccé - 3.5 6 14 19
C7 - 60 80 130 180
C8 - 16 30 45.5 57.5
C9 - 100 137 192 246.5
C10 - 9.5 14.5 27 32

B1h9 = 6 8 12
H1 - 16 22.5 28 43

99



45 (OUTPUT)
mw

7

L2

S (INPUT)

= s
$ &
/ \
+ /|
&\ /é - L]
el 1]
s/ U T s
8% 77;2177 sl
aCs

o R~F (X, HELE i=15~200)
Dimension(double stage,Ratio i=15~200)

R ~F /Dimension
D1
D2
D3
D4
D5
D6
D7
L1
L2
L3
L4
L5
L6
L7
L8
L9
L10
C1
C2
(=3
C4
CB
C6
C7
C8
C9

C10
B1h9
H1

WPF042

WPF 060
70
5.5
14
50
17
M5
80
60
35
3
2
25
2.5
8

172.5
4.8
12
70
M4
6-14
35
50
3.5
60
16
100
9.5
5
16

HEAS 1

Shafttype S 1

WPF 080
100
6.5
20
80
25
M6
120
90
40
3
1
25
4
10

228.5

18
90
M5
14-19
54
70

80
30
137

14.5

22.5

100

[v3 "

HRR S2

Shafttype s2 s

Bh9 L8

H
/q\‘@ ]
1

L0

WPF115
130
8.8
25
110
35
M10
160
120
55

40

14
288
725

23
145

M8

16-24

81
110

14
130

45.5
192
27

28

WPF142

185

11
32
130
40
M12
230
176
87

65

15
388.5
s
25
200
M12
22-35
81
114.3
19
180
57.5
246.5
32
12
43



Series planetary gearbox
RANTTEIREENL

FEATURES
7= an i

TEBRSHHHXA—AXEMRIT,
B REARHH R,
TERXAHRINRIT,
IEhNEEAEAR IR S E MR M S W AR,
AR AR BSNR TS 50E X EIHRC62,
MRS R T B R H M,

W S| BESMNE DR EHENIRTT,
MR SR ENETERRES,

BN S DIAHEERAIAEE TR,
BB AR ENFRER AN ZE

Planetary boom and output shaft are intergrated
structure designed to ensure maximum torsional rigidity.

Planetary wheel with full needle design,increase the contact
area to improve the rigidity and output torque.

The gears are carburized and quenched to the HRC62 with low
carbon steel surface for optimum wear and impact toughness.

Gears refer to foreign imported software-assisted design
to obtain the best tooth shape to reduce noise.

The input terminal is connected to the motor shaft in a double-tight
manner to obtain the maximum clamping force and zero
backlash power transmission.




GENERAL NOTICES

1T 527 Al

- HF, BS. HE

- R LS N R

- IRKkEEAR

- BERTENOVRE R

- ANATROANAER

- DR BB ST EEZRSEMR T

— Type, model and torque

— Ratio or output speed

— Working conditions and connection methods

— Quantity and installed machine name

— Input mode and input speed

— Motor brand model or flange and motor shaft size

102



PLANETARY GEARBOX

ORI BE R R /Performance

spo b on B S8 AEL PLOBO PLO8O PL090 PL120 PL160
3 18 40 50 125 290
4 36 90 110 230 460
5 40 110 125 260 550
1 6 20 40 50 90 340
7 20 40 50 90 340
8 12 22 32 70 210
10 12 22 32 70 210
12 36 90 110 230 460
15 40 110 125 260 550
W ke - 16 36 90 110 230 460
Rated output torqueT 2n 20 40 110 125 260 550
25 40 110 125 260 550
2 28 36 90 110 230 460
30 18 40 50 125 290
35 40 110 125 260 550
40 36 90 110 230 460
50 40 110 125 260 550
60 20 40 50 90 340
70 20 40 50 90 340
80 12 22 32 70 210
100 12 22 32 70 210
% B T35 % FL4Z Motor shaft size mm 1,2 3-100 6-14 14-19 14-19 16-24 19-35
£ A% 1 8 46 Maximum output torque Nm 1,2 3-100 %55 7 % ! 71 4B /Double rated output torque
HUE A\ # %/Rated input speed NN rpm 1,2 3-100 4000 3500 3500 3500 2500
# B# /Backlash arcmin ! 8-10 <10 <10 <10 <10 <10
2 12-100 <12 <12 <12 <12 <12
%R P Torsional rigidity Nm/arcmin 1.2 3-100 1.8 4.7 4.85 1M 55
IR 15 73 /Allowable radial force Fzse N 1,2 3-100 220 400 430 1000 4500
A ¥ HiT J/Allowable axial force Fas N 1,2 3-100 240 420 450 1240 4800
A% Lifespan hr 1,2 3-100 10000
HE [Efficiency % 1 3-10 =96
2 12-100 =93
1 3-10 1.1 23 4.4 6.4 26.5
I Weight kg 2 12-100 1.4 2.9 5 8 29.6
f FASB B /Working temperature C 1,2 3-100 _10°C~80°C
B3 %R /IP Grade 1.2 3-100 IP54
JE 78 /Lubricating & AR 78 5t BE /Synthetic lubricating grease
%% 77 [ /Installation direction 1,2 3-100 1E & 77 [ /in any direction
1R % {EL (1 ~3000rpm, % 151 dB(A) 1,2 3-100 <61 <63 <63 <68 <75

Noise level (n1=3000rpm off load)

103



o R~F (8%, mEuEtt i=3~10)

R~ /Dimension

%D1
% D2
%D3
% D4
Db
D6
D7
L1
XL2
XL3
L4
XLb
L6
L7
L8
*C1
*C2
*C3
*C4
*Ch
*C6
C7
C8
XB1

(8 act
L2
hH =3 B
— L5 16 N
e dli=ate | Do
Sk ! — ‘ ‘
| S % N
© ©
L3 B B
06 2 <
c4 e,
o} L -
2D3gb L7
HERS 1 CEf,
Dimension(single stage,Ratio i=3~10)
PLO60-L1 PLO8O-L1 PLO90-L1 PL120-L1 PL160-L1
52 70 80 100 145
M5 M6 M6 M10 M12
14 20 22 25 40
40 60 68 80 130
17 25 30 35 55
M5 M6 M6 M10 M12
60 80 90 115 162
36 40 46 55 87
3 3 5 4 5
30 36 36 50 80
25 25 32 40 70
2.5 5 2 5 5
12.5 18 18 23 25
70 el 90 145 200
M4 M5 M5 M8 M12
6-14 14-19 14-19 19-24 24-35
315 41 41 60 83
50 70 70 110 114.3
5 6 5 14 10
60 80 80 130 180
118.5 146.5 166 204.5 268.5
5 6 6 8 12
16 225 245 28 43

XH1

104



i LN
(8 act
| L2
‘ 14
r— L5 16
il =)
L3
6 o
&)
1 4
oD3gh L7
HERS 1 cai,

R~ (W3, EEE i=156~100) )

Dimension(double stage,Ratio i=15~100)

R ~F IDimension PLOBO-L2 PLO8O-L2 PL090-L2 PL120-L2 PL160-L2
D1 52 70 80 100 145
%D2 M5 M6 M6 M10 M12
%D3 14 20 22 25 40
%D4 40 60 68 80 130

D5 17 25 30 35 55
D6 M5 M6 M6 M10 M12
D7 60 80 90 115 162
L1 - - - - -
%12 35 40 46 55 87
%03 3 3 5 4 5
L4 30 36 36 50 80
%15 25 25 32 40 70
L6 2.5 5 2 5 5
L7 12.5 18 18 23 25
L8 - - - - -
*C1 70 <) 90 145 200
*C2 M4 M5 M5 M8 M12
*C3 6-14 14-19 14-19 19-24 24-35
*C4 315 41 41 60 83
*Ch 50 70 70 110 114.3
*C6 5 6 5 14 10
c7 60 80 80 130 180
cs 136.2 169.6 190.5 237 313.5
%B1 5 6 6 8 12
%H1 16 22.5 245 28 43

105



Series Planetary Gearbox

AT ERE

FEATURES
o R

TEBRSwHMXB—ARAEWRT, HESKOMERME,
TERRMHRIET, EinEmERMNRSSWR S HEE,
BRAMBENRASHARKEIHRCE2, MRS RN ER T ETE,
s BESNE DR AHBIRIT, MIRERENSEFERES,
NS DA MERERBRBRE AR, DIRREKRHI%

ENFBEHRHIEE
R AREAPERIRIT, él’-’rﬁarﬂﬂﬂiﬁm\ te B SRR E30% ML,

SEFRAER, LECERBASSEMNL,
RPN NS AR, S&ELLRTT, B

REQPUEREE, RRESHREDNT ST
EliREd, NHRSEENZEEER,

Planetary boom and output shaft are intergrated
structure designed to ensure maximum torsional rigidity.

Planetary wheel with full needle design,increase the contact
area to improve the rigidity and output torque.

The gears are carburized and quenched to the HRC62 with low carbon
steel surface for optimum wear and impact toughness.

Gears refer to foreign imported software-assisted design to
obtain the best tooth shape to reduce noise.

The input terminal is connected to the motor shaft in a double-tight manner
to obtain the maximum clamping force and zero backlash power transmission.

Adopt spiral bevel gear design, allow high output torque,
more than 30% higher than straight bevel gear.

High tolerance input speed, more than 8 times
higher than straight bevel gear input.

The meshing tooth imprint of spiral bevel gear has been optimized
by optimum design, and the contact tooth surface load is uniform, and long running life.

Cochlear bevel gears are meshed by optimum motion error analysis and
strict process control to ensure high precision running back clearance.




® RN BE T Bl /Performance

spobE on B ik AR WPLO042 WPLOB0 WPLO8O WPL120 WPL160
3 8 18 40 125 290
4 18 36 20 230 460
5 16 40 110 260 550
6 8 20 40 90 340
: 7 8 20 40 920 340
8 B 36 90 230 460
10 5 40 110 260 550
12 8 20 40 90 340
14 8 20 40 90 340
20 18 12 22 70 210
15 16 40 110 260 550
25 16 40 110 260 550
WER N IE Nm 30 16 18 40 125 290
Rated outputtorque T2x 35 16 40 110 260 550
40 - 36 90 230 460
50 - 40 110 260 550
60 - 20 40 90 340
) 70 = 20 40 90 340
80 - 36 90 230 460
100 = 40 110 260 550
140 - 20 40 90 340
200 - 12 22 70 210
4 {241 45 /Emergency stop torque TanoT Nm 1,2 3~200 Z{EHUE i H J1 58 /Double rated output torque
FUE 5 N\ ¥ % /Rated input speedN1N rpom 1,2 3~200 4500 4000 3500 3500 3000
& KRB HE /Maximum iutput speed N1B8 rprm 1.2 3~200 10000 8000 6000 6000 4500
R /Standard backlashP2 arcmin 1 320 =26 =16 =10 =10 =10
2 15~200 <28 <18 <18 <18 <18
HE NI 14 /Torsional rigidity Nm/arcmin 1.2 3~200 0.65 1.8 4.7 11 35
B2 18 /AIlowable radial force Fas N 1,2 3~200 165 240 400 1240 3700
24 B S1/Allowable axial force Fzas N 1,2 3~200 135 220 420 1000 3500
% & /Lifespan hr 1,2 3~200 10000 *
1 3~20 94%
% [Efficiency %
2 25~200 91%
5 Weight kg 1 3~20 0.3 0.85 2 6 11
2 25~200 0.4 0.9 2.3 7.5 13
{8 F3 32 /Working temperature °C 1,2 3~200 (=10° C +90° C)
JE38 /Lubricating & B 7B g /Synthetic lubricating grease
B33P %4 /IP Grade 1.2 3~200 IP54
%% 77 18 /Installation direction 1,2 3~200 £ & 77 [8 /In any direction
LR {1 (n1=3000, £ L) dB(A) 1,2 3~200 <65 <65 <68 <73 <75

Noise level (n1=3000, off load)

107



GENERAL NOTICES

1T 584D

i, 8BS, #HiE

R B S D e
ITREEEATR

BB RZEOIHE R

AR FRFINN EE

DA MBS EZR DKM

Type, model and torque

Ratio or output speed

Working conditions and connection methods
Quantity and installed machine name

Input mode and input speed

Motor brand model or flange and motor shaft size

108



o JHIERALE 5)R &= /Rotational inertia
s W

Sponi on AL e AR WPLO42  WPL060 WPL0O8O WPL120 WPL160
3~10 0.03 0.135 0.75 2.5 5.8
1 12, 14 0.03 0.09 0.45 1.3 1.9
o 1 cg.om? 20 0.03 0.09 0.39 1.2 2.73
Rotational inertia J1 15 0.015 0.09 0.45 2.4 3.3
2 25~100  0.01 0.035 0.2 1.4 2.3
120~200 0.005 0.035 0.18 1.3 2.1
1L 0P = LL . " \ /m\ R (INPUT)
azl % :
— :l é’ é\ -
...... —~
([ [BLLIel, 8 - o ot
i P ¥ =
Tas % Eh i
o R~F (8%, FEki=3~20)

R ~F /Dimension WPL 042 WPL 060 WPL 080 WPL120 WPL160
D1 - 52 70 100 145
D2 = M5 M6 M10 M12
D3 - 14 20 25 40
D4 - 40 60 80 130
D5 - 17 25 35 55
D6 = M5 M6 M10 M12
D7 - 60 80 15 162
L1 = 60 80 116 142
L2 - 35 40 55 87
L3 - 3 3 4
L4 - 2 1 1
L5 = 25 25 40 65
L6 - 2.5 5 5 5
L7 = 13 21.5 40.5 32.5
L8 - 153.5 204 288 340.5
L9 = 4.8 5 7.5 9.5
L10 - 12 18 23 25
C1 = 70 90 145 200
C2 - M4 M5 M8 M12
C3 - 6-14 14-19 16-24 22-35
c4 - 35 54 81 81
C5 = 50 70 110 114.3
C6 - 3.5 6 14 19
C7 = 60 80 130 180
c8 - 16 30 45.5 57.5
C9 = 100 137 192 246.5
c10 - 9.5 14.5 27 32
B1h9 = 5 6 8 12
H1 - 16 22.5 28 43

109




AR (INPUT)

¥ (UTPUT)
[min]

S ® 8

T~

HERS AR

3 = 1] Shafttype S Shaft type K L5
8 ]
il il il B! B
20| =
o5 % 19

010

|

o R~F (M5, RAIELE i=15~200)

R~} /Dimension WPL 042 WPL060 WPL080 WPL120 WPL160
D1 - 52 70 100 145
D2 = Mb M6 M10 M12
D3 - 14 20 25 40
D4 = 40 60 80 130
D5 - 17 25 356 55
D6 = Mb M6 M10 M12
D7 - 60 80 115 162
L1 = 60 80 115 142
L2 - 35 40 55 87
L3 = 3 3 4 B
L4 - 2 1 1
L5 = 2.5 25 40 65
L6 - 2.5 5 5 5
L7 = 13 21.56 40.5 32.5
L8 - 172.5 228.5 288 388.5
L9 = 4.8 B 7.5 9.5
L10 - 12 18 23 25
C1 = 70 90 145 200
C2 - M4 Mb M8 M12
C3 = 6-14 14-19 16-24 22-35
Ca - 35 54 81 81
Cb = 50 70 110 114.3
ce - 3.5 6 14 19
Cc7 = 60 80 130 180
cs - 16 30 45.5 57.5
C9 = 100 137 192 246.5
C10 - 9.5 14.5 27 32

B1ho = B 6 8 12

H1 - 16 22.56 28 43

110



-~ PFK060
-~ PFK090
- PFK120
-~ PFK160

Series

P F K &SRRz O 1%

The Core Characteristics of PLFK Series Reducer

M RAEEERED, SSBFKE, HEREEER
4, BIREITFR, RE/;

P ZERER, TAMEER, BXERBRENLLS;
B RENREFTE, TJLUBETZ LS IR

=

£ Adopt straight tooth gear transmission, through carburizing
and quenching treatment, tooth profile modification
treatment, ensure smooth operation, low noise.

@ Simple structure, mass production, and fast delivery time
and high cost performance.

B Reducer has a complete range, which can meet the needs
of most reducer in the market.



PFK swRIEsS

Outline dimensional

Series

PFK-060-L1

C8
5 4-955EQS 970
SIS E_Mo T e
Rley 2 s BRI
1 Lo | QLo
© ST o
% 32.5 ? I
3 ' c6
8 C4
BEEBENBAZORY (inABmARY)
Adapter motor input interface size (The left end is the input size)
R Size c1 c2 (oc] ca cs (o] c7 (o]
[147.14 4-M4 8 315 38.1 5.0 60 89
46 4-M4 8 315 30 5.0 60 89
PFK-060-L1
45 4-M3 8 315 30 5.0 60 89
70 4-M4/4-M5 14 315 50 5.0 60 89
PFK-060-L2
C8
5 4-¢5.5EQS ¢70
~ L S—— o7 I~
SEE 2 o
° o (I e
32.5 %
3 c6
8 c4
BEEBENBSAZORY (KinABmARY)
Adapter motor input interface size (The left end is the input size)
R Size c1 c2 (o] ca (o] c6 c7 (o]
[147.14 4-M4 8 315 ®38.1 5.0 60 105
46 4-M4 8 315 30 5.0 60 105
PFK-060-L2
45 4-M3 8 315 30 5.0 60 105
70 4-M4/4-M5 14 315 50 5.0 60 105

112



PFK serRYER
Series Outline dimensional

PFK-060-L3

C8
5 4-¢5.5EQS ¢70
— 1
| o — O -
29,3 2 55
Y NS e R T Do
32.5[ | -
1 I
3 Cé6
8 c4
BEENBAZEORT (KimAmARYT)
Adapter motor input interface size (The left end is the input size)
R Size c1 c2 (oc] c4 c5 c6 c7 cs
047.14 4-M4 8 31.5 ®38.1 5.0 60 121
46 4-M4 8 31.5 30 5.0 60 121
PFK-060-L3
45 4-M3 8 315 30 5.0 60 121
70 4-M4/4-M5 14 31.5 50 5.0 60 121
PFK-090-L1
Cc8
s 4-¢7EQS $100
I — /. — N
/ %
q
o A © ] ®
N~ i 0 —
R Tl I & [ N 1)
RS o j o M 3 )= |
\Jﬁ7- R © _/ ©
\ /Yz(
3 [ ' 6 N d
12 C4 090
42.5

ERBIMAREORY (KinABMARY)
Adapter motor input interface size (The left end is the input size)

R Size
70 4-M4/4-M5 14 4 50 8.0 80 118
PFK-090-L1 [169.6 4-M6 14 42 73 8.0 80 118
®90 4-M5/4-M6 19 42 70 8.0 80 118

113



PF K MERIEZ
Series Outline dimensional

PFK-090-L2
c8
c 4-87EQS 4100
_T:L f__ )g/© AN
5
P~ M— Y O @ ©
P e | Al s (B4R
Qe Si 3 iG] . S ]
ASN P - S O
:If% < © P ©
\ /E/
3 |H : 6 ~— d
12 C4 090
42.5

EEENBSAZORY (inABmARY)
Adapter motor input interface size (The left end is the input size)

R Size c1 c2 c3 ca c5 C6 c7 cs
70 4-M4/4-M5 14 42 50 8.0 80 141.5
PFK-090-L2 [169.6 4-M6 ®14 42 73 8.0 80 141.5
®90 4-M5/4-M6 19 42 70 8.0 80 141.5
PFK-090-L3
C8
5
S I A i 7% = 1) ~ I~
SR Q o
ASY s z‘ % A4 - Ol O
I~ -
)
3 T (€
12 c4

42.5

BEEIMAZORT (K NBARYT)

Adapter motor input interface size (The left end is the input size)

R Size
70 4-M4/4-M5 D14 42 ®50 8.0 90 164.5
PFK-090-L3 169.6 4-M6 14 42 73 8.0 90 164.5
90 4-M5/4-M6 19 42 70 8.0 9 164.5

114



PFK sERIESR
Series  Outline dimensional

PFK-120-L1

c8
6 4-99EQS 9130

/

N

®110h7
®35
#20H7
9120
C5H7

EEENMAZEORY (LinABmARY)
Adapter motor input interface size (The left end is the input size)

R size c1i c2 c3 c4 c5 c6 c7 cs
90 4-M5/4-M6 ®19 47 70 8 % 151
o115 4-M8 ©19/022 60 95 8 130 162

PFK-120-L1
®130 4-M8 ©19/®22 60 95 8 130 162
0145 4-M8 19/P22/P24 60 110 8 180 162

PFK-120-L2

c8

6 4-09EQS 130

;
™~ - _fe
ST Q . ~
0m 4N ! wt T
e R by 1 ]
b 2} 7/ . e i
/—\K I\

N

I
()
o)}

BEENBMAZART (EiRABART)

Adapter motor input interface size (The left end is the input size)

R size c1i (o7} (oc] ca c5 (o] c7 (]
®90 4-M5/4-M6 ®19 47 70 8 20 181
o115 4-M8 ©19/022 60 95 8 130 192

PFK-120-L2
®130 4-M8 ©19/022 60 95 8 130 192
®145 4-M8 ©19/022/024 60 0110 8 180 192

115



PFK sERYES
Series Outline dimensional

PFK-120-L3
C8
6 4-89EQS  $130

I

N~ ,J‘ (f0
il LGN ENG
S S : o
g © :}—‘L(::"_ g
4 | I C6

15 C4

60.5

BEENBAZEORT (RinABMART)

Adapter motor input interface size (The left end is the input size)

R+ size c1i (o7} c3 ca c5 c6 c7 cs
90 4-M5/4-M6 19 47 70 8 El) 211
o115 4-M8 ©19/022 60 95 8 130 222
PFK-120-L3
®130 4-M8 ©19/022 60 95 8 130 222
145 4-M8 ©19/022/d24 60 0110 8 180 222
PFK-160-L1
C8

10 4-¢11EQS 185

(

C3E6
C5H7

$130h7
$55
$35H7

T

5 C6
80
ERBIMAREAORT (KikAMARY)

Adapter motor input interface size (The left end is the input size)
R Size c1 (o7] (oc] c4 c5 (o] c7 cs
130 4-M8 22 62 95 7 142 198
145 4-M8 ©22/024 62 110 7 142 198
165 4-M10 32 62 130 7 142 198
PFK-160-L1 200 4-M12 ®35 86 ?114.3 7 175 222
200 4-M12 35 117 1143 7 175 253
215 4-M12 ©38/d42 86 180 7 190 222

116



PFK smRIER

Series  Outline dimensional
PFK-160-L2
Cc8
c1 €2 10 4-¢11EQS 185
— T
SR 2? 3 o T
™M sy M j Py o e
— © ol o
© = 7
e —1
> 6
18
80
EEENMANZEOR T (iR AmARY)
Adapter motor input interface size (The left end is the input size)
R+ size c1 c2 c3 c4 cs5 c6 c7 cs
®130 4-M8 22 62 95 7 142 236
?145 4-M8 22/024 62 110 7 142 236
?165 4-M10 32 62 130 7 142 236
PFK-160-L2 ®200 4-M12 ®35 86 0114.3 7 175 260
®200 4-M12 ®35 117 01143 7 175 291
215 4-M12 38/D42 86 180 7 190 260
PFK-160-L3
(@]
% 10 4-811EQS 185
z§®< St =\
‘ j/j /% 1052&
/ ® I~ I % o I~ / HH
[ SulT 3 o il
| \ M ey M s M 3 ] '
\ \ ° AN ~ 7
. ® —/
©} | .
b= , c o & )
S 7 =
0c7 \ 18 160
80
ERBEINMARZEORT (Kin/ABmARY)
Adapter motor input interface size (The left end is the input size)
R+ size c1 c2 c3 c4 c5 c6 c7 c8
130 4-M8 22 62 95 7 142 274
?145 4-M8 ©22/024 62 110 7 142 274
?165 4-M10 32 62 130 7 142 274
PFK-160-L3 ®200 4-M12 ®35 86 114.3 7 175 298
200 4-M12 ®35 117 1143 7 175 329
215 4-M12 38/042 86 180 7 190 298

117



-~ PLK060
~ PLK090
.~ PLK120

PLK

Series

P LKZRSEENAZ 45 1%
The Core Characteristics of PLEK Series Reducer

M RAEEERED, SSHEFKGE, HEREEER
461, HBIREITER, RE/;

P EEES, TAMEEST, BXEPRENES;
O FEHIEFS, TJIUBETHH EERSERETN

=

) Adopt straight tooth gear transmission, through carburizing
and quenching treatment, tooth profile modification
treatment, ensure smooth operation, low noise.

@ Simple structure, mass production, and fast delivery time
and high cost performance.

£) Reducer has a complete range, which can meet the needs
of most reducer in the market.

118



PLK swrRIES
Series  Outline dimensional

PLK060-L1

Cc8
5 4-M5X10EQS
52
~ P~ ~
e 2 T
I B s a'y
3
Cé6
325 ca
ERBIMARORY (LinABMARY)
Adapter motor input interface size (The left end is the input size)
RY Size c1 (o7 (o] ca (o] (o] c7 cs
[47.14 4-M4 8 315 ®38.1 5.0 60 89
46 4-M4 8 31.5 30 5.0 60 89
PLKO060-L1
45 4-M3 8 315 30 5.0 60 89
70 4-M4/4-M5 14 31.5 50 5.0 60 89
PLK060-L2
c8
C1 C2 5 4-M5X10EQS
777 A _ 153
an % | B E 2 2%
H 1 ol - o = My LN
\ 1B /] 3] °Ls] oS SRR R
\ @, /| & /Twl e
>3§\ @ 3 I T
~_1 Ccé
0c7 )i 325 ca

ERBIMARORY (KisABMARY)
Adapter motor input interface size (The left end is the input size)

R Size

PLK060-L2

[047.14 4-M4 ®8 31.5 ®38.1 5.0 60 105
®46 4-M4 ®8 BiRS) ®30 5.0 60 105
®45 4-M3 ®8 31.5 ®30 5.0 60 105
®70 4-M4/4-M5 ®14 BiRS) ®50 5.0 60 105

119



PLK smRIER

Series

PLKO060-L3

Outline dimensional

C8
5 4-M5X10EQS
—
] ge— 52
,,,,, r ‘N
GBS 3 CerE L Al
NIBN 2 P . 10 i 9:- ]
& VO /
-2 ¢
***** , = 4
3 ' —
Cé6
325 ca
BEEETBMAZEORT (iR AMART)
Adapter motor input interface size (The left end is the input size)
R Size c1 c2 (o ca c5 c6 c7 (o]
[147.14 4-M4 »8 31.5 ®38.1 5.0 60 121
»46 4-M4 »8 31.5 ®30 5.0 60 121
PLK060-L3
»45 4-M3 »8 315 ®30 5.0 60 121
»70 4-M4/4-M5 »14 31.5 ®50 5.0 60 121
PLK090-L1
Cc8
5 4-M6X12EQS
e
@7
)_ N\ A
I i) ®
o _'E N T 7—»% N ':E
Q| O|N| © ™l s
e YO8 Q' O
° e \tﬁ% < @
\ CRE
3 Cé6
42.5 c4
ERETNBMAZEORY (iR MART)
Adapter motor input interface size (The left end is the input size)
R Size c1 (op) c3 ca c5 (o3 c7 (of:}
70 4-M4/4-M5 14 42 ®50 8.0 80 118
PLK090-L1 [169.6 4-M6 14 42 »73 8.0 80 118
®90 4-M5/4-M6 19 42 70 8.0 80 118

120



PLK smRIER

Outline dimensional

Series

PLKO090-L2

C8
5

~ I \—/y% = o) . ~
254 E s
8 Ole| o T TOY

M a— B \

\
3 C6
42.5 c4

ERBIMAREORY (LisABMARY)
Adapter motor input interface size (The left end is the input size)

4-M6X12EQS

e

N

$70
P

70 4-M4/4-M5 014 42 ®50 8.0 80 141.5
PLK090-L2 [169.6 4-M6 14 42 »73 8.0 80 141.5
®90 4-M5/4-M6 19 42 »70 8.0 80 141.5
PLKO090-L3
Cc8
s 4-M6X12EQS
] 970
g — ¢ K
ol ST % [ '3\:
2553 5 5
SRS \ﬁ% . Qo
)
3 (@)
425 Cc4

ERBETBMAREORY (LinAMARY)
Adapter motor input interface size (The left end is the input size)

R~ Size
70 4-M4/4-M5 14 42 50 8.0 9 164.5
PLK090-L3 [169.6 4-M6 014 42 73 8.0 90 164.5
®90 4-M5/4-M6 19 4 70 8.0 9 164.5

121



PLK swrRIES
Series  Outline dimensional

PLK120-L1
C8
6 4-M10X20EQS
SEASESS
N
100
6‘—
ol T NTE P~ S
N wt T H
5 8 ¢ =1 2 Al o N
s S =0 L/
N
4
60.5
EEBEINBMAZORY (KinABmARY)
Adapter motor input interface size (The left end is the input size)
R Size c1 c2 (o] ca (0] c7 cs
90 4-M5/4-M6 19 47 70 8 ) 151
PLK120-L1 115 4-M8 ©19/22 60 95 8 130 162
130 4-M8 ©19/®22 60 95 8 130 162
145 4-M8 ©19/022/024 60 110 8 180 162
PLK120-L2
C8
6 4-M10X20EQS
STIEALUENS
I N
/ 9100
iy [
_Hfio ring
o| | 1n T e ~ >
S22 3 ! *1 0 ;
S s N e =V e
\
4 C4
60.5
ERBNBAREORY (iRAMmARY)
Adapter motor input interface size (The left end is the input size)
R Size c1i c2 (oc] ca c5 c7 c8
90 4-M5/4-M6 19 47 70 8 20 181
115 4-M8 ©19/22 60 95 8 130 192
PLK120-L2
130 4-M8 ©19/®22 60 95 8 130 192
145 4-M8 ©19/D22/024 60 o110 8 180 192

122



PLK smRIER

Outline dimensional

Series

PLK120-L3

c8

6 4-M10X20EQS

~mTRALOERS

~

$100
- [
_Afi
I E LN T ~
b D e B 3 8 /INV
c6 g
4 c4
60.5
ERBNMARORY (LinABMARY)
Adapter motor input interface size (The left end is the input size)
RY Size c1 (o7] (oc] ca c5 (o] (o7 cs
®90 4-M5/4-M6 19 47 70 8 el 211
115 4-M8 ®19/®22 60 95 8 130 222
PLK120-L3

130 4-M8 ®19/122 60 95 8 130 222
145 4-M8 ©19/022/24 60 110 8 180 222

123



NN NN

PFS060
PFS090
PFS120
PFS160

Series

PF S &5UEENZ 045 1%
The Core Characteristics of PLFS Series Reducer

M RAEEERE, SSBEFKGE, HREEER
4R, BBIRZEITFR, RE/;

D #iEe, TAMEERS, BXEBRENLE;
B EENHEFTS, ALBRETS HERSERE

=

) Adopt straight tooth gear transmission, through carburizing
and quenching treatment, tooth profile modification
treatment, ensure smooth operation, low noise.

@ Simple structure, mass production, and fast delivery time
and high cost performance.

B) Reducer has a complete range, which can meet the needs
of most reducer in the market.

124



PFS samryE=
Series Outline dimensional

4-95.5EQS ¢70

4-¢5.5EQS ¢70

4-955EQS 470

PFS060-L1
126.5
4-M5X10EQS 35 25
— ] 31 21
I B 25 B 15 3
'/' //‘ 4—’: 1'“4> T l‘ T \T ~
L ~ g 2 s~is
\ & Sy N4 s ey DY
\ M5X12 /
~-] | \M3X6
.\.\_- 3 3
8
PFS060-L2
142.5
4-M5X10EQS 35 .
PFS 21
15 3
| H ot~
o ey g N M
O o+ O
ASS \: AN g
\
| M3X6
3
8
PFS060-L3
158.5
4-M5X10EQS 35 25
[ —— 52 31 — 21
_.B_25 ‘ 15 3
N7~ s 5 ~ e
[ H4{— o <r¢ b Slalo
\ SL s =513
\ M5X12 /
~—- || M3X6
~— .- = 3 3
8

125




PFS swrym=

Series Outline dimensional

PFS090-L1
165
4-M6X12EQS 40 30
- 26
35
3_30 20 3
~ ) T P~
e N o |
o N O S @il’\l o
o e N Y e ©
AN h 5% =Y S
M6X12 \M5X10
3 I .3
12
PFS090-L2
188.5
4-M6X12EQS 40 4-¢7EQS
35
30
Q
S
3 [
12
PFS090-L2
2115
4-M6X12EQS 40 4-97EQS
35
B_30
wn < o
N O e
Y cg/ kY
M6X12
= 3 |
12

126




PFS samryE=
Series Outline dimensional

PFS160-L1
318
4-M12FF5R24 87 65 4-¢11EQS 9185
80 - 58 ==t ‘\ \
70 45, 7 /%( ]
o r = / \
QO <l M S AN\
, s RN Y~ Tl
S © ® //
M16X35 /66
5 ] 5 \ )%’
18 7 1160
PFS160-L2
356
4-M125F5524 87 65 4-¢11EQS @185
80 i+ 58 o= — =\
70 45 7 /%( 12\7? g
N~ el
2 ﬁ¢ ol S| //ﬁ \ARI
s ol S D | Z/im |
I e
5 ] 5 — }%’
18 7 M60
PFS160-L3
394
4-M12FF524 87 65 4-011EQS  ©185
80 _ |- 58 —
5 70 45 | 7 1T >
N~
8¢ g EEER N7l
R s b ool Sy \ // ]
wiess i3 = b
= 5 (.2 &
18 1160

127



PFS samryE=
Series Outline dimensional

PFS120-L1
232 4-$9EQS
L-M10X20EQS 55 46 -P9EQS 9130
$100 | ) /
49 [ 40 //é/
- 5_40 305 /J‘
< ! o I T
= PE § 1 = gt‘ﬁ% /’Ilﬁ
‘_' Q7 S a =/
AN
M10X25 |M6X12 /
4 = 4 N 7
15 120
PFS120-L2
262 4-99EQS
L-M10X20EQS 55 46 -P9EQS 9130
. 9100 |
49 [
- 5 40 ‘
< A e | o \
3 S8 5
ASS
M10X25
4 |H 4 N — /
15 (1120
PFS120-L3
232 4-99EQS 9130
i} 55 46 -
L-M10X20EQS $100 B
49 [ | 40
~ 5 40 305
< ! - o T
2 & s S D
pSS
M10x25 [M6x12 /
4 4
15 0120

128



NN NN

PLS060
PLS090
PLS120
PLS160

PLS

Series

PLSRFUREN % O it

The Core Characteristics of PLS Series Reducer

M RAEEERE, SSBFEKIE, KEIEEMER
SRE, BIREITFR, BRE;

B @iEE, TAREES, BREBRENLES;
O FEETS, AUBRHE LEASBRENA

=

D Adopt straight tooth gear transmission, through carburizing
and quenching treatment, tooth profile modification
treatment, ensure smooth operation, low noise.

@ Simple structure, mass production, and fast delivery time
and high cost performance.

B) Reducer has a complete range, which can meet the needs
of most reducer in the market.

129



130

PLS sERYEE
Series Outline dimensional
PLS060-L1
126.5
35
4-M5X10EQS 1 25
21
B 25 153
/' N~ P~ T T ! [» 1B N~
{ |~ o o menny N Wen
3 O | < LS ol O
) SURY -—'¢ 4 s oy
< o s <
M5X12) \
M3X6
3 | 3
PLS060-L2
1425
35
4-M5X10EQS 2 25
21
15 3
/ i e T
| 2 sols
s L =L o1
eSS S
M3X6
PLS060-L3
158.5
35
4-M5X10EQS - 25
T~ 952 21
325 15 3
/ il O ~ ~ | ot~
{ N |~ o On many N Wes
HC H-};s’rg:, 2 S5Ig
Y/ hSS S S RS
_/ // M5x12/
I 5 M3X%6
3

T~

4-M5X10EQS
52

—d

4-M5X10EQS

@52

16
Sl —

\-\_JI__ -

4-M5X10EQS

52

T~

)
L
4
—

~. L.



PLS sERYEE
Series Outline dimensional

PLS090-L1
165
4-M6X12EQS 40 30
26
35
8 30 20 3
N~ T T N~
e LN e o | <
o (9] o ) kOiN o
O s N <Y e, ©
A h S§ =Y P
M6X12 \M5X10
3 3
PLS090-L2
188.5
4-M6X12EQS 40 30
26
35
3. 30 20.3
N~ T T N~
ey n o i
o N O S @i(\l o
O S N hSS - Q| ©O
S h SN =Y S
M6X12 \M5X10
3 3
PLS090-L3
2115
4-M6X12EQS 40 30
35
30
Q
AS3

131

4-M6X12EQS
970
01—
3
T ©
N
N,
@
O O
4-M6X12EQS

® ® ®70

i Q
Ln
N,
@
O C
4-M6X12EQS




PLS sERYEE
Series Outline dimensional
PLS120-L1

232
4-M10X20EQS 55 46
_ 40 |
30 5
o 1
~ <N O
s S8,
{M6X12
4
PLS120-L2
262
4-M10X20EQS 55 46
40
303
O <nnlo
N
3 SHE
\M6X12
4
PLS120-L3
292
4-M10X20EQS 55 46
100 49 40
ol 40 305
o E wnf © ‘ 8 —rnl o
5 8 2 &l - Sk
L7 'Y B — AS) PN
/ M10X25/ \M6X12
4 4

132

4-M10X20EQS
®100

4-M10X20EQS
100

4-M10X20EQS
$100

\

;k
N
A




PLS

Series

IMERIEE

Outline dimensional

PLS160-L1

318
4-M127F%24 87 65 4-M12X24EQS
80 58 — 9145
70 45 7 12
o ~ N~ /'-\ Y
2 f(:3¢ @ g ' /fﬂ @ \\,
s SRS\ W\ /Al
M16X35 —
5 5 —~—
PLS160-L2
356
4-M1275%24 87 65 4-M12X24EQS
gu— ¢145 80 58 gu— ¢145
10 5 70 45 7 12
\ = ~ » ™~ = \
I @&y=)) &4de 3 aas (Bt
\ - o &y T PN L o0l & g ) B
1 s A=
| M16X35) M16X35 1
- - 5 5 | -
PLS160-L3
394
4-M127 K24 87 65 4-M12X24EQS
58
45
o
. O
—
\ ©
5 5

133




NN N N NN

PLX042
PLX142
PLX190
PLX240
PLX285
PLX330

PLX

PLXZRFURGEZ 51

The Core Characteristics of PLX Series Reducer

0 XEBENERED, SSREXGIE, SaihEER M Adopt straight tooth gear transmission, through carburizing
QIR, HfRETFER, BEIN; and quenching treatment, tooth profile modification
@ G, AR, EEHRMMNLS; treatment, ensure smooth operation, low noise.

@ Simple structure, mass production, and fast delivery time
and high cost performance.

O FEYFEFTE, TJLUBET LRSS IR

(=
B Reducer has a complete range, which can meet the needs

of most reducer in the market.

134



R RE SR

Gear box performance information

EB{Y Unit PLX042 PLX142 JIEREE Ratio Stage
8 310 - 3
9 605 1780 4 1
9 420 1345 5
7 270 745 8
680 2035 12
12 680 2035 16
12 680 2035 20
10.5 460 1485 25 2
12 680 2035 32
e EaE N 10.5 460 1485 40
Rated output torque 8 310 840 64
15.5 900 2035 64
15.5 900 2590 80
15.5 900 2590 100
15.5 580 1855 125
15.5 580 2590 160 3
13.5 580 1855 200
15.5 900 2590 256
13.5 580 1855 320
9.5 400 1070 512
HFE(SiH e Emergency stop torque N'm 2{EEREH A 2 times Rated output torque
FREM LR Norminal input speed rmp 3000 2000 1500
BAMNEEE Maximum input speed rmp 6000 3500 2500
B AR[H Maximum radial force N 185 3200 13000
B AHEF Maximum axial force N 150 3000 20000
PR Efficiency % Single [97%] Double [95%]
9% dn Average lifetime h 20000
0.5 17 42 1
E& Weight kg 0.6 23 50 2
0.7 29 58 3
IR R
Gear box performance information
#I5 Model EB{3 Unit PLX042 PLX142 PLX190 IIEREL Ratio Stage
0.022 431 - 3
0.022 5.15 15.6 4 1
0.019 4.93 15.6 5
0.017 4.84 15.6 8
6.31 6.31 12
0.022 5.15 5.15 16
0.019 4.93 4.93 20
0.019 4.93 4.93 25 2
0.017 4.84 4.84 32
HaiRg kgem? 0.016 4.84 4.84 40
Moment of inertia 0.016 4.84 4.84 64
0.019 4.93 4.93 64
0.019 4.93 4.93 80
0.019 4.93 4.93 100
0.029 4.84 4.84 125
0.016 4.84 4.84 160 3
0.016 4.84 4.84 200
0.016 4.84 4.84 256
0.016 4.84 4.84 320
0.016 4.84 4.84 512
12225 Noise dB 60 70 70
jEiE Lubricating S ESHASIEE Synthetic grease lubrication
B3R levels of protection

135




AR RS

Gear box performance information

= Model EA{3 Unit PLX240 PLX285 PLX330 JIEREY Ratio Stage
3200 5800 10190 4
2500 4400 7180 5 1
1360 2595 4080 8
3390 6400 10800 16
3390 6400 10800 20
2650 4710 7550 25 P
3390 6400 10800 32
2650 4710 7550 40
EER N'm 1450 4710 4430 64
Rated output torque 3390 8130 13700 64
4420 8130 13700 80
3420 9130 13700 100
3420 6030 9800 125
4420 8130 13700 160 3
3420 6030 9800 200
4420 6030 9800 256
3420 6030 9800 320
1840 3560 8450 512
ik {=iHH%E Emergency stop torque N'm 2{EEEHHIA%E 2 times Rated output torque
ZRENEEIER Norminal input speed rmp 1000 1000 1000
ERAHINEFER Maximum input speed rmp 1500 1500 1500
&AREF Maximum radial force N 12000 15000 17000
B AGHEF Maximum axial force N 6400 12000 15000
FER Efficiency % Single [97%] Double [95%]
9754 Average lifetime h 20000
71 113 245 1
E= Weight kg 75 136 290 2
92 140 326 3

IR MRS
Gear box performance information

£S5 Model EB{Y Unit PLX240 PLX285 PLX330 JHIERLE Ratio Stage
34.6 34.5 65.4 4
34.6 34.5 65.4 5
34.6 34.5 65.4 8
15.6 38.5 68.5 16
15.6 38.5 68.5 20 1
15.6 38.5 68.5 25
15.6 38.5 68.5 32
15.6 38.5 68.5 40
15.6 38.5 68.5 64
hiB& 15.6 38.5 73.4 64

f/lgxgif inertia kgem’ 15.6 38.5 73.4 80
15.6 38.5 73.4 100
15.6 38.5 73.4 125
15.6 38.5 73.4 160 5
15.6 38.5 73.4 200
15.6 38.5 73.4 256
15.6 38.5 73.4 320
15.6 38.5 73.4 512

I1%E5 Noise dB 70 70 70

38 Lubricating S BiMASIER Synthetic grease lubrication

Br3RE4R levels of protection P65

136



SIMERITEZE

Outline dimensional

C8
26 4-¢35EQS 950
23 — 1L
16 _ || BPeF/—/—— — y :
Mot
AL
B
N I
2 = C6
8.5 Cc4

ERBNMARORY (KinABMARY)
Adapter motor input interface size (The left end is the input size)

R Size C1 Cc2 (o C4 C5 (o} Cc7 c8
®46 4-M4 ®8 26 ®30 6 42 88
PLX-042-L1
®45 4-M3 ®8 26 ®30 6 42 88

c8
26 4-¢35EQS 50
23 — 1L
35 16 = i [ :
VS ,,,L@] ©
L O | T hrd
5| o] S N
NS BN S o
M3X6 / s
24»*«
8.5 C4

ERBIMARORY (KinABMARY)
Adapter motor input interface size (The left end is the input size)

®46 4-M4 ®8 26 ®30 6 42 99.2

PLX-042-L2

®45 4-M3 ®8 26 30 6 42 99.2

137



SMERIEIZE

Outline dimensional

c8
26 4-¢35EQS 50
23
35 16 B
AR
- A
e |4
g © g A ’:::rl ‘ 8 G
M3X6 ﬂéﬁ i
2 Cé
8.5 c4

BEEENBAZORT (EinABART)

Adapter motor input interface size (The left end is the input size)

R Size (o § c2 (o] (o) C5 cé c7 (&}
D46 4-M4 8 26 30 6 42 110.4
PLX-042-L3
®45 4-M3 8 26 30 6 42 110.4

C8
87
80
5 70 1
N~ ™~ Jj‘ir:\j }
— \_
S S e s
Rl w g ™ T~ T ™My N
- & = f lﬁfi\l‘ HOL O
pSS L= |
M16X35/ L]
> 1 6
15 C4
EEBENBMAZORY (KinABmARY)
Adapter motor input interface size (The left end is the input size)
R Size c1 c2 (oc] ca c5 (o] c7 c8
130 4-M8 22 62 95 7 142 275
145 4-M8 ©22/®24 62 110 7 142 275
165 4-M10 32 62 ®130 7 142 275
PLX-142-L1
200 4-M12 35 86 ©114.3 7 175 299
200 4-M12 35 117 ®114.3 7 175 330
215 4-M12 ©38/®42 86 180 7 190 299

138



SIMERIEIZE

Outline dimensional

Cc8
87 4-¢11EQS @165
| /
80 ] ] T N
1 T
s 70| =1 I
r=0 | / A
PSR SEEISH B N \l§
S| Inl © | | uk T ' on
M ey S 4 o oy | Z/N K
S s s} I I | = g/
M16X35/ IL;, N
1
> 1 6 L —=L—
15 C4 142
ERBENBMARORY (KinABMARY)
Adapter motor input interface size (The left end is the input size)
R Size c1 (o7] (oc] ca c5 (o] c7 (]
®130 4-M8 22 62 ®95 7 142 313
145 4-M8 ©22/024 62 110 7 142 313
165 4-M10 32 62 ®130 7 142 313
PLX-142-12
200 4-M12 35 86 ©114.3 7 175 337
200 4-M12 35 117 ©114.3 7 175 368
215 4-M12 ©38/D42 86 ®180 7 190 337
Cs8
87 4-¢11EQ S
] S 165
80 ] T N\
1 T
s 70| 1
~ =~ o] | / \
SIS orrerT | ol \[)
o e, < o | T My LN /<r I 1
g S S— f}wﬁ?xj } -0 \ -// /
L= | ’
M16X35/ IL,,, N ég
1
> 1 6 N —=L—
15 c4 J142
EEBNMARORY (KinABMARY)
Adapter motor input interface size (The left end is the input size)
R size c1 c2 (oc] ca c5 (o] c7 c8
®130 4-M8 22 62 ®95 7 142 351
145 4-M8 ©22/®24 62 ®110 7 142 351
165 4-M10 32 62 130 7 142 351
PLX-142-L3
200 4-M12 35 86 ©114.3 7 175 375
200 4-M12 35 117 ©114.3 7 175 406
215 4-M12 ©38/D42 86 ®180 7 190 375

139



SMERIEIZE

Outline dimensional

c8
Q\L % 105 4-913EQS 9215
VSRS 82 | )_
B . 5 70
-—4-Y 9 0
L ! ] r~ ™~ ¥
! g \ S o = o T
| e !g m ) n
g/ | E e TS
}2{\ \®f M16X35 N
N ./\/ / 20 e C6
mier} 18 C4
ERBENMARZOR T (iR ABMARY)
Adapter motor input interface size (The left end is the input size)
R Size c1 c2 c3 ca (0] (o] c7 (o]
215 4-M12 ©38/042 85 180 7 150 159.5
®200 4-M12 35 115 0©114.3 7 150 159.5
PLX-190-L1
235 4-M12 ©38/®42 120 200 7 150 184.5
200 4-M12 35 85 ®114.3 7 180 184.5
cs
c1 2 105 4-13EQS 215
| 82 B J—
(2 j% 5 70
L~ R is)
kel S o = o
[E\e] 'g n My N
. % ORI @V/ e 61 8y
% ) M16X35/ \—f
—=x 20 . C6
U 14 c4
BEEBEBMANZEORT (KinABARYT)
Adapter motor input interface size (The left end is the input size)
R size c1 (op) c3 (o] c5 (o] c7 (o]
130 4-M8 22 62 95 7 142 351
145 4-M8 ©22/024 62 110 7 142 351
165 4-M10 32 62 130 7 142 351
PLX-190-L2
®200 4-M12 35 86 ©114.3 7 175 375
200 4-M12 35 117 ©114.3 7 175 406
215 4-M12 ©38/®42 86 180 7 190 375

140



IMERITEE

Outline dimensional

c8
105 4-913EQS  ¢215
82 ]
5 70 || —— || M ]
~
S o = ! orT
© DN f = BEIBEI I B RS
s R e ©
M16X35/ Af -
20 || ¢ . C6
18 Cc4
ERETBMAZEORT (i AMART)
Adapter motor input interface size (The left end is the input size)
R Size c1 c2 (oc] ca c5 c6 c7 cs
®130 4-M8 ®22 62 ®95 7 142 351
145 4-M8 ©22/d24 62 110 7 142 351
165 4-M10 ®32 62 130 7 142 351
PLX-190-L3
200 4-M12 »35 86 »114.3 7 175 375
®200 4-M12 35 117 »114.3 7 175 406
215 4-M12 ®38/d42 86 ®180 7 190 375
SMERTEZR
Outline dimensional
Cc8
130 4-p18EQS 6265
110 e /
T /7
5 _|_90 L
'E o r~ Ol N~ ,/ Lﬁ‘ \
N e < ool | J~]]
s | | =
M20X40/ ‘ —
[ s
15 Cé6 =
D2 c4 [1242

EEBEINBMARZORY (KinABmARY)
Adapter motor input interface size (The left end is the input size)

R Size

®200 4-M12 D42 118 ®114.3 15 220 392

PLX-240-L1

®235 4-M12 ®42 118 ®200 15 220 392

141



IMERIEE

Outline dimensional

Cc8
130 4-$18EQS 0265
110 _, T
I | /. AN
5 90 —'7: s
N Jd e 22/ S| IV E AW
=S bt o A +Hi
NI e 9 |
M20X40/ g
| \&
15 c6 —
D2 c4 (1242
BEENBMANZEORT (KimAMmARYT)
Adapter motor input interface size (The left end is the input size)
R+ Size c1i c2 (oc] ca c5 c6 c7 cs
215 4-M12 ®38/042 85 180 7 150 420
200 4-M12 35 115 ®114.3 7 150 450
PLX-240-L2
235 4-M12 ©38/D42 120 200 7 150 455
200 4-M12 ®35 85 ©114.3 7 180 420
Cc8
130 4-p18EQS
110 | py T ./m
5 90 — ]
E ol = Ol I~ ,/ Al \
=l S E HH- <
N e ‘8 o] SV \ / '\l /
M20X40/ — — _/
-6 \’& Q @;&/
15 c4 S ——t—
22 0242

ERBIBAREORY (KinABmARY)
Adapter motor input interface size (The left end is the input size)

PLX-240-L3

®130 4-M8 ®22 62 ®95 7 142 437
®145 4-M8 ®22/024 62 ®110 7 142 437
®165 4-M10 ®32 62 ®130 7 142 437
®200 4-M12 35 86 ®114.3 7 175 461
®200 4-M12 ®35 117 ®114.3 7 175 492

142



IMERITEE

Outline dimensional

8
135 4-918EQS 315
110 [ H M
5 _|_100
= O
e N o~
S o o k—{+ —-- N
SENE o8
M16X35/
20 . c6
25 c4

EREIEMAZEORT (LinAEBART)

Adapter motor input interface size (The left end is the input size)

R size Ci c2 (o] (o) C5 Cé6 (ov4 c8
PLX-285-L1 ®235 4-M12 ®55 115 ®200 7 285 417

c8
135 4-918EQS 9315
2 1t
T 110 _[ H — = /
% 5 100 ] ; H
\ \ N~ } e
N\j S 8 § = T EEE
;o ] Spu
AU o
o | M16x35/ | i
— — 6
mley/
20 c4
25

ERBIMAREORYT (i AMARY)
Adapter motor input interface size (The left end is the input size)

R Size

®200 4-M12 ®42 118 ®114.3 15 220 537.5

PLX-285-L2

®235 4-M12 ®42 118 ®200 15 220 537.5

143



IMERITEE

Outline dimensional

- c8 4-922EQ'S 5370
- —
120 ] N
5 110
r~ I
Er =11l
S %S
M16X35/
25
30

EEENSARZORY (KinABmARY)
Adapter motor input interface size (The left end is the input size)

R Size
200 4-M12 42 118 ©114.3 15 220 609
PLX-330-L2
235 4-M12 42 118 200 15 220 609
c8
4-922EQ S
150 q
120 _( [ ] |
5 110 T
~ M=
g o e
P S NI S=nis/ i e il el e i i A B 5 e
g S f Ine 9
M16X35/ ngse
] C4_
25
30
BEEBEBMANZEORT (KR ABMARY)
Adapter motor input interface size (The left end is the input size)
R Size c1 c2 (oc] ca (0] (o] c7 c8
215 4-M12 ©38/®42 85 180 7 150 637
200 4-M12 35 115 ©114.3 7 150 667
PLX-330-L3
235 4-M12 ©38/®42 120 200 7 150 673
®200 4-M12 35 85 ©114.3 7 180 637

144



IMERITEE

Outline dimensional

C8
135 4-918EQ S ®315
110 — —
5 100 _, ] | }—7
™~ © N 2]
< O
i © S | +H-—-—-+1—-1H-+HE3+H=
S sy 1O
M16X35/ — [\
20 Cc4
29
EEBENSARZORY (inABmARY)
Adapter motor input interface size (The left end is the input size)
R Size c1 c2 (o] ca cs c6 c7 cs
215 4-M12 38/042 85 ®180 7 150 565.5
200 4-M12 35 115 ®114.3 7 150 595.5
PLX-285-L3
235 4-M12 ©38/®42 120 200 7 150 600.5
200 4-M12 35 85 ®114.3 7 180 565.5
c8
150 4-922EQ S
120
5 110
= O
ceg =l | LI e
S % 3 OO
M16X35/
- C6
25
ERBIMAREORY (i ABMARY)
Adapter motor input interface size (The left end is the input size)
R Size c1 (o7] (o] ca c5 c6 c7 cs
PLX-330-L1 265 4-M12 60 145 230 10 150 541

145



IMERITEE

Outline dimensional

C8
10 4-¢11EQS @165
— /
|| / L = \
Q)
G 10
| [
[y I~ ~ {/—fr r= F\’)Tj } ~ ~ /I "J< \
| SS9z S = AW
L o 0 Wn I 1T oy r }cc |
—| Sy ™ S| 1 N ™ /
/ s S FRe \ —
’ /;\é LL,J } / .
L Xl
5 1 ce N =l /
15 Cc4 (1142
80
ERBIMAREORY (KinABmARY)
Adapter motor input interface size (The left end is the input size)
R Size c1 c2 (oc] ca c5 C6 (o7 (o]
130 4-M8 22 62 95 7 142 198
145 4-M8 D22/024 62 110 7 142 198
165 4-M10 32 62 130 7 142 198
PLXK-142-L1
200 4-M12 ®35 86 ®114.3 7 175 222
200 4-M12 ®35 117 ®114.3 7 175 253
215 4-M12 ®38/042 86 180 7 190 222
C8
10
0 |
\ p*Jj;JL/J ! ~
il e T
| T s
, el
L] |
L 6
O e N =t |/
C4 (1142
EERBENMARORY (s ABmARY)
Adapter motor input interface size (The left end is the input size)
R Size c1 (o] (o] c4 c5 c6 c7 (o]
130 4-M8 22 62 95 7 142 236
145 4-M8 ©22/D24 62 110 7 142 236
165 4-M10 32 62 130 7 142 236
PLXK-142-L2
200 4-M12 ®35 86 ©114.3 7 175 260
200 4-M12 35 117 114.3 7 175 291
215 4-M12 ©38/042 86 180 7 190 260

146



SMERIEIZE

Outline dimensional

Cc8
10 4-911EQS 4165
— /
— / T N
1 L0 3
N o~ — o] | ~ | X O\
ST T T © \m \ \
O\l s | | | uhk T 1

o™ N T~-T ™y LA \ }w 1

g J e R v il

AS) — 14 fLQJ } / /

[ N,
2 1 6 L —=L—
15 c4 142
80
EEENBSAZORY (inABmARY)
Adapter motor input interface size (The left end is the input size)
R Size c1 (o7] c3 c4 (o] (o] c7 c8
130 4-M8 22 62 95 7 142 274
145 4-M8 ©22/®24 62 110 7 142 274
165 4-M10 32 62 130 7 142 274
ZPLX-142-13

200 4-M12 35 86 ©114.3 7 175 298
200 4-M12 35 117 ©114.3 7 175 329
215 4-M12 38/042 86 180 7 190 298

147



VRSF RiELL. ES
VRSFREDUCTION RATIO & TYPE NUMBER

M &3 E Sectional Drawing

© 0060 0 060 O

®

(5]

M 56 N\ 351% #93000rpmBd When Input Speed is 3000rpm

@ HitH4h Output shaft

@ ;M Seal for the output shaft

® HH%HRT4HE Bearing for the output shaft
@ 1724 Planetary gear

® BiE= Front cover

® i 4mfEH7R Bearing for the output shaft
@ 3EES Seal for the output shaft

i N4h4M K Bearing for the input shaft

© FBEEIEIES Precision clamping system

@ f535 Rear cover

JEEEYReduction Ratio
ILiATHZRMotor Power(W)

BAZRIRIIER 1 Stage Reduction

FIZIRIE 2 Stage Reduction

wo | s |

1/15 1/20

[ s

[ s | s 1/81

50W

100W

200W

400W

52

— ;

-

750W

78

98 125

98

78
|

98

125

1000W

1500W

2000W

98

—

2500W

3000W
3500W
4000W
4500W

5000W

125

125

1) 2EARIGEIERTEE Notel) Al corresponding to helical gear

I 58 N\ 3533 J92000rpmBY When Input Speed is 2000rpm

JREREEReduction Ratio

BAZRIRIE 1 Stage Reduction

FIRIRIE 2 Stage Reduction

ILiAThZRMotor Power(W)

wm [ wm | m

1/15 1/20

[ s

EECE G

50W

100W

200W

52

|52="

400W

78

:l%ﬂ:,

78
|

98

750W

1000W

1500W

98

—

2000W

2500W

3000W

3500W

125

125

T ) 2R ARHERIERTEE

Note1) All corresponding to helical gear

W <TF3i8383M About Lubricant

XLAT PRI AEH
52: 1/5iFIZ(100W)
78: 1/81iFHIE(50W)

98: 1/3/RZE(1500W), 1/45)512(200W)

1/813Z(100W)

125:1/3)R4EE(3500W),  1/25733(750W)

XTorque is limited to the following types:

52: 1/5 reduction(100W)
78: 1/81 reduction(50W)

98: 1/3 reduction(1500W),1/45 reduction(200W)

1/81 reduction(100W)

125:1/3 reduction(3500W),1/25 reduction(250W)

- 8B iHiBhE =)

« Lubrication: Grease

* Replacement: Not available

148



VRSF RURHE
VRSF GEAR BOX

B E7S. NBMHERIRIEAE Type And Model Number

VRSF A& {RAREEAN
VRSF Reducers Servo Motor

VRSF 20 () (S) - 750 T_1 1

78
“@ 2@ ® @ ® ® @ ®

@ BIENAEES:  vRsF : 52,78,98,125 Gear head frame size: vRsF : 52,78,98,125
@ RENEFTURE vrsF: piimmmmmm Gear head series code: VRSF : Oblique tooth precision
@ JFsELY: VRSF: B%%3,4,5,6,7,8,9,10; 4% 15,20,25,35,45,81 Gear Ratio: VRSF: Single Stage 3,4,5,6,7,8,9,10; Two Stages 15,20,25,35,45,81

4 ¥ Amount of backlash » _, ) _

i e S BE | ARG | FEEEP EIEEEP
mﬂ?"mﬁﬁ%jﬂﬁﬁkﬁﬂﬁﬂﬁﬁgiS%ETJLB"J{E Reducer Type No. Stage Standard Type |Low-blacklash Type|High Precision Type
precision (the load of output shaft is+5% of allowable output torque)

52 VRSF 1 1243arc-min 10%>arc-min 34%3arc-min
2 15%3arc-min 1243arc-min 543-arc-min
I8 VRSF 8§3\arc—mirl 5§j‘arc-mfn 3§j\arc-mfn
2 124>arc-min 84>arc-min 543arc-min
98 VRSF 1 8§;}arc-mii1 5§J\arc-m?n 3§J\arc-m?n
2 1243arc-min 843 arc-min 543-arc-min
125VRSF 1 8§j\arc—mirl 5§j\arc—mfn 3§j\arc—mfn
2 124>arc-min 84>arc-min 543arc-min
® R nput shaft type

SEAER (SR (TIC AR BB REEREI (5 , {B'D"FENER)  S:0verall locking(Omission)(regardless whether the motor with keyway can use it. But D Cut can't use)
SRR (TICDARS G RIBEU(ER , B'D"FEAER)  StLocking with locking ring(regardless whether the motor with keyway can use it. But D Cut can't use)

ST RER X (NI ) S2:Locking with keyway (input shaft with key)
K it K:With keyway
AEEIER RS (B S AN TRER) A:Other type (please contact with us)

©® ERERDIAIIEW) Applicable servo motor power (W)

@ (ARSI RER Manufacturer name of servo motor

® (ARDIARS Model of servo motor

149



VRSF ttgesk (#AEEEI3,000rpmAd)
VRSFPERFORMANCE TABLE (WHEN INPUT SPEED IS 3000RPM)

i itgek
IREEL Y= LEntastic] AERIH BREIRA BIFEE | BYFE HINGRE DAt BHEIR AR
Reduction Model IR HE e i Tafe BRI HE VR
Ratio Outout Standard I Permissibl Permissibl Internal M Ofinertia | Permissible Instantaneous Max.
HES | RHIS | iRkl |SIAT0E| Shaft Speed | Output Torque | max.Output Torque | Radial Load | Axial Load | Of Input Shaftconversion | Output Torque [Permissible Output Torque
Type No.| Model |Reducti Motor 5 7
Ratio (rpm) (N.m) (N.m) (N) (N) (x10* kg.m?) (N.m) (N.m)
52 |VRSF| 3 -50 1000 0.255 0.784 392 196 0.0575 3.43 10.3
52 |VRSF| 3 -100 1000 0.715 2.06 392 196 0.0575 3.43 10.3
52 |VRSF| 3 -200 1000 1.47 4.51 392 196 0.135 3.43 10.3
52 |VRSF 3 -400 1000 3.43 10.3 392 196 0.145 3.43 10.3
78 |VRSF 3 -750 1000 6.37 19.3 784 392 0.913 6.86 20.6
98 |VRSF| 3 -1000 1000 1.55 22.8 882 441 2.43 18.3 54.9
n 98 |VRSF 3 -1500 1000 12.3 371 882 441 2.43 18.3 54.9
98 |VRSF| 3 -2000 1000 17.2 51.5 882 441 2.43 18.3 54.9
125 |VRSF| 3 -2500 1000 19.0 57.2 1370 686 5.55 441 132
125 |VRSF 3 -3000 1000 23.7 7.2 1370 686 5.50 441 132
125 |VRSF| 3 -3500 1000 28.3 85.2 1370 686 5.50 441 132
125 |VRSF| 3 -4000 1000 331 99.0 1370 686 5.78 441 132
125 |VRSF| 3 -4500 1000 31.7 13 1370 686 5.78 441 132
125 |VRSF| 3 -5000 1000 42.9 128 1370 686 5.78 441 132
52 |[VRSF 5 -50 600 0.510 1.47 490 245 0.04 1.57 4.70
52 |VRSF 5 -100 600 1.18 3.72 490 245 0.04 1.57 4.70
52 |[VRSF 5 -200 600 2.65 8.04 490 245 0.118 2.84 8.53
78 |VRSF| 5 -400 600 5.39 16.2 980 490 0.363 6.57 19.7
78 |VRSF| 5 -750 600 10.7 321 980 490 0.713 115 34.3
5 98 |VRSF| 5 -1000 600 13.4 40.5 1080 539 1.85 235 70.6
98 |VRSF 5 -1500 600 215 64.4 1080 539 1.85 23.5 70.6
125 |VRSF| 5 -2000 600 23.8 7.5 1670 833 3.50 56.8 17
125 |VRSF| 5 -2500 600 31.8 95.5 1670 833 3.50 56.8 17
125 |VRSF| 5 -3000 600 39.6 119 1670 833 3.48 56.8 17
125 |VRSF| 5 -3500 600 47.2 141 1670 833 3.48 56.8 17
125 |VRSF| 5 -4000 600 55.3 166 1670 833 3.75 56.8 17
52 |VRSF 9 -50 333 0.921 2.74 588 294 0.035 2.35 7.25
52 |VRSF| 9 -100 333 2.25 6.86 588 294 0.035 2.35 1.25
78 |VRSF 9 -200 333 3.72 1.3 1180 588 0.275 9.70 29.2
78 |VRSF| 9 -400 333 9.51 28.5 1180 588 0.275 9.70 29.2
9 98 |VRSF 9 -750 333 18.2 54.7 1470 735 0.650 18.2 54.7
125 |VRSF| 9 -1000 333 20.0 60.1 1960 980 2.81 73.5 221
125 |VRSF| 9 -1500 333 34.3 103 1960 980 2.81 73.5 221
125 |VRSF 9 -2000 333 48.6 146 1960 980 2.81 73.5 221
125 |VRSF| 9 -2500 333 60.8 182 1960 980 2.81 73.5 221
125 |VRSF| 9 -3000 333 73.0 219 1960 980 2.77 73.5 221

1) MR BRI D RENAYEUE | NEEDIARIRIE SR,

E2) REBMAEE/I5000mm , IEFEIER MEGHEIEZHIE3000rmmEL T,
iE3) BYFEARE B R EREIEE.
E4) SERHEERTEE.

Note4) All values are within the range corresponding to helical gear.

include moment of inertia of the motor.
Note2) The max. input speed is 5000rpm. Usually set to 3000rpm or less.
Note3) The permissble radial load is indicated on the center of the output shaft.

150

Note1) The moment of input shaft conversion is only gained from the reducer, so it does not



VRSF 1§6eF (MAEEIEH3,000rpmAd)
VRS FPERFORMANCE TABLE (WHEN INPUT SPEED IS 3000RPM)

L REXE
IRERLL E = ot EERH BRARA BIFEE | BUFEE SNGHRE BUFEH BHERAS
Reduction Model =52 HE LeTfautiabict i T PIEMRIESIRE YrimEE
Ratio Outout fard I Permissibl| Permissibl Internal Moment Ofinertia | Permissible Instantaneous Max.
HES | ZHIS | iFiEL SIAT0E| Shaft Speed | Output Torque |Max.Output Torque| Radial Load | Axial Load | Of Input Shaftconversion | Output Torque |[Permissible Output Torque
Type No.| Model |Reducti Motor " 73
Ratio (rpm) (N.m) (N.m) (N) (N) (x107 kg.m”) (N.m) (N.m)
52 |VRSF| 15 -50 200 1.67 5.00 784 392 0.035 4.02 12.2
52 |VRSF 15 -100 200 3.72 1.4 784 392 0.035 4.02 12.2
78 |VRSH 15 -200 200 6.27 18.8 1470 735 0.300 16.2 48.6
115 78 |VRSH 15 -400 200 15.8 475 1470 735 0.300 16.2 48.6
98 |VRSH 15 -750 200 30.4 91.2 1760 882 0.700 30.4 91.2
125 |VRSF 15 -1000 200 33.3 100 2350 1180 1.95 91.4 274
125 |VRSF 15 -1500 200 57.2 172 2350 1180 2.80 91.4 274
125 |VRSH 15 -2000 200 81.0 243 2350 1180 2.80 91.4 274
52 |VRSH 20 -50 150 2.21 6.63 804 402 0.034 5.00 15.0
52 |VRSH 20 -100 150 5.00 15.0 804 402 0.034 5.00 15.0
1/20 78 |VRSF 20 -200 150 8.69 26.1 1570 785 0.294 211 63.3
78 |VRSF 20 -400 150 211 63.3 1570 785 0.294 211 63.3
98 |VRSH 20 -750 150 40.6 122 1910 955 0.690 40.6 122
52 |VRSH 25 -50 120 2.74 8.33 882 441 0.0325 4.02 12.2
52 |VRSFH 25 -100 120 6.27 19.0 882 441 0.0325 6.27 19.0
125 78 |VRSF 25 -200 120 1.1 33.3 1670 833 0.288 21.7 64.9
78 |VRSF 25 -400 120 26.4 79.2 1670 833 0.288 26.4 79.2
98 |VRSF 25 -750 120 50.7 152 2060 1030 0.680 50.7 152
125 |VRSH 25 -1000 120 55.7 167 2650 1320 1.880 65.4 196
52 |VRSF 35 -50 85 3.84 11.5 882 441 0.030 3.84 1.5
78 |VRSF 35 -100 85 7.24 21.7 1670 833 0.065 13.9 41.7
1/35 78 |VRSH 35 -200 85 15.5 46.6 1670 833 0.262 15.5 46.6
98 |VRSH 35 -400 85 37.0 m 2060 1030 0.269 37.0 m
125 |VRSH 35 -750 85 71.0 213 3430 1715 0.473 71.0 213
78 |VRSH 45 -50 66 3.86 11.6 1670 833 0.0285 9.50 28.6
78 |VRSF 45 -100 66 9.31 28.0 1670 833 0.0285 9.50 28.6
1/45 98 |VRSFH 45 -200 66 211 63.5 2060 1030 0.0256 28.3 85.2
125 |VRSH 45 -400 66 475 142.5 3520 1760 0.245 57.0 17
125 |VRSH 45 -750 66 91.3 274 3520 1760 1.770 91.3 274
78 |VRSH 81 -50 37 7.02 20.8 1670 833 0.027 9.70 29.2
1/81 98 |VRSH 81 -100 37 14.0 42.0 2060 1030 0.030 17.8 53.5
125 |VRSKH 81 -200 37 36.1 108.3 3530 1765 0.240 43.3 129.9

TN BNGREIREDERETAEE | AREDERME R,

E2) REEINEEER/I5000rmm , IEEBR NEGEEEHIE3000pmLA T,
iE3) B RARA B PR EBAEE.
iT4) 2EAFERIERSEE.

Note4) All values are within the range corresponding to helical gear.

151

include moment of inertia of the motor.
Note2) The max. input speed is 5000rpm. Usually set to 3000rpm or less.
Note3) The permissble radial load is indicated on the center of the output shaft.

Note1) The moment of input shaft conversion is only gained from the reducer, so it does not



VRSF t#8eE (#MAEEEH2,000rpmAT)
VRSF PERFORMANCE TABLE (WHEN INPUT SPEED IS 2000RPM)

B [tfEFE Performance Table

AR, PIREEEY). P2(ERE%EEYNMEREAIMAE The same specification applies to all of standard type, P1(low backlash), and P2(high precision type).

IRIELL EY = i EERH BREIERA BHFER | BiFHE BNGIRE BiFEd BHERAS
Reduction Model 303 H5E Lerfautizbiz) i i BRRIESIRE i pstisvicl
Ratio Outout Standard I Permissibl Permissibl Internal M Ofinertia | Permissible Instantaneous Max.
HEES | K5IES | FIELL | 2IAIHEE| Shaft Speed | Output Torque | Max.Output Torque| Radial Load | Axial Load | Of Input Shaftconversion | Output Torque |Permissible Output Torque
Type No.| Model |[Reduction| Motor 5 5

ot (rpm) (Nm) (Nm) ) ) (x10* kg.m?) (Nm) (Nm)

52 |VRSF| 3 -50 666 0.477 1.43 450 225 0.0575 3.43 10.3

52 |VRSF| 3 -100 666 1.05 3.15 450 225 0.135 3.43 10.3

52 |VRSF 3 -200 666 2.48 7.45 450 225 0.145 3.43 10.3

78 |VRSF| 3 -400 666 5.01 15.0 900 450 0.913 6.86 20.6

98 |VRSF| 3 -750 666 8.73 26.2 1010 505 2.43 18.3 54.9

1/3 98 |VRSF| 3 -1000 666 12.3 371 1010 505 2.43 18.3 54.9

98 |VRSF| 3 -1500 666 18.3 54.9 1010 505 2.43 18.3 54.9

125 |VRSF| 3 -2000 666 23.7 71.2 1570 785 5.50 441 132

125 |VRSF| 3 -2500 666 30.8 92.5 1570 785 5.50 441 132

125 |VRSF| 3 -3000 666 31.7 113 1570 785 5.50 441 132

125 |VRSF| 3 -3500 666 441 132 1570 785 5.78 441 132

52 |[VRSF| 5 -50 400 0.795 2.39 560 280 0.040 1.57 470

52 |VRSF| 5 -100 400 1.57 4,70 560 280 0.118 1.57 470

78 |VRSF| 5 -200 400 3.82 11.5 1120 560 0.363 6.57 19.7

78 |VRSF| 5 -400 400 8.35 25.1 1120 560 0.713 1.5 34.3

1/5 98 |VRSF| 5 -750 400 15.5 46.5 1230 615 1.85 235 70.6

98 |VRSF| 5 -1000 400 215 64.4 1230 615 1.85 235 70.6

125 |VRSF| 5 -1500 400 21.8 83.5 1900 950 3.50 56.8 1M

125 |VRSF| 5 -2000 400 39.6 119 1900 950 3.48 56.8 1M

125 |VRSF| 5 -2500 400 51.4 154 1900 950 3.75 56.8 17

52 |VRSF| 9 -50 222 1.57 4.72 670 335 0.035 2.35 1.25

78 |VRSF| 9 -100 222 2.35 7.04 1340 670 0.275 9.70 29.2

78 |VRSF 9 -200 222 6.64 19.9 1340 670 0.275 9.70 29.2

19 98 |VRSF| 9 -400 222 14.0 41.9 1680 840 0.650 18.2 54.7

125 |VRSF| 9 -750 222 23.6 70.9 2240 1120 2.81 73.5 221

125 |VRSF| 9 -1000 222 34.3 103 2240 1120 2.81 73.5 221

125 |VRSF| 9 -1500 222 53.7 161 2240 1120 2.81 73.5 221

125 |VRSF| 9 -2000 222 73.0 219 2240 1120 2.77 73.5 221

52 |VRSF| 15 -50 133 2.62 7.87 882 441 0.035 4.02 12.2

78 |VRSF| 15 -100 133 3.91 1.7 1670 833 0.300 16.2 48.6

78 |VRSF| 15 -200 133 1.1 33.2 1670 833 0.300 16.2 48.6

1/15 98 |VRSF| 15 -400 133 23.3 69.8 2020 1010 0.700 30.4 91.2

125 |VRSF| 15 -750 133 39.4 118 2650 1320 2.80 91.4 274

125 |VRSF| 15 -1000 133 57.2 172 2650 1320 2.80 91.4 274

125 |VRSF| 15 -1500 133 91.3 274 2650 1320 2.80 91.4 274

52 |VRSF| 20 -50 100 3.50 10.5 910 455 0.034 5.00 15.0

1/20 78 |VRSF| 20 -100 100 5.73 17.2 1790 895 0.294 211 63.3

78 |VRSF| 20 -200 100 14.8 444 1790 895 0.294 211 63.3

98 |VRSF| 20 -400 100 31.0 93.1 2180 1090 0.294 40.6 122

52 |VRSF| 25 -50 80.0 4.37 13.1 882 441 0.0325 6.27 19.0

78 |VRSF| 25 -100 80.0 7.16 21.5 1670 833 0.288 21.7 64.9

1/25 78 |VRSF| 25 -200 80.0 18.5 55.4 1670 833 0.288 21.7 64.9

98 |VRSF| 25 -400 80.0 38.8 116 2060 1030 0.680 50.7 152

125 |VRSF| 25 -750 80.0 65.4 196 2650 1320 1.88 65.4 196

78 |VRSF| 35 -50 57.0 4.43 13.3 1900 950 0.262 15.5 46.6

1/35 78 |VRSF| 35 -100 57.0 12.7 38.1 1900 950 0.262 15.5 46.6

98 |VRSF| 35 -200 57.0 22.0 66.0 2340 1170 0.269 37.0 m

78 |VRSF| 45 -50 44.4 5.80 17.4 1670 833 0.0285 9.50 28.6

1/45 98 |VRSF| 45 -100 44.4 14.0 421 2060 1030 0.0285 28.3 85.2

98 |VRSF| 45 -200 444 28.3 85.2 2060 1030 0.0285 28.3 85.2

1781 78 |VRSF| 81 -50 24.6 9.70 29.2 1670 833 0.0270 9.70 29.2

98 |VRSF| 81 -100 24.6 17.8 53.5 2060 1030 0.0300 17.8 53.5

1) BNHIEERME DR IRIRAEIE | AEEDIRARMEIE,
12) BFERE G HE P ERREE.
i3) 2B ARHARIERTEE.
Note1) The moment of input shaft conversion is only gained from the reducer, so it does not include moment of inertia of the motor.
Note2) The permissble radial load is indicated on the center of the output shaft.
Note3) All values are within the range corresponding to helical gear.

152



VRS FRCHEREN R TR

DIMENSIONAL TABLE FOR ZDR CONCENTRIC SHAFT REDUCER

M NAwESE8 Dimensions
L Outputgith
LR
Q LE 4-LZ3R(depth)X
5 F=ElHl--—t-]- -+ - - -
e O
[
: I
W R~ Dimensional Table
RIS Type £ Total Length L 5% Output Shaft 3% Flange
HEES |RHS| EiELL | DIATHER | A TEBEEAET™ | &I [EBANAEF= | =Z2EBHAEr
Type No.| Model | Reduction Motor Panasonic- | Yaskawa-made |Mitsubishi-made
Ratio made MSMA |  SGMASH HC-KFS lR| S| 0 QM am WxU D |LB|LE|LA|Lz X
SGMSH HC-RFS
52 |VRSF 359 50 99.5
52 |[VRSF|15-20-25-35 50 110
52 |VRSF| 359 100 99.5 32 [ 12 | 20 | 18 |M4(depth)12 | 4x13.5 52 | 50 3 60 | M5 | 12
52 |VRSF| 15-20-25 100 110
52 |VRSH 35 200
52 \VRSF 3 400 1043
78 |VRSF 45-81 50 142
78 |VRSF| 35 100 150
78 |VRSF| 45 100 142
78 VRSF s 200 139.5 50 | 19 | 30 | 26 |Mb5(depth)15| 6x21.5 80 | 70 3 90 | M6 | 20
78 |VRSF|15-20-25-35| 200 150
78 |VRSF]| 59 400 139.5
78 |VRSF| 15-20-25 400 150
78 |VRSF| 35 750 143.5
98 |VRSF 81 100 158
98 \VRSF| 45 200 165
98 |VRSF| 35 400
% |VRSH S 750 158.5 61 | 24 | 40 | 35 |M6(depth)20| 8x27 100 | 90 5 [ 115 | M8 | 20
98 |VRSF| 15-20-25 750 17
98 |VRSF 35 1000
98 [VRSF 35 1500 177
98 [VRSF 3 2000
125 [VRSF 81 200
125 |[VRSF 45 400 210
125 |VRSF 35 750
125 \/RSF| 45 750 235
125 |VRSF 9 1000 215
125 |VRSF 1525 1000 235
125 |VRSF| 9 1500 215
125 [VRSF 1 1500 23 75 | 32 | 55 | 52 |M10(depth)20| 10x35 125|110 | 5 |135|M10| 20
125 VRSF 59 2000 215
125 VRSF 15 2000 235
125 |VRSF| 359 2500 215
125 VRSF 359 3000 215 225
125 |VRSF 3.5 3500 215 225
125 |VRSF 35 4000 225 225
125 \VRSF 3 4500 225
125 VRSH 3 5000 225

E1) EER DA MERICERRT LSMIDIL | EEE. (RAREDALENARE=RIATEEARR)

iE2) BT A S DI IERE T A ER.

E3) 2EPAIRIEEREE.
Note1) Please inquire to us if motor model isn't standard (Matching motor list). (The flange dimension may be different if motor assension is different.)
Note2) Rotation of the output shaft is in the same direction as that of motor input.
Note3) All values are within the range corresponding to helical gear.

153



VEREL I =]

Speed reducer installation guide

£

AR 255

(EEBNMmE, FBE)

LERARIIRIEN 2R TE LR, HEMEOERISHIEIEERS
BURTRENE, FEEENNOERTSHENUIESERITREGAE.

E-

SRR HFRE L AERERR D BIET#

EERYELH .. BN A KRR AR S S E AEE T E,
HENRRIDERNERERIZHIORIEYE, FEHLEACENER,

ag—ak
=z

TERIERETLE=SMUAGRET, BARZSAIRF

ENRENEZIMIT 27 AR, AR\ R EEHE
B 5 TZIF, BMARASBIRF. EErREARRIUENIEE.

LS
GEHFIREN B AR, F5ET

EENYARIEREY SR SEMARRHE—, B-EIMUE=FT,
MRHERA—Y, SSEBMTMEURENERER. S5, ERRE, 8
FRREEEST, BLHMRNsRENE KRR .

BHE
MERT, FESREIRET

FERRN SRR ERERT, BRI SRR TINET 29, EFIRFAN.

LA

REEIRET

AREZHEE, BABESNABMENTIRIZIIEL, EFEER, BiELS
SMEDIBUBERIZIRIRET, REEMERNNREEET.

£ts
BURIBIRIRET, HNM EIREN T

s 60%%! | 85537l | 115531 | 140%5!
SRETHIAS M5 M6 M8 M10
BEHE(Nm) 9.5 16.5 40 80

ENEEIRETERM, RSN, H9%E.

BIN\E
RETZIRE]

T2 TR AR B A RIS R

154




VKt 2 4] AR ik e R A L
V$90 5 S1 F  EHKS

VS50 VS63 VS75 S1: P Szt LA T
VS0 VS110 V8130 S2: -7 Ll PLTIE
V150

5. 7.5, 10, 15, 20,

25, 30, 40, 50. 60, Py %

80. 100

i1l : VS90 -50-S1-F/Jitt iy {2 BCH1304N11A

155



ENIERES AL

Mk L) Lk VS50 VS63 VS75 V590 VS110 VS130 VS150
5 65
7.5 65 135 310 480 610 950 1660
10 65 135 310 480 610 950 1660
%‘W 15 65 135 310 480 610 950 1660
i 20 65 135 310 480 610 950 1660
i 2 65 135 310 480 610 950 1660
th Nm 30 65 135 310 480 610 950 1660
il 40 50 115 280 450 550 880 1420
M 50 50 115 280 450 550 880 1420
Tox 60 50 100 260 420 530 840 1360
80 40 85 220 410 480 750 1250
100 35 65 170 320 410 650 1100
SRR \n 5-100 2 HUE Kt A
HE AN IN rpm 5-100 3000 3000 2500 2500 2000 2000 2000
BRMANHHn1B rpm 5-100 5000 5000 4000 4000 3000 3000 3000
5 <8 <8 <8 <8 <8 <8 <8
7.5 <8 <8 <8 <8 <8 <8 <8
10 <8 <8 <8 <8 <8 <8 <8
15 <8 <8 <8 <8 <8 <8 <8
20 <8 <8 <8 <8 <8 <8 <8
i 25 <10 <10 <10 <10 <10 <10 <10
: arcmin 30 <10 <10 <10 <10 <10 <10 <10
B 40 <10 <10 <10 <10 <10 <10 <10
50 <12 <12 <12 <12 <12 <12 <12
60 <12 <12 <12 <12 <12 <12 <12
80 <15 <15 <15 <15 <15 <15 <15
100 <15 <15 <15 <15 <15 <15 <15
AVFRRIFL N 3-1000 1850 2800 3200 3800 4500 7200 9500
Lidiikas h 3-1000 10000
5 88%
7.5 86% 88% 90% 90% 90% 91% 91%
10 85% 87% 89% 89% 89% 89% 90%
15 80% 83% 87% 87% 86% 87% 88%
20 80% 82% 85% 85% 84% 86% 85%
HANE 14 2 76% 78% 84% 82% 85% 84% 85%
30 % 74% 81% 80% 9% 80% 83%
% 40 69% 71% 7% 76% 7% 7% 7%
50 64% 66% 76% 2% 76% 76% 7%
60 53% 57% 69% 69% 2% 4% 73%
80 53% 56% 63% 63% 69% 67% 0%
100 48% 48% 61% 57% 62% 65% 63%
mlit kg 5-100 4.5 1.2 9.8 14.0 4.0 62.0 95
e dB 5-100 <58 <58 <60 <62 <65 <65 <68
iR T 5-100 +10C~+60C
T (WA320) L 5-100 0. 153 0.3 0.58 1.05 2.85 4.55 6. 85

156




IE S

1500r/min)

(nl

(]
S |00 OO O O O OO OO
K100 O|0 O O O|0O o0 O|0|0
Z(0|ol0 ® Olo OO Olo|o Olo|o ® 0 OO OlO|0o|0o
2l0/0|0 ® OO0 oo O|0|O ® 000 ® O OO0 o|o|olo
Solololo ® Ol0l0 O101O ® 00 e e OO ® 00 OO0 80 OO0
Ke|e 00 |ee 000 @000 @ ®» 000 |melol0O0 e ® e OO |#e0 00
29 @O0 008 8O 0O ®® 00 @ ® 000 @ele OO0 ® 89 OO0 88O 000
K[|e W OO0 e @ O|000| e e 00 ®® 9000 WMM®MO OO0 P99 COOC MO8 OO000
Qe 000N eCO00 e 8O C00 ®OOOOCO MMM O OO0 LI N IReIReIRedE X JX IX 2N JEGIRe;
S| e @000 e e e o000 e e o000 ® 9 e 00088 OO0O0O0C e e @000 e e e e e OO0
_MooOOOOO.OOOOQOOOOOQOQQOOQQOOOOOOOOOOO0000000
Lo | @ 8OO O X X XXX X XXX XX XXX X XK XXX XXX XX XX XX XXX XXX XXX XX
-]
=) == == EEE= FEERRERERE R R R R R R R EERE R R ERERERERISRISRERES
A H R =R =EH AR RS R A EEEEEEEEEEREEEEE SRR EEEEEESE
e e e e E S S e eSS e e e S e e e s e e e e EE e

() o LO < o (e <

Lo Ne) o— (@) — o Lo

(] () (e (e — — —

nEFICE

TGRS, © Fox

N

B AANRTFIRCE, < &

RN
hva
H

i R RVHEAERICE, T H

157



y o ea o

b C37
d Che6

o (1) e WA= =
—\\H = [ e

C o=
— [
‘ |
‘ 1

(6 | |
C4 | |

= D AR A = =
& @)
R . o L1
Bl sk B T] b2
G R aRs
L1 P
b
e | A B E 0 Q N M R v G Bl | Ll a PE

VS50 | 120 | 80 | 70 | 50 | 64 | 84 | 60 | 8.5 | 40 | 8 | 70 | 92 | 45 |M8X10(n=4)

VS63 | 144 | 100 | 80 | 63 | 80 | 102 | 70 | 8.5 | 50 | 103 | 85 | 112 | 45 |M8X14(n=8)

VS75 | 172 | 120 | 95 | 75 | 93 | 119 | 86 | 11 | 60 | 112 | 90 | 120 | 45 |M8X14(n=8)

VS90 | 206 | 140 | 110 | 90 | 102 | 135 | 103 | 13 | 70 | 130 | 100 | 140 | 45 M10X18(n=8)

VS110 | 255 | 170 | 130 | 110 | 125 |167.5/127.5| 14 | 85 | 144 | 115 | 155 | 45 M10X18(n=8)

VS130 | 293 | 200 | 180 | 130 | 140 |187.5/146.5 16 | 100 | 155 | 120 | 170 | 45 M12X21(n=8

VS150 | 340 | 240 | 180 | 150 | 180 | 230 | 170 | 18 | 120 | 185 | 145 | 200 | 45" MI12X21(n=8

we | D H P Tt | b|CT|C2 06 dCI b2 t2 dC566 & C3uT

VS50 [25(24) 85 1100 | 7 |28.3(27.3)| 8 | To| Md 70 | 5/5/5 |14.3/16.3/18.3) 50 [12/14/16

5
VS63 [25(28) 95 |110 | 8 128.3(31.3)| 8 | 95| M6| 8 |90 | 5/5/6 |16.3/18.3/21.8| 70 |14/16/19

VS75 128(35) 115 140 |10 31.3(38.3)| 8 |115| M8 | 10 |115] 6/8/8 |21.8/25.3/27.3] 95 119/22/24

VS90 [35(38)/130 |160 11 38.3(41.3)| 10 [130] M8 | 10 |145| 8/8/8 |25.3/27.3/31.3] 110 |22/24/28

VS110 | 42 |165|200 |14 | 45.3 12 180/ M12| 10 |200|8/8/10 |27.3/31.3/38.3/114. 3124/28/35

VS130 | 45 |915/250 15| 48.8 | 14 |190/M12| 10 |215/8/10/10 31.3/38.3/41.3| 180 28/35/38

V150 | 50 1215250 18| 53.8 14 | 240 M12] 10 |21510/10/12 38.3/41.3/45.3| 180 35/38/42

158




	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18
	页 19
	页 20
	页 21
	页 22
	页 23
	页 24
	页 25
	页 26
	页 27
	页 28
	页 29
	页 30
	页 31
	页 32
	页 33
	页 34
	页 35
	页 36
	页 37
	页 38
	页 39
	页 40
	页 41
	页 42
	页 43
	页 44
	页 45
	页 46
	页 47
	页 48
	页 49
	页 50
	页 51
	页 52
	页 53
	页 54
	页 55
	页 56
	页 57
	页 58
	页 59
	页 60
	页 61
	页 62
	页 63
	页 64
	页 65
	页 66
	页 67
	页 68
	页 69
	页 70
	页 71
	页 72
	页 73
	页 74
	页 75
	页 76
	页 77
	页 78
	页 79
	页 80
	页 81
	页 82
	页 83
	页 84
	页 85
	页 86
	页 87
	页 88
	页 89
	页 90
	页 91
	页 92
	页 93
	页 94
	页 95
	页 96
	页 97
	页 98
	页 99
	页 100
	页 101
	页 102
	页 103
	页 104
	页 105
	页 106
	页 107
	页 108
	页 109
	页 110
	页 111
	页 112
	页 113
	页 114
	页 115
	页 116
	页 117
	页 118
	页 119
	页 120
	页 121
	页 122
	页 123
	页 124
	页 125
	页 126
	页 127
	页 128
	页 129
	页 130
	页 131
	页 132
	页 133
	页 134
	页 135
	页 136
	页 137
	页 138
	页 139
	页 140
	页 141
	页 142
	页 143
	页 144
	页 145
	页 146
	页 147
	页 148
	页 149
	页 150
	页 151
	页 152
	页 153
	页 154
	页 155
	页 156
	页 157
	页 158

